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Q.u)@é
(6 Aada £ g b ) Juad 5l
sl ol
: (set) 4= gana

«(infinite set) Cuw (e 2 «(finite set) Cuws (e
infinite countible set « ( <5 ld ) countible set
uncountible set « ((Cuw (pre e 5 ikl )
: (mapping) &b
«(surjective) —uiSa ) sw ¢ (injective) cusSad)
(bijective) sl
:(algebra) s
« (binary operation) 4kl S <50
« (algebraic structure) (Uwisls) Cub ) s (5 el
(field) 4sls ¢ (ring) «d~ « (group) <S8
. (relation) 4y
« (symmetric) 4kl o_kliis ¢ (reflexive ) 4l ulSadl
«( equivalence relation ) 4kl dales ¢ 4dai) (transitive)
§ bl sl 4da 53 5
1(31 4ada g g ) Juad anga
:(System of linear Equation ) aficw gi¥alaa i o
(inhomogen) swilaie ye 5) s¥alxs (homgen) swilaic (ado
@ shlmd il 4k s 5e o Gaussian Algorithm) 48 b (s £ < da
(43 dada g g ) Juad a0
:(Matrix and Determinant ) <uiliza a9 (s sia
plats Jae (R pha o S 1any (S0 Sie (s s 0 ¢ Gl i ¢ 5 i
¢ 45,k cramer 2 ¢ bl s 4 S0 Jie 3 da giValee e
w52 e (cofactor) s sSe (minor) Lsiw
(75 4ada g g ) Jua aysla
:(Vectorspace) Lad s Sy
¢( subspace) Laé o 8¢ Lad (s )5S
« span ¢« (Linear Combination ) <S5 ha
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« ( Linearly dependent ) «iwl s s
@bl bl ada g3 3 ¢ ( Linearly independent Jaws ba
1(92 4adia £ g ) Juad add
paxy g ool HgiS gliad 3
( basis and dimension of a vectorspace )
¢«( canonical basis ) eacld ulal ¢ Lad (5,585 53 (basis) sacld
¢ (rank) <, oSa e 2 ¢ (subspace) bad o i s (basis) sacld
sl bl ada g je ¢ Ll (5 685 (5 2 (dimension) =
(118 Aada £ 958 ) Juad p
:(sum of subspaces) 4s saxa sbad £ 82
( Dimension Formel for subspaces) slSliad e 58 3 Jge i 2y
¢ (direct sum of subspaces) 4c sas 4aiine JlSLad o B0
(6 bl sl Ada 3 e
(127 4ada g g i) Jad )
:( linear mapping ) (Ui L) S ad
¢« ( Monomorphism ) a@) s 5% ¢ (hnOMoOmMorphism) o) ses
¢ (ismorphism ) a s, 53 ¢ ( epimorphism ) s, se s
( Automorphism ) s )s«535 « ( Endomorphism ) a8 s saul
« kernel Kiuw s oo 5 Image
. ( Dimension Formel for linear mapping) < (a2 J e jd 2y
Lad e 4 (Invariant ) <) s
(154 4ada g g8 ) Juad A
radal ) fiaa 5 Sa i gl s e
(Linear Mapping and Matrix)
45 gaeld ol i1 () jie ada sy e Sipe Jadd
43 (g2ed bl Hla3 (Kiye ol 4da gy je Sy jie
¢ aisaell dline o3l mie i 8 yles) (OE) SKipe (i ada
skew Hermitain matrix « Hermitain matrix ¢« adjiont matrix
idempotent matrix < nilpotent matrix « involutory matrix:
s shlaad ) ada o 3 « permutation matrixc
1(176 4adaa £ g i ) Juald agd
:MJJﬁjm\g‘MMM
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( Eigenvalues and Eigenvectors)
( eigenvectors ) 415,585 4adia
(eigenvalues) 4isiafd aaiis
( eigenspace ) Lad aaiia
(characteristic function ) &l 4aiia
( geometric multiplicity ) @ s duala ounia
( algebraic multiplicity ) < = dwals 5 pal)
¢ 55 sie (diagonal) JisSks « Sy e (orthogonal) JuSsi)
(S (equivalence) Jala ¢ 55 e diagonalizable
i i 50) upper triangular matrix « <2 _ie (similar ) 4lie
(6 szl ol ada g3 ya o S e
1( 199 4adia g g i )Juatd andl
:(euclidean space) Laé uB|
«( scalar product) « = Juals s % ¢ Bilinearform
« normed vector space « norm ¢« (euclidean space ) L sl
« 45,48 ortogonal « ( metric space ) Lad 5558y S sia
«( orthonormalbasis ) s2c8 Jl 535y 5) ¢ 4355S 5 orthonormal
«(vectorproduct ) - duala 5,585 « gram-schmidt process
=l b 5 e chermitian « unitary vector space <semi-bilinear
5 shlad
(214 4abia p g ) Juad pudl sy
fo Jeariiadl g) Ad gl g3 guusn i
(PR e bl a5t 4a 0 4w 59) Quadratic Form
negative definite « positive definite « positive semidefinite
« principal minor <indefinite < negative semidefinite
( e s ) Hessian Matrix « jacobian matrix
((obe) i Lyl ebie) 2 50) JOcal maximum
(i gl 2 se s aal) local minimum
wronskian matrix « Cayley-Hamilton theorem
§ silad sl ada 5 s

1(237 4ada g g i ) Juad puad g
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Juad (5 pal
( (Aa)) S o) (i) usadl | 4s gaa )
( Set, Mapping and Relation )

ol cha g diug ) o blal) aalie 86 ) 5 (0S Jiad 52 4y
A0S T J g paiia 4y (5 S saldil (AR g S
JS 23 1874 4154 4 Georg Cantor 2 ( set ) <uw 1.1 iyl
DR G ey i Jge Y 4 (S
Gladdie (pze 9 dsi 203 ( Objects ) 5 5o gl 2 4o sene 0 52 Set
3 533 il S X 4S Jg0 49 Jhed (s 38488 Dl S sl
60 JAS Jiana A58 g0 (il iy Dladilia (ura g9 (plana
D Js9 Y 4 Cun 5 yise sl 3L 438 Jisp 4l Jiana 0 S

X ={X1,X0, cer e een e }

spalic s Cuwy X3 a2 Objects ... X3, Xy, X 4l
4 cardinality 2sedis palic o X Cuwo g | s0b a9 4 (elements)
S dagbiopm B Ay i (A gbopu [ X A4 pises) G a s
1.2 iy
2 (subset) Cuw e B4 X oo Y 5 Xuoa4S (@)
@A (XE)easdsY
VxeEX =x€EY

sl dis (X Y)Y (proper subset) 4 X Cuw e i
Pl S X4 > s palic SR SY 4 2 bl
JaeY;ag X =

dﬁ“x—,}d‘fmﬁ

X={245),Y={245abj= X cY
SN ITARTIPINEY WU SR 2 D QT RUTNppr i Byl ENpYRUITNg T

‘smss YCX o XCY
X=Y o XSYA{YCX)
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2 9 e Aishy 23 g9 J 99 oW (finite set) < ead (b))

=i 485l (finite set ) < (2< (1831-1916) R . Dedekind
(S

Cuaw 8 pid SXaabiberaepSdiyomedd X Cuug
X2 (Ul s malicd) Cardinality > ¢4 2535« (proper subset)
L (55 (S5l o s

AACX; |Al = |X|
L o2l
v AcX; |A|l < |X|

e g palicn X aaily guio g X = {1, Xy, o, Xy} 4 S (ae pisa
I X| =n &=.62n # 0 sl
Sk a4 (INfinite set) Cums Gara € 3 (5540 Gara (3 Cus 4xs 2
| X[ =
: Jua
N={123,34,..}
N, ={0,1,2,3,34, ..}
Z={...,—3,-2,-1,0,1,2,3,..}
27.={...,—6,—4,-2,0,2,4,6, ...}

@=§ p,q €Z,q * 0}
NCZCQCRCC

DASA | (50 et Jsi Adsh ST 9
(NcZcQcRcC,2ZcZ) A

((IN] =, |Z] = ,|2Z]| = «,|Q| = =, |R| = «,|C|==)

62 (e A s 20 1 JUa
X={x| s 2}
Y={y€eZ|-2<y<2}
X|=1Y|=5 Gm. o) oraic b nn YiiX
XZY 5 Y& X S
wW,: ={wWeZ|-15<sw<16 }

7
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WZ::{wEZ|1SWS16 A (even)ité.aw}
= {2,4,6,8,10,12,14,16)
(W, =8 3 W, STW,; > xS dud
S B s gy
Wy:=fneEN|n<0} Wi={x€eZ|x?=3}
| W3 = [W,| = |Ws| =0
:L_.ﬁjq-.’}::.‘*‘Xl,Xz,...,Xn Lﬁ)—‘%d‘s :1.3“—6:";:‘
:(Union) sl
X,UX,u..uX, ={x|3ie€{123,..,n};x €X;}
: (intersection) pb\&

X nXon..nX,={x|xeX,vie{12..,n}}

s> WinW, =W, SsW,uW, =Ww,; S e E)m 4
52 (5 sboa Lsh il ) 43R jiiad o gy 4isaie A 40 Cun R, 4S8 1Jba
‘;\L.j_Lsddjmuj‘éMJMJ@djﬂjJLHAMJum IR_ j‘

R,={x€R|x >0 }

R_={xeR|x <0 }
(S Jua adali g grady o) Cun galae] Aida 3 ala) (g grad

1l
X={x€Z| (-8<x <8)}
Yi={x €Z| (-8<x<8)}
8eX = 8eXUY
8EX A -8¢Y = -8¢XNY
56X A5SEY = S5eEXNY
: Jlia
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A={ab,cd},B={de,f}, C={ab}
AuB={a,b,c,de,f},AnB ={d}

CcA,AuC={abcdi=A,AnC={ab}=C
A\B={ ac A | a¢B}={ab,c}
A\C={acA| agC}={c,d}, C\A=0
A 4 Cacomplement<icus A\ C 2. 52 CCA 280 A
¢S By A ki B arelative Complement < s A\ B JJ‘%
W;:={xeR|x<0V x>0} o
Wo:={xeR|x<0A x>0}

a3l gadl (V)L asijiadl o sl ks a4l G W,
l L 00 (5 sd SIS 65 (i S

W; =R\ {0} = R*

WAl ha (A )l sdaaiiad o solel Ada g A W,
o4 GBSl A e Ria g 4as (2 AR e 550 SIS 65 (S sS
Wo=0 e JBW,

Sl (elements) alie sigiw Va1 1,1 (uual

(a)
X={x€EZ|(-1<x <6)}

(b)
Y={x€Z|(1<x <7)}

(c)

A-flneZ|0<n<4}
M:=={x€Z|x=n*?—4,neA}
@ s s Y 5l Xadbhail o Shy XNnYs XU Y(d)
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(e)

X={x€Z|(-2<x<2) vV 6<x<10}
P(X) 4 aisin e 3 J8 X e dS (65 Cum (pra o9 X AS 1yl
p(X)={A|ACS X} (.50
spalica sl (59 G ra g X A4S 5000 0 58 42 power set 2 X 2 P(X)
smalie ) Gaza ab P(X) Csa 524 .55 N (2 (elements)
Ip(X)| = 2" i sd 2" (el
Aq={a} 4isim o b arad a4y, g X = {a,b) 4S 1Jba
.2 0 5 Az={a,b}, Ax={b},

P =2°=4 5 P(X)={As, Az, A3, 0}

3 P(X) =p(@) ={0 } “osm s s A T X3S
lp(@)] =1
1 Al
s S [p(X)| S P(X) .¢sX={a,b,c} «(a)
IPX)| s s X2s5X={x€Z [4<x? <16} < (b)
s Sl
Cuw 432 A Cuss A (function or mapping) %o s i1.4 iyl
b EJ‘A:‘QJ:?LS_}\}.%"JE‘SGEA J@Gﬁdﬁbdﬁg\)d}g\doﬁdﬁQB
S esi 4 (Map)uss byl peais a3 2> 693525 B

b S
vaeA,3'beB ; f(a)=b
:L_.;Q_._\Sdaﬂdﬁt__;di‘ﬁgj\
f:A — B
a— f(a)=>b

SAasa fobias (AL nsai) image L mapping 2 f ()
Lyl Range 2 A 2 f(A) 5 54 Codomain 2B, »5 4 Domain
2 (subset) cuw = s Range & .s.pbesi4 image
.2 Codomain
b a5 4 identity function 2 &b aYh
id:B— B
a—id(a) =a

10
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B:={d,e,g,h },A={a,b,c} :Jia

f:A—B
a— f(a)=e
a—fla)=g
b— f(b)=d

L) Ay peaion g AN W AR aa G f i de b
A ppaizd €A
G0 43 sy i iy i sy f 211, 1 Jha

f:Z — N
aw— 2a

a=-1€Z = f(a)=f(-1)= -2 gN 454

ffR—R

r—r
f(2) =vV=Z ER s Jheaasa
LgJQuJJbJ\T:ﬂfJ&_ﬁ:\_)ﬂLSMY\JJS{.A

fiR—C

r—A\r
B:={0,1},A={a,b,c} :Jhs

(a)
fiA—B ,f(a)=0,f(b)=1,f(c)=1
B 4xa 2y (53 s duas o cOdOmain sl range (S JGe 52 4
8

(b)

g:A— B ,9(a)=1,9(b)=1,9(c)=1
range ' B ssbw codomain , A ssbes domain S e a4
@4 g ki {1} el
domain e o )50 5 A4S (52 sl D g ara g ol f adlio 50 1l
Cl58xa fa)= gla)xbeo)d a e A pa (A dpadisn)
22 (Mapping) aliess f: A—> B 1.5

11
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Linear Algebra

f injective: a,b € A , f(a)= f(b) = a =b
(La=bat.gs f(a)= f(b) =55 a,b € A ysaS Jn)
abeA, a #b = f(a)# f(b) HPESRERY
f surjective: V beB,3acA ; f(a)=b
(& f@)=b rus2mmw acA nabod beB s i)
: f injective A fsurjective

f bijective
B=={d,e,g },A={a,b,c} :J&
f:A— B
a— f(a)=e
b— f(b)=e
c—flc)=d
<2 a #b Ssf(a)=f(b) =e 45 .s24 injective »f

MéA a4 ='!Cj:3é*’ ")17}5 geBJé\S\i_ L;Jdkjaﬁ SUI’jeCtive).-.’ f
.65 o &

A xe A f(x)=9
B:={d,e },A={a,b,c} :J&
f:A—B
a— f(a)=d
b— f(b)=d

c— f(c)=e

f(a) = f(b) = d &8s .2 4 injective S s2 surjective s f
a #b S

al oo VS5l yise . Bi={d,e,g,h},A={a,b,c} b
Sa | sssurjective > s Sl f:A > B
ALl sl injective 28 |A| =3<4-= |B|

1.2 Jhs

fiZ—1
a — 2a

12
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ssf(@) = f(b) =345 a,beZ ,x4. sdinjective s f
$xX a=b 5 Ssdal
f(a)= f(b) = 2a=2b = a=b
> oSl A paie g e SO 7 44538 24 surjective s f
L6 (s I diea) el @haif Hhai gy gl
AXeZ ;f(x) =1 =
1.3 J&s
o2 bijective U sx¥a (@)
ffR—R

a— 2a

I 45A, e gurjective ) g2 zals 5 injective

bER w=-€R =f(@)=f(3)=22=b

2343 gsurjective S .02 |njective U sa¥la (b))

f:N—N
n—f(n)=n+1
m,nEN, f(m)=f(n) > m+1=n+1 = m=n = finjective
fm)= 1 > cSwa SSNamae oz o)1 2d0 4 b
@2 4 surjective oy .S
»2 SUrjective 4 sl injective 4 @b Y Jba

f: C—> R
z=a+ib — |z| = VaZ + b?

z1=3+4i ,z,=-3-4i
f(z1) = |z | =V32 + 42 =v25 =5
f(z2) = |2, | = /(=3)2 + (-4)> =V25=5
24 injective oy .2 Zy # Zo Sw
25 f(z) = 0040z € C s 2455 2245 4 Surjective
4 4 injective 4 &l ca¥h Jdy s> Saslee 1.2 Onoa
= slas surjective

fiZ—1
X — x?

13
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A5 B> C 3 fiA-> B gl yiseaS 11,6 Al

(«S i 3) mapping combinationag s/ f 2 gof:A>C
oS 5 b s Jogt oM ayanlisd o oS 5 pges Ojpo 4y 526k p5 4
82S Jy 2 Mappings composition «
95y gof j_‘g\_gbggﬁd&ggdg - Jlia

g Z—R f:N—>Z
b— b% -1 a— a+1

gof@=gla+1)=(a+1)?-1=a*+2a+1-1

= a’+ 2a
Sl gof lns
(a)
g: N>R f:N->N
b — 2vVb a— a+1
(b)
g:-N->Q f:N->N
b +— 2vb a— a+1

ly iV > Z i X oV U e yiseas 1] lad
(a) finjective AN ginjective = gof injective
(b) f surjective A g surjective = gof surjective
(c) gof injective = f injective
(d) gof surjective = g surjective

Moy ssgof(@)=gof(b)-d ab€X e 1gd(a)
$oS as=b > S5

gefla)=gefb)= f(a) = f(b) [injective » g5= ]
=a=b [injective » [ 53]

14
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e el Al sl (b)
VzeZAxe€X;gof(x)=2z

fsurj => VyeY I3xeX;f(x)=y
gsurj = VzeZ AyeY;gly)=z
R ENGEE

<

g(fx)) =g(y) =z = g o f surj

eSO Wl11a(d) s(c) 1.3 o

1.4 Cnoas
.2 - 7 , gl — 7 , WZ — Z
n+— 2n n—3n+5 n+— - 6n

Sl S sl 88 ga¥a(a)
fog, gof,foh ,hof ;goh ,hog

s> surjective sS4 injective suS xigay o8 (b))

U 4 Saa a3 i bijective s fiA — B 1 1.7
D@ sl Jg Y 4 (inverse function)
ffiB-A
b a:= f~1(b)
fla) =b > u2a €A raic aa ai f71 i poaiph € B 2 iny
s> bijective a f71 5 .S
fofl=id:B>B A flof=id:A4-A

»2 Bijective U a1 Jla
ffR—R
x+— 3x+2
ARSIV (f71) gl amsiae ia s

= =feof o) =f(52)=22+2=y

15
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1.5 (s
.o bijective S Jie SHna el fo s Sassi(a)
S Sy pesSae S g3V (b))
ffR— R
X— 2X + 1
Dy
(S s Ay aliab Ja0 gV 4 Cun e (@)
Do S S Qg (e DA g daa B Cun M s
fiM - M injective < f:M — M surjective
D s a4y
3neN A 3 bijective f:M - {1,2,...,n—1 }
= M finete (0
i Cway9media ) countable set (b)
> b8 ey gl asi 4 (Cue 5 edd) countable Set 2 X cus n
U bijective o s s i (subset) Cuw o 8 03 salae) asagl X 2
a4 uncountable L sy4isasmse plionaKilaaS (55035 5a
B
¢ o ((Cu (pme e 5 (iokedi ) infinite countable 2 X Cww o
S5 035> 30 &G bijective s Fie N sale) b of X o 2 da il g2
(62 A g Gpra e 9 Sled 3 Q dlae) BhU ¢l 7 dlae ) AU Jgo 4y JUaa
alse S Jhe ¥ 4 3 uncountable s R Cuw sdlael Aidas Sa
< (infinite countable ) (uee e Hs Gioled a7 (o caris

f:Z —N
2k (k= 10)

k — f(k) =
2(-k) - 1 (k<0)

:f injective
m,n€ Z , f(m) = f(n)
:Lﬁddﬁyﬁjﬂhéﬂytfjda)gﬂ nsmoa2

1. mn=>0 =fm=2m A f(nN)=2n=m=n
16
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= finjective
2. m=>0 A n<0=flm)=2m A f(n)=2(-n)-1

e @l ¢2(-n) -1 5162 2(-N)> 0 oy e i QAliln < 0 o> a8 A
b g8l f(m) =2m = 2(-n) -1 =f(n) S4adi4. &
3. mn<0 = f(m)=2(-m) -1 A f(n)=2(-n) -1
f(m)=2(-m) -1 = f(nN)=2(-n)-1 = m=n
= finjective
(g 2 e A Y a0 360l xe N 2 f surjective
G2 Cida o X ¢ Glla (5 gl
xeven,Xx=>0 = Jke Z:2k=x=k = g
= f(k) = f(g) = 2.§ =x = f surjective

e G g x s ae
x+1

X=2.('k)—1 — k=—TE Z
(k) =f(—=5) =2.(- (-2 -1 =x+1-1=x
= f surjective

G (e e g9 Jipled 3 7 w62 (bijective ) <aiSagl f (S 4sa®i 4
&2 (infinite countable)

b 1A 5 A AU, s Cun e n AAS 11,1 Apd
82 L.;JLZA oy Ja 923 (528

<2 injective s f (i)

w2 surjective s f (i)

w2 bijective s f (iii)

LS o paie ilide N2 SR sl 60 Gime A (o A0 T Qg
e
A= {aliaZI"'Jan}
(if) < (1)

> e 24l L sy asurjective s faS

17
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f not surjective = f(A)#A= Ja€A;a¢ f(A)

S| fA)] =m S saSa3in A e palic 3 f(A) 2

S S5y (Mm<n) m4 objects n s 48 .l s Birichlet »
n [ e grah gsobject o5 A (S SsHemdy (o and
surjective s  ub g (2 3lal um i o lh Sa s34 njective
.53

(i) = (i)

> e Y4l | 54 jnjective » f4S
f not injective = Ja,b € A;a+b A f(a) = f(b)

AL G ol e n-1 ebiel JE Y S f(A) (S Al o
o= b surjective nf 458 ed pa go@da b Se, 5 f(A) # A
.ssinjective f abgn oy

R
Db g S Eraannil ] W B )l A shusimesny (Q)
3| B| = |4]
oo 4 dlied 5S4 Bam o Jld s Gz e 2 4l 1.1 2 (b))
f:N->N
n (3b n «S)
n +— f(n) =
I (én )
ASa a4 injective » f
f(3)—3— =f(6) = fnotinjective

ke N :&2surjective S f
St GaST(K) =K Sy sia.ssidh Ko S il sl
&2 surjective
Cypa iy gD Kooy aS 1Al a0

n: =2k = f(n) = f(2k) = > =k = f surjective

18
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proper subset 4x2 3 A 5l Cow e 2 B s 4S ()
s &L bijective o oY Ssdifism Cosa i .65(A CB )
AL Sl 1o Ly Alae 5 g gl same ;00 R 5 S edn Alae i g gl gl 50
6 5S gual g 12 4 gl g3y
1.4 J&
(a)

f: N, —Z

% (ca> n a5)
X — f(x) =
—(x+1)
2

(G n <)
S G 5h (ah aae Cia O 4dly 4l

: injective s: f

X,y € Ny

D (y=0 A x#0 Jbs (y=0 A x=0 )>lla f(x) =fly) 2
o s 3 jnjective 3. 558 s QA el y ) X G sS4 Bua
Do (08 Hla0 4 adlla (6 )0 gAYl
X,y €N
case 1: f(x)=§,f(y)=§
f(x) =f(y) = g =§ = 2.X=2.y = X=V
—(x+1)

case 2: f(x)= , fly) =$
fx) = fly) = “E2 =20 = 5x-2=-2y-2
= X=y
case 3 : f(x) =§ , fy) =$
fx)=fly) = 2 ==L = 2x=-2y-2 = x+y=1

s dae) aah y}\ X 4532 ¢ gl o8l X+y=1

19
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G4y gy Oa y g Cida X AS A s a8 Ol s sy s b A

f oS @lla g o) s pal 4 S s 0 Sl f(x) = fly) W osa
5 CaiSa)

“Sa 22 surjective s f
(g il ga¥ g0 o)l y € Z 2
case1:y=0
S =y=0 v _(XZH):
= x=0V -(x+1)=0
(x+1)=0 = x=-1¢N,

y=0

f(0)=2=0
case2:y>0
X:=2y € N,

= f(x) =f2y) =2 =y [scia 2yaa ]
case3:y<0
xi=-2y-1€e N = f(x)=f(-2y—1)
=—(—2y—1+1) [éUa-Qy-‘]ﬂ\&i ]

2
2y

2
SNy 4 x ey € 7 23 aesd Juls SS5lla 5 0 0 4
Ny CZ 52t o )2 Ny 5l Z .5 f(X) = Y (o> sl
(52 2> 50 e i 5 gl 9 ) 520 pijective sl .S 3ua
03 caiSailh Exponentialfunction ¥ 12 (b))
exp :R— R,
X +— e
Sk a5 43 (Eulers Number) 2= JLigl s e
e=2.718281828459
sinjective
x,YE R, exp(x) =exp(y)
= e =e' = x=y = expinjective
:surjective
VER, ,xi= In(y) = ex=e0W =y
= exp(x) = ex=y = exp surjective

20
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bijective sl .S 3rapm R CR 5l g2t oy R 5 R,
(52 292 e e i gh g g ) 93
surjective , injective @55 G3Y2 oS (S pslea 1 1.7 (sl
¢ bijective L
(a)
f: R— R
x—x2+1
(b)
f: R—R
x+— 3x—4

oW s (i=1,2,3,...,n) 4; 2 :1.8 @
(s s e 2 Jg9 s3Y 4 direct product of Sets

A XA, X ... XA,
= {(aq,ay,....,ay) | a; €A;,i=12,..,n}
Alopagdag s Saas A=A XAy X Az X ... X A, HseaS
A KGN g EA paic
a=(aq,ayas,..,a,)
n —tupel 52l S disn-tupel € (aq,a,,a;, ..., a,)
1 G sd el e
a = (ay,a,,as,...,a,),b = (by, by, bs,...,b,,) EA
a=b:= a;=b;Vie{l,2,..,n}
> direct product <o s i s A=A, =4, = =4, S
oS IS iy A™ 0 s A
4waia 4o 5.03b a8 & 5340 Cartesian product 2 direct product
o paic N Cuw B agle paic m&L\HAdé\S_LﬁjﬁSodﬁﬂu\ 2L ) 5 ) S
Bl=n s |[Al=m S .sAis
4. G=AxB = .s5B s A>direct product <us G 4S
2 .GIMN el 5 palicy G2 GO pa
|G| = |AxB| = |A|.|B| =m.n

LS Gua a (i=1,2,...,0) A ool sish s il 50 adal ) 4 5
21
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r e
A={123},B={ab,c,d}
G = AxB ={1,2,3} x {a,b,c,d}
= { (1,a),(2,a),(3,a),{1,b),(2,b),(3,b),(1,c),(2,¢),(3,c),(1,d)

,(2,d),(3,d) }
|G| =3.4=12 > c.xS Al
1.5 Jha
R?:=RXR
f: R? > R?
(x1,%5) — (2x1, x3)
f injective:

X = (X3,%2) , ¥ = (Y1,Y2) € R?
X =Y o o b A g f(X) =fly) oS
F(x) =fly) = (2x1, %) =(2y1,Y2)
= 2X1=2y1 A X=Y, = X1=Y1 A X =Y)
= X=Y
= finjective
f surjective:
y=(yLy2) € R?
& f(X) =y o> @530 x=(X,%) € R? s 3l
f(x) = f(x1, x2) = (21, %2 ):=y = (y1,¥2)
= 2X1=Y1 A X =Y, = x1:=% N X2:=Y>
= f(x)=flxi, )= f2,v) = (2.2, y2)= (¥, v2) =y
= f surjective
.2 bijective »f S4aadma
2 bijective s surjective , injective &b sa¥ (S 1 1.6 (usa

(a)
f:RxR — R
(x1, %) — x1 + x;

(b)
22
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f:RxR — R
(X1, %5) = x2 + 2% — 1
PO
: .S 1 (elements) el 5isiw sa¥a(a)
W:=1{(xy)€ ZxZ'(x +y=0)A(-3<x7y<3)}

X:={(x,y) €EZxZ|(x? =y2)A (-3 <x,y <3)}
Y ={(x,y) €EZxZ|(x =0V y=0)A(-3<x,y<3)}
(b)
W:= {(x1, %, %3) € R?| x; = x3}
u=(1,0,1),v=(20,3),w=(0,1,0)
s a Syl Jald (S WagnasSadl WvU 2> 6 S ash
(c)
H:={ (X1,X2,X3,X4) € R* | X14+3Xo+2X4=0 , 2Xy,Xo+X3=0}
u=(1,2,0,2) , v=(38,-1,-5,0) , w=(-1,1,1,-1)
i a Syl Jali (S Haym oS 433 W VU 2> S potas
G o p ‘D" (Binary operation) ada S esn s : 1.9 iyl
Y st Jan Y M £ ¢
O:MxXM-M
(a,b) — a®b
BB CEM nu)nbde )l (a,h) EM XM o2 S
= c=adb
"@ " (Binary operation) 4kl 35S 0530 g (S Jlie oY 4y 1 e
03 (5 ay yati ((Alae) W) 7
. DL xZL — 1
(aab) — a®b = 2a—b

sS et oAl (de) anh) N pds iV a @ 4S8k

@D:NxN — N
(a,b) — a®b = 2a—b

Lﬁ_g b=6_5\a=2 4545\&_@34.3&9\)@}35*53\3
abb=2a-b=2-2-6=-2¢ N
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2" ©" (Binary operation) 4k, 48 o5 05 (S Jhe 2 41 Jla
03 (5 35 iy i (sdlae) g@a) R

O:RxR — R
(ab) — a®b = = (a + b)

SR (el ) 7 pdeeaYa @ 4SS

O Zx7 — 7
(ab) — a®b = > (a + b)

L..SJ b=3j\a=2 48 4SA _bJM&g\JM}SQJJ\J
a®@b=>(@+b) = 2+3)=2 ¢1

Soyu @ Tl S8 el M # P s 1,10 G
4 4xd yise ol .0k s 5 4 (Algebraic structure) <y s sl
(Binary operations) skl )sisSes 0 Al M Cuwsy L sai o (M, @ )
Qip ol (M@ ) 2.0 (M, 0,0 )4 sisee O SO
16 S iyl A eyl ) (35S e 50 a0 4 eal A s b L ((plaial)

(associativity) =3l (i)
a®(bdc) = (adb)bc V a,b,c eM
e 4 (identity) rale Cube 3 oy pald axVae €M » (i)
S
VaeEM ePa=e N aPe=a
$93529a o gpald sxVy hEM no)d a €M a2 (iii)
b@a=e A adb=c¢
X dis aa(inverse) sS4 b
(commutative) b (iv)
Va,b €M a®b = bDa
Gl ol (C,+, VDI (R4, D),(Z ,+, ) I dian
e " " Gl SsS e s (> s ( uLmLz)
=Jla
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G ol pad | aa sk cuw Mi={-1,1}c R (a)
1+1=2¢ M S&, b4 4% Hli Se o)) ((glaialy)

A ol g cpa shicus Mi={-11i-i}cC 2> (b)
F45A

1).(-1)=1€ M, (-1).(1) = -1€ M, (-1).i = -ie M,
-1).()=1€e M,1.1=1e M, 1i=ie M, 1.(-)=-le M,
i=-1€ M,i.(-) = -1.(%) = (-1).(-1) = 1€ M,

(-i).(-i) = 1.(A) =1.(-1) =-1€ M
oJ‘\.’i‘_A:\J,\S 4.&.1\_)4_1; 5 g3 LSJ}Y\J -:dlfu

O:NXN->N
(a,b) — a®b =a’
302=3=9 S.203=2%=8 RUE

(algebraic structures ) sisiu s sl 2 direct product &8
s A e gl gAY e dS a6 Gl sl paa
(A,e), (B,o)
G:=(A,@ )x(B,o)
Lo sadig oy x “agadal ) S0 G aas
X = (X1,X2) , Y= (Y1,y2) € G = (A, )X(B,o)
X*y = (X1® Y1 , Xo0 Y2)
oy o iy et ada) ) 6% 0 50 g2 (saL R g idba
O:RxR — R
(ab) — a®@b = > (a+b)

. (algebraic structures ) 45 a ol (R,0) ) (R,+)
G=(R,+)x(R,0)
x=(2,4),y=(1,6)eG
L sl o gk “agadal ) 80 Gaas

X*xy=(24)(16) =(2+1,406)=(3,5 (4+6)
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= (3a5)

4S (G, ®) (algebraic structure) <y ol 511,11 Gyl

S Lsalbasia (group) S 2 sols el (i) S (i), (i) s

G R iy Saaly s Ss@ram (IV) S Sendvsom
.5 dis (commutative group )

i Cuie a3 A S Gba (R 4),(Q4),(Z+) b

Lg2a Ypesw -a g 0% 8

dpeSan -Z=-a-b 5 e o paie Chie (a2 S e (C4)
.Y z=a+ib

171“)7’@)&";@49‘5%&345}5’)‘)3 L-;?J-'u (R*")' (Q*")
G2 a esSae g = % Bl
g K (Z5,.) Se .S a.i =1 &4

Gl Jeyusigal A Y 3 (R,D ,0) “is ol 511,12 s
1l o5 43 (Ring)

> (commutative group) s 8 b » (R, @) (1)

4 “@" ki (associativity) a3l (2)
(a®b)®Oc = a®(bOC) (Va,b,c €ER)

@5 © ki (distributivity) s (3)
Ya,b,c € R
a®(b®dc) = (a®b)D(a®c)
1A
(b®c)Oa = (hOa)®(cOa)

4 by gl 4 Q" Lk (identity) saie Cuve (ring) SKus g 4S
S i sl a4 (ring with identity) s cuie 3 Koy
Iz €ER; a®Iz =a (Va€eR )

4 Q" i R4S opbasi4a (UNity) als a4 @ Lk paie Cuie
4S i )5 (Commutative) Sy has 45 4 Ly 55 b
a®b=bO@a (Va,b€ R)
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aie by xSy, JAas (R 4,.), (Q+,.), (Z,+,.) b
s 1% % (unity)

s3Y 4S (K,+,.) (commutative Ring ) 4als hass g 11,13 iyl

sabeasa (4ale) Field 2ol oalis

$s3sase  (UNity ) aie sl ()

t= . s (Invertible ) sy oesSeea € K\ {0} » (i)
Va€eK\{0},3b€eK; ab=1I4

S o (fields ) wale (C,4,.) S (R, +,.) , (@) : M
"oa ki e W2 EZ 0 de g Jhe 3 aSS | S Gas aale (Z, +,.)
AL s Saa (S 74 A

gralic s (relation ) 4l yige .2 Cuw A#E @ 114
dsaga, ~" aal o Ain i D oslad e AS, pbhopu ~" 4 A
S a~b s

3V b A # p Cuwugp , ~" (relation) Al o5 11,15 iy
csadbasi 4y (adal ) 4ales)  equivalence relation 2w sl &
a,b,c €A

(i) a~a (reflexive )
(ii) a~b = b~a ( symmetric )
(iii) a~b A b~c = a~c ( transitive )
5 Jhlile 43 symmetric . oSl 45 reflexive (S sUS sia 4
82 s sh iy JWnl 45 transitive
aayl ) Allas oy o2l A # p Cammo sy “=" adail ) &l glse 3 1l
22 (eg-relation)
reflexive: a=a = a~a (Va€eAd)
symmetric:a~b = a=b =b=a
=>b~a (V (a,b) € AxA)
transitive: a~b A b~c @2 a=b Ab=c=a=c
= a~cC vV (a,b),(b,c) € AxA

D Skt Ay adasl ) iy L 7 idGa
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a~b:eac<b ((a,b) € ZxZ)
4SA 03 43 symmetric JS« .e2 transitive s reflexive 4k )5

2<3 =32 ~3
3£2 =>3~+2
.4 ((eg-relation ) ada ) Alalas o g adasl ) (5 5
.02 (‘eg-relation ) ada ) Alabas o g adasl y G2V AL Z 5 11.6 JUa
(a,b) € ZxZ
a~b:o2|a-b ( Grpi 8 2 na—b)

-reflexive
a—a=0 = 2|0 = a~a
: symmetric
(a,b)€ZxZ, a ~b =>2j]a-b = 3Ige z;a-b=2q
=>b-a=2.(q)
=>2b—-a =>b ~a = “" symmetric
: transitive

(a,b),(b,c) €EZxZ ,a ~b AN b~cCc =>2a-b A 2b-c
=> 3dmez ;a—-b=2m AInE z;b—-c=2n
=>b=a-2mA c=b-2n
= Cc=a-2m-2n=a-2(m+n)
=>Cc—a=-2(m+n) >a—-c=2(m+n)=2|a—-cC
= “~" transitive
o2 (‘eg-relation ) adayy Alalas o 5 o> 5 s

G3h i g 53V 4 (relation) 4k~ (el i) 7 rdba
ab,ceZ .

113 n
~

a~b:eoab+#0
a~b=>ab#0= b.a#0 =b~a= "~" symmetric
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a~bAb~c=ab#0 A bc+0
»a+0,b#+0,c+#0
= a.c#0 = a~c="~"transitive
w2 0.0 #0 wWeus 0~0 aS4a53 a4 reflexive S
234 (eg-relation ) asly addasog "~ G
s Al
(relation) ksl ) ¥ ab X 3 w2 gl SU Aigsen 39X (a)
a,b E X .o ssd iyl
a~b:e IS SNMienaemb 2a
22 (eqg-relation ) 4kl ablaasg "~" s S
abayl ) i gaih X g .0 (nbana A g il s X (b))
a,b € X .e2 55 iy (relation)
a~b:e  srdaaemb 2
o3 (eg-relation ) 4, dilas sy "~ a2 s S Qo
nk € N :1.15 i as

nl=1.2.3.....n
n!
kl.(n—k)! Osks=n
() =
0 k>n

adds 4l 5030 o 55 4 binomial coefficient = () s factorial » n!
Gu el iy 23 Jg9 Y 4 (E) L (59 0a s sk sl N sl K4S

@=G=1

5/=1.2.3.45=120
5y 5/ 120 120 _
() = 31(5-3)! 62 12 10

1 Jlia

Kronecker symbol &;; :1.16 iy
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el (g5 (5shae o (iNdEX) LSl f ) 4S5 D pan o8, 5 6y
1 (s i=]a)

iLj
0 (g i# &)
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Juad an 92
Al gialaa Jad o
( System of linear Equation)

A s dnllae S (R) solae) Jhia 4y atin SYAaa (ol 2 i e adls
aisilla sa¥ 053 L 58 (5 R AR 4y o s siValae (had 3 ige (o> S
558 Tk
G da e kan 1t (1)
(6 (San Aglla g1 00 D gea g3 Ay
5 sk ) s Yilas b3 ()
S da 5kl alin g¥ales Jha (D)
55 Jo o s Wikes s (2)
4y gllia R UL Jad alew gi¥alas o (g a0 e i€ Ala je 5 el 4y
Sz Axg )
3x=6 :Jha
X =2 d> a2 gyl s dilas a5l Jgenn s o) Adalaa o g3 alosa o

eRdamar ¥ oS, gl dasnhil a5 Sagleay s sl 2
Lﬁ_ﬁ (_A‘JL&A

3x=6 AN 3x=6 =23x—3x=6—-6=0
=3x—-%)=0=x—-x=0 = x=Xx
b da s b alilaa 13 a0 53
2 Cllee 2Vl oS A gi¥alea el oy 4y 12,1 iy 2l
cabasa( sble S ) Elementary Operation

oy o 3 DA dae 5 g4l Jalxa G5 J g (1)

oy (Mlaa (L bugh o jhia 3 A e o al s g3 e (2)
IS e

A5 gl galaa g3 Jsbadi (3)
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A A s S a4 aia g¥alae el 3 adai) g Budat o gillee  Sleaian

2.1 Jha
x+y=5 —ﬂ
2x —y=1

X+y=25
2x—2x—-2y -y =-10 +1

X+y=5
-3y =-9
—3y=-9 = 3y+9 = y=-=3
xX+5=y = x+3=5 = x=5-3=2
82 (x,y) = (2,3) I shlas a0
(e Jgran 3 JUhe () 00 14d g3l
_Z_J
L83 (55 an oy (alae (pa g by gl (S 5d D a o e -2 3 Alilae (5 gl
(5S4 st Al (5 pal ala
S Usene 50 5 (laa o3 alas 101 2,2 Jlia
X=-y+z=1 1 = X—-y+z=1
X+y—2=0 X=X-Yy+y+z-z=0+1
= 0=1
A s pe gi¥alae (A g s Gl 1 =0 (2 A
A sena 50 5 (Jlae o ab alun 131 2.3 Jla
X—-y+z=1 1. X=y+z=1
X+y—2z=-1 0=0

MJJ‘;&Q)'ABW —1 Jﬂdh&ﬂﬁ@yddﬂ}@dugdq
Ssbua X ASsl suniy (iS5l 4y Alaea (5 pal T 390 AS AN A5 (WY Alalas
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V4 Z b ¥S s Sanaspy e gagsbwe Yyl 4 e pa
oS U9

x=A,y=u=z=1-x+y=1—-1+ u

1y S Aniiiay 035 se o)Wl Z 3 da s lndie Wy A a0

G aela il )y ¥ olas

s ( solution of linear equations ) SLE 4 <uw gigs 30

Do e

SLE(x,y,z) = {(x,y,z)E]R|x=/1,y=y,z=1—/’l+/,t}

={@A,pu1-21+p)}

AR A =0, pu=1 ASJpadia
z=1-A+u=1-0+1=2

s (x,y,2) =(0,1,2) =d=

oS (,y,2) =(1,33) wda . Aol 1 =1, yu= 345y

b a5 4 (parameterize Solution ) d> el )b 2 da Jsa la

SLE(X,y,z) < da 2 s da il ) (lae s 1o 12,1 sl

TR
(a)
x+y+z=3
2x+2y+2z=6
(b)
2X+2y-z2=6
:2.4 Jba

.LSJS\J:\:’:°JJ°°ij.L5_520L5jmjﬂd(3_)§j\62}3'39}3'349}-‘.;‘45
D ds Y 4 dus shlaed g5y 5l X dlae) bhaS ida

X+y=62 1. X+y=62
X—-y=20 <« X+X+Yy—y=62+20
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= 2X=82 = X = 41 ,y=62—41 =21
&J{(XSY) =(41521)} U—UMJAJ}‘L;J 21 }‘41 MJJJ‘;WM 473

ﬂﬁ)mﬁdé_bﬂd&?O @W})md))jj\&}i,‘)v\gd:z_‘ﬁd&
LA aS 6S AL AL B e EaS e s deam e gl slaaas

P S T Fhshaln (5 aS jee sl dodia 505 S8 AR e
(5 ) yee 0 5

A sa i .65 Z me ol y e R e X e oS 1da
) S (528 i 5Yalas
x+y+z=70 JJ -1.
x—2y—z=5 ‘—I
x—y—3z2=0

x+y+z=70
—3y — 2z = —65 —Z;J
—2y —4z=-70

x+y +z=70

—3y — 2z =-65
4y +0=—2.(—65)—70 =130 —70 = 60
yz%z 15

22=-65+3y=-65+45 = z2==" =10
x=70-y-z=70-15-10=45
024K 10 Ll 5l S 15 n | 0845 2 (2 JS sl
SLE(x,y,z) = {(45,15,10)} J~ s¥aas
dgana 3 Al g Al (al 03 AIS 50 4e sana 515 a0 3 gana ) deal 3 104l
02 AllS 5 jac o5y 8 3 (5 S Z_).«:qm\qfc

(> s o5 Y sS plan (Walae b s o> 2y e (08 Jhe S5 4
A L) b ol ds Zos
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Mﬁdd\.&a&;bﬁ j)S‘L’JLEA d\;wwedmu‘fy&wukadwj\
@)&d&»&myeﬁc O ) gua
a;x;+asxs+aszxz+--+apx, =b

R4 . e X1, XD, e, Xy 9 ) Bis ag,aq,dy, ..., Ay, b A
L3S S8 43R Jy g 4l 0 gilla Calide Ay i Alilee

am -5‘ Ls-j‘u_)é"é &_t:\\_)m d}; a1la1la1l"'lan Ls.)%‘\s (a)
o Cosa B2 4 L g Gupd Jha 3 WA s (1<m < n)
D a) G gy aalza
0.X1+0.Xp0+0.X3+ +0.Xp_1+ Q. Xy
+-4+a,.x,=b
Vogpd od Y S Jr b ag 4 free Variable 2 xy, x4, ..., X g
~5 4 Not free Variable > x,,,, X4 1, ooy Xy S 5805 A giad (g LA
L6 &l ) 5as) (60 40 e (550 A sl
EVETDEN G- RS Gh paf Hha U a;,a,aq, ..., Qpn_1 S5 A
_usjjz.sq)mustgyad@
AmXm + Amy1Xme1 -+ apx, = b
s S el g p Al S pusray, # 0S4

! b
Xm +a_(am+1xm+1+..,“+anxn} =a_
m m
1
= X, = o~ (b — Amy1Xmer—-- - — AnXp)

Q.63 X, e Xmt2) Xt 3"3"‘“5 @M‘ . @u Xm ° ‘—““5‘3 s 525‘5 dd:d
S8 G ke VDA G (o Jsee Jsi Ak 5d Y S Js0 s

4Ga Gypa 4.6 b # 0 Sasd Jaqy, .., a, W rads (b)

0x4,0x5, ..., 0.x, =b =0=5b
_Lﬁjud;@dqmw (G4 (San Alla 10 )8a s h = 40 A

S Al a4 g aaa b 5l 6y Aaay, ..., a, A adS(C)
Ao Sl xp, L, x, A il

Jlia

2xy + x5 +4x5 = 16
35



Linear Algebra sl >

YA, =2 #F 0453 S Bra Al (3) 2 oS Aabae ) g4

Xy +%(x5+4x6)=12—6=8

x2=8—%x5—§x6=8—%x5—2x6
o Seas(LUER) xg = 3 Xg =24 0uslyiseasS
LS =6 s A= 4 Sdmadies S X2=8—§ - 2u

X, =8-2-26=8-2-12=—6

P S Y Cuw gislan (ales 45 ) 50

SLE (x5, X5, %) = {(8 —2—2u2, u)}
2.2 (nos
Sy (Jalaa g2y Cu 5 glan

3x1 +2x3 +x5 =4

Sl Xg . Sy x; =240 =6 4S4ara pogde
S axdlae G a asae 4 aluns Ve ad g ) e (sl

-~
a11x1 + alle + a13x1 + -4 alnxn = b]_
a21x1 + azle + a23x1 + .-+ aann = bz

>~ (G)

Am1X1 + QX + ApzXy + o+ AQnXn = by,

A Udsgaan o) oleam dlas iValae a5
2 o) Gelaie 3 i Nolee a5 (0= 1,2,34,...) by =0 4
ouilatia ye axa 4y .pb a4 ( Homogen ) of sea
Ui alaw gYalae hd Gailade 5.2 (INhomogen)
s 4.6 ((0,0,..,0 ) @d>n ) ds Zero-n-tupel
ol gl gena (o (e S ol da a siYalee 3 a Jd Jaly (Sl
sialee (Sladia 30 )l) a2 5i¥alee (Jad 2 J g9 oesae 4y (o5 4SS
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oS ediil 4aax (3) 4 (2),(1) (elementary Operation)
> dS M X, Xy, e, Xy A8 dlis SYalee g

5 Gdal 5y Jal i glalaad

4283 & Gk Gllee Jledie pln SYoe hd g a8 12,1 Al
s sl siblee ladie 5 (0SAa padigisla o Simy L (568 400 Cu siglan
rx (5 slana oy dxa 4l

130hs (alae 553 (AW (i€ alps (Walae a5 4y ige 4S g

Ai1X1 + AppXp + o+ QX = by (a)
Ag1 X1 + QpaXo + o+ A Xy = by (b)
GV b pme e A £ Qe ogaailas (g)24S ; Ggd (1)
(S oY e (C)
Aaj1xg + Aapxy + o+ Aagx, = Ab; (c)

ddlae 2 (d) 2 Shganopm (D)2 Allas(C) 248 1 @l ( 2)
PN EEIETY
Ap1X1 + AQpa Xy + -+ Appx, + A xq + Aaipx,
+ -+ Adagx,
= (g1 + 4a;1)x1 + (agz + Aa)x;
+ -+ (agn + Aa;)x, =b,+1ib; (d)

laa 31 A 0 ) g2 A3 A8 (63 (s sbua by glalas () 5l (b)) 3 e daa
raly el (3) .0 e odle e (g sbua s
ﬁdi)ﬁ‘_g}jdw N o Halea M > ool dan sl (Yol ad o
> oS b S i€ 4l sk (63 4y (S saldiu) 43X (8 4k ) method
L dsenea -1 Ly (oS als (Voo i a8 S Jene gl
4.(:3_(;_&LJJSJJA.A\J\djgdmgdoq&\gﬂﬁméu&q_éﬁs‘;g
‘Sl IS ( row-echelon) o 4n) ok uY st (Yol
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Linear Algebra

Ciry Xr, T Cip 41X 41 T 0"+ C1nXp =d; O
Cor, Xy, T+ + ConXp =d,
(S)
+Chr Xr, T CpnXn = dy p
0= dg41
0=d, D

1<ns<n<---<nrmp<n
=0 @&J&ﬁ&}wéﬁwgﬁ)}ﬁ

g1 = dgypy = =dp =
&b

: 2.7 Jhia

x1 + x2 + X3 ==
2x1 + 4xy, + 3x3 =
3x1 - x2 + 4‘X3 ==

X1+ x2 +x3=2
2x2+X3 =_5 2
—4x;, +x3=1 <—

x1 + xz + X3 - 2
2xy +x3 =5
3x3 = _9
Sl (24 e sValae 0 a5l Y S 550 Gubai y siblee ledie o
PSS de eV 4 Xy, xp, x5 oSy

3X3=_9 :x3=_3
5—x,=-543=-2=x,=—1

2x,
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ol o

x1=2—x2—X3=2+1+3=6

SLE(X,y,z) = {(6,-1,-3)} i8S 4aniiia
D e Walee g2V yise 12,8 JUa
Xo+ X3— x4+ x5=0 1. 2.| -1.
—2Xx1+ X9 —2x3— X4+ 2x5=—1 «—
4x, — 2%+ X3— X4— X5 =2

2x1 -

2X1 — Xp— X3—2X4+ XxXs=a

2X] — Xy — X3 — X4+ Xg

=0
—X3 — 2%, + 3x5=-1 -1 -2.
—X3+ x4 —3X5=2 <
_2x3 — X4 =a —

2X1 — Xy +X3— X4+ x5=0
—X3 — 2X4 + 3x5 = —1
3x4 —6x5 =3 - 1.

3X4_— 6x5=a+2 D

2X1 — Xy + X3 — x4+ x5 =0

—X3 — 2X4 + 3x5 = —1

3x4 —6x5 =3

0=a-—1
Sy a#EloomaSslada Jba i 5,
(S) 2 ) Lo L0 =04 gl D Hpa s =148
d;;g&&«go)l;d}!;\qﬁadaa _Lﬁ)sd;g_;qmuwgsuﬁmm
LA e
SIS0 Gl g 4 (5 Wb (5 A Al g 093 Adalaa Ay (2 4SS A
Xe = A
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3x, =3+6x;=3+61=> x,=1+21
X3 =1—2x4+3x5=1—-2(1+4+21)+ 31
=1—-2—-4A+31=-1-41
xp L) g ookl Jn0 A G 35 X3, Xy, X S Al sl 4y (2 4GA
5505 gy 4
X, = 2
21 =Xy — X3+ x4 —xg =2u—(-1-A)+1+21-1
=2u+2+ 22
= Xi=pu+1+41
G K suY Cuw gigda 3 Saadiag
SLE (x1,%5,%3,%4,%5) ={(u+1+21,2u,—1 =21, 1+ 24,1)}
ou (Q) e SYalae b3 ((Gaussian Algorithm) 2.2 dxb
Ce slas d sl IS4 (8) 2 siblee Sledia s
200l 2 pls (2 sl g e (S (G) 4 ay; v U5 4S e
Uiv gl a5 4y g Aiba @ i ads (o e (S ORI alls
Gledis gy e B s ((gohasiarn) (o)
Jaxd s sE Y S 2 a’y, #F 0SSR aly, R alry
F90S Gudad Jg9 Y 4y Ak alian SV (G) 2 Glikee Sledia

12 !
i ! [ N —a 2,r1 -a m,rq
Aary Xy + @apyeaXryen £ oot @ypXn =05y 722 o)L
1 1
[ ! [ N
a2, Xry ta 2,11 +1%7r; +1 Tt aignXy = b,

d

[ [ [ N
a muryXry ta mry+1%r +1 Tt A Xy = b’y <

—_

I I} I N
aq1rXr +a 1,71 +1%r; +1 +--t+a 1,n¥Xn = b 1
r 14 — 14

A or+1Xr+1 T H A Xy = b",

— (W)

144 124 — 144
a m,r1+1xr1+1 +--ta mnXn = b m
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ol s

C S AW X, X, X S e s MET 4 e S
Gaad 434S 5 € Gala S (Yalee (W) Ly 48k (pe a0 Y S )
st S (S) 3 s ¥ lee (G) 2 o,AYL o8 S5 4al) s

0+2x2+3x3=13
x1+3xZ_ZX3=1
2x1_ x2+ X3=3

_aIZ,Tl -2
X, +3x,— 2x3=1 =

!/
a 1,71 1

le_ x2+ x3:3 <
2x, + 3x3 =13

x1+3x2—ZX3=1
0—7x,+5x;=1 27
2x2+3X3=13

x1+3xZ_ZX3=1

0—7x,+5x;=1
040+, =2
7 7

1 2.9 s

= 31x; =93 = x; =3

_7x2=1_5x3=1_5.3= _14‘ :>x2=2

x1=1—3x2+2x3=1—6+6=1

= SLE(xq,x5,%x3) ={(1,2,3)}

J\m\q_oq‘dlSQS mwﬁdaﬁj\dwsm\d:2_3o§ﬂ
e S g daal 2 Ra o3 YA B 43X jee 24 S0 Ae sena e 33 s0na
d}\dﬁﬁ_}.«cbﬁﬁd_adoﬁg 4;&)41::‘9“:4\525«:)“)«:

S s (Walee g2Y a1 Gl

le+x2_X3=1
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xl_x2+X3 :2
3x1+2x2—x3 =10

42
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Juad oy 0
Gilia yi gl (S e
(Matrix and Determinant )

D atd oSl 4 Al g2 s ) (Field) 4sluos i 1 3.1 iyl
F1{1,23,...,m}x{123,..,n} > K

(L)) — aj

S350 SK4 (D)) = aij 2 s e (i,j) o2

oS3l (A 5in) w3 sl (row index) oSl (k)

oS ie 3 (Lpeal )il aBaf o, s asi 4 (column index)

3 2 (elements) salic L fle 2 a;; o) sopdhpsi 4y (Matrix)

K =R i . dlexinl dals galac) 2ds o4l pige .63 MLN @b (e

1S Jas Jd Y 4 8 e
a11 ces aln
()= ¢+ ™~
aml cee amn

dsa o dael Ads (1i=1,2,3,...,m A j=1,2,3,...,n) a; «b
cgarbasi A S e (Gt ) T N ) (Gobe) SAm o oS
s M(mxn , R) 42428 i

sl oy (COIUMNS) 5iis ) (FOWS) sSal 3 a8 e s (5 paa 4S
dluyises) 08 s (square matrix) oSasie o2 e 45 (s s
SAM(n,R) v M(mxn,R)

.65 A,B € M(mxn,R) 4S : 3.2 iy

i1t QAip by; -+ by
A= ¢~ , B=( ¢ =~
dm1  ° 3Amn bm1 bmn

03 Jg9 i 4 de saae sSo e B 1AL (a)
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a;; +byy 0 ag, + by,
A+ B = : :

dm1 + bml *** dmn + bmn
s paide 4y
(aij) + (bij) = v(ay; + b))
iJse 4 Jen

1= a2 =G 4o

s> A, B€EM(2x3,R) > @S dd
avs=(* 3 B (3 H_ (O 6 3

1 4 2 2 4 6 3 8 8
sy A ER e BisonapSoyie AEM(mxn,R) eswwra(b)
Aay; e Aagg
M=< S )
Aag,, 0 Aagn

BeM(n X k,R), AeM(m X n,R) : «pa 80 52 (C)

WSy e 09 @Sy CEM(M X Kk, R) 0 wpa dala Byl A 2
AB G sbee A ped (COIUMNS) 55t 2 (o (5 628 @ pia DA g 43
Do s et Jgd Y A ddlee a3 (590 ( FOWS) S

A=(a;) (i=123,..m ; j=123,..n)
B=(b;) (i=123,..n; j=123,..k)
DA A Ja Y 4 (elements) slie C 2.5 A.B=C 4s

s A i Kl S M i 2 CeM(m X kR ) o3 4554
Sy dse sV 4 C i ¥V S

C=(cj) (=123,..m; j=123,..k)

<a11 a1n> (bll ves blk)
dm1 " 9mn bny -+ bpk
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n n
E ayibyy - E aq;biy
i=1 i=1
n ) n
E Amibi; E Amibix
i=1 i=1

- 3.1 Jia

a-(21) (0239

45

3 1
Wiow.2BEMR2X4,R) 3 A€ M(3X2,R) 244
$sA.B=CEMGBxX4R)
C11 = Xig yiby = aq1.byq +a12.0p; =11 +20=1
Ciz = Xiog iy = @q1.b1p +A1p.bpp = 1.2+ 2.1 =4
38 am op palic Hoi SG e G agd Y S il i saan 4y
Ci3=3+4=7 |, Cia=04+6=6
C,y =214+10=2 , C,=22+11=5
C,3=234+2=8 , (3, =20+13=3
C3;,=34+40=3 , C3,=32+11=7
C33=33+12=11 , (3, =3.0+13=3
€11 G2 €G3 C1a 1 4 7 6
C = <C21 C22 (23 C24) = (2 5 8 3)
€31 €32 (€33 C34 3 7 11 3
TR A

-GH  e=G)

sl Corgs AB= C &S
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2O Al

a=(> 929 B=<(1) i)
1 4 2 1 3 1
sAS AB W (a)
S BA (b)
(S Bxa Sl ga¥he ) A, B € M(n,R) 2 Ul i
(a) (A-B)® =(A+B).(A-B)
(b) (AB)* = A%.B?
D (oA
A€ M(2 x 4,R) ,Be M(n x5,R) , CE M(m X 3,R)
S5 oSl A.(B.C) 2= Juals SulSlwensm

-3.2 Jlia
x=(at 2 a=( =G

sSlw sSQyie X3 g))e o9 X.A=B 4S
XA= (o o) G 5)=(C 29)

X11 +X12  —2x11 + 29512) (3 -2
= <x21 + Xy —2Xy1 + 2X9,) (—1 —6)

=
X1+ X12 =3 ﬂ
-2X11+ 2X10 = -2

X11+ X12 =3
O0+4x,=4
= Xip=1,X41 =2
38 da alae Y 5d (VS J50 Guen 4
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Xo1+ Xop = -1
-2Xo1+ 2Xo0 = -6
= X1 =1, Xop =-2
DA S Y S e X2

3.1
X b 4 — _

= (o ) 4=(5 Z3)8=( 11)
el So e X3, AX=B as
oSasie wlyaE € M(nXn,R) oSasies 53,3 iyl
((ssisj4S) aj=1 > bod a4 .gbes 4 ((Unity Matrix )
A g;iijﬁ)aij =0 J
ALY E, € M(4X4,R) deeadben

0 O

E4=

S O O
S O =k O

0 O
1 0
0 1

3l 545 C ; A,B,C,A1,A2,B1,BQ € M(Tl Xn, R) P dS 1 gl
(S Bra sy ¥l S

AE,=E,. A=A

(A.B).C = A(B.C) (associativity )

(A; +A4,).B=A,.B+A,.B ( distributivity )

A.(By+B,) =A.B; +A.B,

SR Qg Gl aalsgon )bl ga idpal a2 aSo A
WS-t P

deadbien sS4 3rva A B=B.A Qopa eme 4 1@
1 2 2 —2
A:(z 1)' B = (2 —1)
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AB - (1.2 +22 1.(-2)+2. (—1) _ (6 —4)

22412 2.(-2)+1.(-1)"\6 -5
BA=(; 21)-G =05 3)
s> AB £ B.A > S 0l

2 < Nonsingular * AE M(n X n, K) oSosie 51 3.4 iyl
s BeEMNM XnK) oSsie s> brd e qeml
(invertible) % pusSaa pSa e A, 3 AB=E, =B.A
A7l sy sS dis A2 Sy (inverse) oS 5B s
el a4 singular 2 ol 49 (s San (o 80 e g g gm0 s
:3.5 iy

GL(n,R):= { A€ M(nxn, R) | A Nonsingular }
62 5352 50 (R (Alide ol 1 Sl e sSae 3 8 Jle 053 Qg
G A S i dalg 3 JeShan S fe (ugSan 1 ARk (6 el
s 3 o bl sl Slany L sSaad 4283 5)5l5 A € GL(N, R) LS ie 521 5 4S
Ep o8 A 5550500 5505 S 4tk o0 4 S sl 6L F) 80 s
A A FS )5 el Gossa i s oS edldiu) 4A Cllee (Aledie o g2l
o i S sle 2l s 4y 85 e
158 M (e S 050 e a8 13,3 Jla

(1 0
1=(3 2)
3ol dflan S (mSae 3 a3 AEM(2X2,R),) SSA
S edldiu) AAX FL (S0 i 2al g
1 0 1 0
ol

A > A A K GIL E, o 4 nadlsllee Jledie 3 (5 )50 45 5
S da S yle a4y 5 i



Linear Algebra sl >

O = O K
= O N O
~
/_\lf\
| -
leHw
NIRrROO P O
N——

1 O
54 A_1=<_§ l)ws
2 2
1 O 140 0+0
(1 0) 3 1) = 3 1
_(1 0\ _
_(0 1)_En
3.2 (Al

DS (eSS yie Y (@)

=
Il
/-~
SN =
N = O
w o
~_

SN e sSae S e Y s (b)

G Al da s gNdea il 3 JgSlay ol GugSaa 33 4l gk day s

a a
apeaer) a=( ) g (b

15 S5 (B dlla 2V Al G a5 43 .55 B o sSas oS ie A 24S

(a11 a12) <b11 b12> _ (1 O)
A1 A2/ " \byy by, 0 1
_ <b11 b12) (all a12)
“\by; byy) \az1 Ay
A,B € GL(n,R) 48, Al a3 43X Jadg¥alas s 3 oS B2
S Gradnhhaalugy n>2
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:3.3 Jha
1 0
A=(3 2)
Al on s A S oS e Baas
1 0y (b1 b12>_ 1 0
(3 2)'(b21 b,, _(o 1)
b11+0.b21=1
b12+0.b22=0

3by; + 2.by = 0
3by, + 2.byy = 1
by =1

by, =0

3.1+2by =0 = by = —>

30+2b22=1 == b22=%

(22
= B = 3 1
2 2
0 1 —4
A=<1 2 —1)
1 1 2

S5 ealdinl 43X ¢4y Hla g )l a4l GBS Sk esSa A0
J59 43 0 sie 0520 Gl gl (Walaa (ad (G) 25158 sl yise

S
A1 7t Qun
A=< doL )
Ami1 " Amn

3.3 Cpa
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Goph a4 alin (Valae 3 (G) 2 S e sl pad 4 € M(mxn, R)
Joo 4 oSa e 398 oY S aa (i=1,2,...,n) X o) i=1,2,....m) b; .

555l
b, X1
) )
b, Xn

X € M(nx1,R) 5 b€ M(mx1,R)
A Y S e gaiValn s S piae e X ) A i aS

A11X1 0 QupXp
Ax = : :
Am1X1 = AmnXn

:Gﬂoj)\cdjgddﬁydﬁ bojys Adas

a1t Qp by
(A,b) = : :
An1  Amn b

anu i sul a3 Sina ) Extended Cofficient Matrix > 5o i (Ab) 2
St asi A (S e s 5
:3.4 Jua
3x1 + 2x, + x3 =10
X1 +x, —2x3 = -3
2X1 — Xy +x3 =3

a1 Q2 Qi3 3 2 1
A=1|01 Az A3 |=[1 1 =2
aszi1 Az dzs 2 -1 1

-G
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3 2 1 10
(4,b) = (1 1 -2 —3)
2 -1 1 3

: 3.5 Ja
2xy + 4x, + 6x5 + 5x, =3
X3+ 3x4 +2x5+x5 =1
3xXg +x7 =2

0 2 0 4 6 0 5 by 3
A=<0013210),b=<b2>=<1)
0 00 0 0 3 1 b4 2

0 2 0 4 6 05 3
A4nlo o0 1 3 21 0 1
0000 0 3 1 2

Gkt glhlee (Hledied alus (SYalee (dad g3 4s aa o Sl glggise
Y 4 S Sle s Sllee (Hledia (sl 8 GV S Jg2 laea | (58 45 s
5 S i e
o i iy DA e o3 S s madnra (1)
o 60 A8 ) o e shad M 220 0 SH G dmsa (2)

JsS pan o (S
S 500 Gyl Jsly (3)
43 Elementary Transformation 2 sl (S e g9y Slhlee Sledia Jg9 1
extended cofficient matrix piws SYae ol 53 (A4, D) 4S 5ok o8
43 (4,b) 4( 3,2,1) slile et s gy oS0 sie (4, D) 25) s
hAda b Ax =Db S Ax = b Copa 34, s el Y
w3l K uY S 4 € M(m,n, R) 0Sasie 51 3.6 iyl
S48 4 ( Row- Echelon Matrix ) (e ie (o 4l
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(. \

D)) oal s Y S0 e (Al g
laza gl 55 JaaBA b G Gla 4 () Gosie Y a palic 42a (1)
Lﬂgd_)mt\cdiiy

11,022,033, -+, pn
(S5 aly jalic gaW b yi(2)
(S ey AL ) jhea (L3 1A jualie adly S (3)

: 3.6 JUa
X, +x3+x4=9
2x1 +x3 +x4,=9
6x1 —x; +x, =8
4x, + x5 —x3 +2x, =11

O.X1 + x2 + X3 + x4 = a11x1 + alzxz + a13x3 + a14x4
2x1 + 0., + X3 + X4 = Ay1X1 + Ay Xo+ Ao3X3 + AogXy
6x; —x; + 0. X3 + X4 = az1X; — A32X; + A33Xy3  A34Xy

4-x1 + x2 - x3 + 2x4 == a41x1 - a42x2 + a43x3 + a44x4
0 1 1 1 9
(2 0 1 1 9
@b=lg -1 0 1 8
4 1 -1 2 11

11 Q2 Q3 Qg4 by

(p1 Qpp Q3 Gy by
a3y A3y dzz dzq b

(g1 Quy Q43 Qag by
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50 A (Sl e sl 5 el 351558 ealiinl 48R sillae ledie (5 gl

2 0 1 1 9
~ 2 0 1 1 1 9
A b)=
( ) 6 -1 0 1 8
4 1 -1 2 11
a'y; a'y,; a'yz a'yy by
_ @21 a'yp a'az aly Db
a'sy a's; a'zz a'z, b's
a'yy a'yy a'ys a'yy by
—2,31 = —S:—B s s W pn.sra; =2 % 0 2SS A
11

= 24 el by (sl LS pan o (Sl a3 Lo gl s e oy

S aan o (Sl (e slR0 ) s o e —Z,“ —§=—2
11
2 0 1 1 9
0 1 1 1 9
O -1 -3 -2 -19
O 1 -3 0 -7
Lo 558 o (Sl om0l pem o — o= 1348 A 4ty

1
- . 1
}é&ébﬂ&ﬁ)}hd}\ﬁﬂb)&—;:—l 345 4 g0

2 0 1 1 9
0 1 1 1 9
0O 0 -2 -1 -10
0 0 -4 -1 -16
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o> o (Sl (e 5180 Lusl gy im0 e — :—;L = -2 24 a0 ol
558
2 0 1 1 9
0 1 1 1 9
0O 0 -2 -1 -10
0O 0 O 1 4

JA9 520 o @Y sSelian Ly 5 S5 ealiin) 43R gillee Sladie 30 ja 53 8 4S
S e (2 AL ) ) b Y S Gagl L S daad jhia Ay (S ASGl da 518 4y
s S da Jse s 4 ol Ae 4l

X, =4

-2x3 - X4 =-10

= —2x3=—-10+x,=-10+4=-6 = x3 =3
X, =9 —x3—x,=9—-3—-4=2

20, =9 —x3-x,=9-3-4=2 =x,=2%/,=1

N s olee M (o plon Walaa 50 03 GV S 50 (e see 43 1080
R 5 Jse Y 4 AUl Jaa s )15 J e

a11x1 + alzxz + a13X3 + -+ alnxn = bl

alel + azzxz + a23X3 + -4 aann - b2

Am1X1 + Ao Xy + AzX3 + -+ QX = by

s s IS Y sililae Sledie al Gy (2 05 sie s e 4S

55



Linear Algebra sl >

11 L9 I Lin bl

oz ... Lon bg

D H“J’? 1 b‘l‘?l

da s (Yalae () (o208 GYS el S u—"wJﬁ u»5-u-m 3

Qysa 34 .ssby = 05 (i=1,2,. )am,—Od}a‘\S( i)
L;)SMJAWGJYJ\M\J
)ld;ylass?.mm‘fa\Jixah

Cosa @34 .Bsbp= 0 (i=1,2,...,n) @mi = 0 Jsi«s (i)

s dé‘—*bjfé o (Y alaala

S350 (i=1,2,,N) @ # 0 053 (S8 a5 448 (iv)

£(x)

f(1)
£(x)
f(1)

£(2)
(3)

cs)i s 5 el s (SYae I G sa s34y

=a X"+ an X" + ... + X2 + aX + ag

@rae b naih Nl n »f(X)
15 S oy shal Jh AV dagilg ods N 20 1 la

=2,f(2)=7,1(3) = 14,

(s IS Y o sl gy i sed (558 (8 yise

—ax’+bx+c

35S o g A giad (g gl J SI) o gl

=al+bil+c=a+b+c=2
=4a+2b+c =7
=9a+3b+c=14

163 J9 Y 49 S i sl a3 sV 50T ) 3 0

1 11 1 1 1 2
a=(1 2 1) mo=(s 2 1 7)
9 3 1 9 3 1 14

56
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1 1 1 2
<0 -2 -3 —1)
0 0 1 -1

c=-1,-2b-3c=-1 >-2b=-1+3c=-4 =>b=2
a=2-b-c=2-2+1=1

TR FUNFER NP A PYR SRpgee

f(x) = x* + 2x - 1
Lodgaay s Sy asile o ol VS ol Gsg e 3 a Jsd dads
S5 s S A giad Jia o gl sy (55050 (o

S f(X) Lo el 45l i a il g f(X) a4 PNopaS 1lupal
F1)=0,f-1)=-6,f(2) =6, f(-2) = -18

s sopb asi 4 Transposed Matrix 2 &l ¥ 12 13,7 iy s
t:M(m X n,R) — M(nxm, R)
A— At
Sb a5 4 transpose matrix oSasie A' 2

r e
=l p) (o

Cc

1 2 3 1 3 6
B=<3 4 5) ,Bt=<2 4 7)
6 7 8 3 5 8

bbbt »w.ss A eR.CEMMNkR). ABEMmnR) «
D 6S Bua Ol 8 sy

) (A+B)=A"+Bt

) (14)" =m0

) (A.C)f=cCchAt

) (AD'=A
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: 3.8 iy

a4 (symmetric) bl s Ae M(n xn,K) oSy s (a)

¢ S is skew symmetric 4iss g A = Al o s 604 sl
&> (transpose) Jswsl 5 A S Al s A = -Al G aS

@2 symmetric usSasie 1Y 12 g9 4 Jhae 2

1 a b

A=<a 3 c)

b ¢ 5
L;JA:At 4SA

valygd domei g aceArs AeMmnxn, C (b)
¢basi 4 complex conjugate 2 A 2 Al 48 Y o oS i
I 4y b 3 sadio s A 4 4R yisas)

(141 241 - 1-i 2-i
A= 3 1—21) = A= ( 3 1+21)
)JAUBAU&:UEALgdl‘}I\J@LﬁQsJ@:cLSJS\JﬁQAﬁXJ:dﬁ'u
& ( symmetric )

A:(2x4—3 iii)

sy A=Al Al bl A S sie 4S
( 4 X+2)=( 4 2X-3)
2x—3 x+1 x+2 x+4+1

o Jisd (o palic Jsi (o ¢ (59 Ssbasa oy Jisnd Cd 5 438 A Sia o 50

L (S S sbaa
X+2=2X—-3 = x=5

-G D
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Y S ia( symmetric ) bl g A o> S Jad
S g JS) ) A5 Sy i 1Y 13,4 (Al

0O 1 2 1 a b
A=<1 0 1>,B=<—1 0 1)
2 1 3 -2 -1 0

&Y 5 e skew symmetric s B 5 symmetric s A o> S G

3.1 &g
o5 (leftinverse) us 52 25l (right inverse) ussae 4 (@)

dSan b R pesSan Q[ AS ASAG (63 (5 sk o 8 Y
Wb o .3 A € M(n,n, R)

LA=E, AN AR=E,
- L=LE,=L(AR)=(LA).R=E,R=R
A AT E oS S A E, 2 s A= 04 (b)
(EnA)(A1YE,) = E,AA'E, =E,.E,=E,
sy ISG Y 18G4 € M(nxn, R) 48 1 3.9 ciy 2l

;. vt Qup
A= : :
Ap1  *° Qpn

i Ja ¥ a4 oSosie Ay eM(n—1,n—1,R) 2 (a)
TR

Kash (row)ss S 2 e Aoay dpgaaaal Ad 4,
Usotg e 3, s 355 Ciim (S ety A 2 423 (COIMIN) i

0O 1 2 a1 Q12 Qi3
A=13 2 1]|=|(4Ax1 Gz a3
1 1 O 31 da4z; dass
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r (3 1\ _ (G21 Q23
A1z = (1 O) B (a31 a33)
rE s i dn hosSasie Ay € M(nxen ,R) 2 (b))

3 palie Sl gsa =1 > AN dpnerqaai Ad 4,
s 49 Jie 2| 5508 (COIMN) G k23 (row) S i

1 2 3 1 0 3
2 1 3 2 0 3

AU aY 400 R dgsbue o> ¢ (field) aabuog K :3.10 iyl
( Determinant) <uilis ys 3 (S yie s 3 (nsal) )33 S (Mapping)
REBTERTRT
det: M(nxn,K) — K
A —  detA=3Y"_(—1D)"F a;.detd’;,
LA (row) S 12 Determinant )
.ol A (column) B k 2 Determinant xiyla
det: M(nxn,K) — K
A — detA=Y" (-1 aqy.detA’y,
438 galae ] Baaa 3o Ll o sSlana Cuilie a3 (S Jhad (504 yige 1 g
K = R . ssS ool
Giliae ya 24ty yisasl b asi4g (Laplace ) oY 248 )k ()5
3pn Ayl )5 g 5sS el AaX ) sl saean o)l o) Sl
3g) 48yl Sarrus 2 Jss 4 Jhed 53 5253 90 5l sl oSl Cuiline yin
J 99 Y 4 uiline iy WSsyie B € M(2 X 2,R) s . 48,k [ eibniz
(g opShay

B=(Ccl Z) = detB = ad — bc

0O 1 2 a1 Q2 Qi3
A=13 1]=14a21 Qzz2 dz3
1 0 asz; Az dzs

3.7 Jha

=N
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4y, =0 A, = (i (1)) JdetAl, = 2.0 — (1.1) = -1

4y, =1 A, = (i (1)) ,detdl, = 3.0 — (1.1) = -1

Ay =2 AL, = (? ?) JdetAl; =3.1—(12) = 1
detA = Y3_ (—1)**ka,, det A}, =
= (D20 (D)4 (D31 (D) +(1)*.2.1=3
Do Sl Jgo a4 L)
0 1 2

3 21
1 1

N B B P

=0+ (=1).(3.0 - 1) +2.(3.1 = 2.1)
=04+14+2=3
S Gsdlag s A (row) (xS s als Cailine i 35 ) 9
s S s s Al (colmn) e v 2 det A sy s )
detA=2.|i i|—1.|‘1) }|+0.|g ;
=2.(31-21)-1.(01—1.1) +1
=24+1=3

434 g8 Hha g g2 Laplace o sl oSlans Cuiling yi SPPENERTN Jad
ol (5245 i S Cilize i 4 a0 55 ol

AU Y J e 4ol det: M(n X n,R) > R 2

oS A (i=1,23,.) a4 A= <di>45 (Dy)

03 4y S
det <ai> = det <a’i> + det <a§’)

.y aqy=al+a) >b ey
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det <ai> = A.det <a’i>

s a;=2a'; » LER a>byksaa
detA=0 (D)
s (5 gbue 050 Ligh (Lhan) (5 S sy A 2 bl sa 4y
Ay (05w
detE, =1 (Ds)
SRS s w0 E
1€R (Dy)
det(1.4) = A". detA
detA=0  (Ds)
S ha Gsbua (Osin) Aliwo s biglas So g Ao S
detA = —detB (Dg)
A5 Y adasd 5 ol sl 0 A2 (rOWS) sa S50 43X A Al B (5 4S
S e
S G bugl Coae ju e ey A sl Ko A4S (Dy)
L sssopd detA Cosa a4 L (e s s
L s S8 5V S sie A 24S (Dg)

A
LA
P O ,
lo o o O
\0 0 0 0 /
00 0 0 A,
detA = /11 . /12 . e /1n
LS8R A = )\i s adl

D S e Ay Ap sl ol Sl Sa e A aas (D)
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A= (“(1)1 j) —  detA = (detA,). (detA,)
2
A,BeM(n xn,R) (Do)
det(A.B) = detA.detB
Ae GL(n,R) (D41)

N 41
det(A1) = (detA)1= et )

AeM(n xn,R (Dqg)

detA = det(A)

DN Bua ol oY O s qasee 40 )W A, BeM(n X n, R) 2 1q s
det(A+ B) = det A + detB

dﬁ“\gd&d
4=(1 2) 8=( o) avE=(; )
detA=4-0=4 ,detB=0-1=-1,
det(A+B) =8-2=6
det(A+B) =6 #3 =4 -1 =detA + detB

: 3.8 Jha

0 1 1
A= (1 -2 —5)
2 -3 -6

0 1 1 1 -2 -5
detA=|1 -2 -5|=-— 1 1
2 -3 -6 2 -3 -6

1 -2 -5 1 -2 -5

=—10 1 1]1=—10 1 1

0 1 4 0 O 3

=—-113=-3 [ x4 Dy ]
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o) 43R Cueald (Dg) 2ot o sShuy 3 cilia yisn o (S Jbe (53 :3.9 Jha
555

coRr N
cCoON R
or oo
R RO N

mie( ) Ay D) e=(0 )
detA = detA; . detA, =3.1 =3

O e (o (62 ) HS A g 4xa o)gjﬁ\qﬁaumﬂaaqmu(Dg)a
S A malic Sl o

s Sy Ciline fos (18 fle g3 2 1 Gauad

3.2 G

(a)
ABe GL(n,R) — A.BeGL(n, R)
sz st A B O pa g4 0l S usSae AB A4S S
ASA L oS

B'A'(A.B)=B'(A'.A).B=B"(E,).B=E,
(AB)'=B' A" G c2 AB2ussSae BT AT 2 gaS dad

(S)'=8 s STeGL(N,R) w.s5SEGL(N,R) 4 (b)

(c)

Ae GL(n,R) = A'e GL(n,R)
SA
AA'=E, = (AA")'=(E,)' =E,
= (AAN =(A).A'= E,

64



Linear Algebra sl >

(A) " = (AT) i .sa Ao Gesfns (AT) 2 o5 Jady
SN S (i sSae 5 s s ki AEGL(N,R) L (d)
Ly g5 4 0o i uSan A 2 C 5l B s 4S 1

AB=E,=BA A AC=E,=CA
B=B.E,=B.(A.C)=(B.A.C=E,.C=C
(e)
A€GL(n,R) 0+ c € R = C.AEGL(N,R) A (cA)'== A"
sl
1 0
/10 o At _1(2 0y
A=(, ) JdetA=2,A"=2( % 1)_<_1 %>
c:=3
3 0
3A=(6 6),det(3A)=18
oo
1 1 6 0 5
(3-A) _E(—6 3)=<_1 1)
3 6
1
1 0 200
1
x-z( z)=(_z 1)
2 3 6
e 8 dad
(cA)'=- A"

6sd ol S @ i394 Af 5 A= (a;) € M(nxn, R) &4
s My 4458 ) )y minor s=ie a;; 24 detA’i]- RELRET N
detAj; = My =

Cij == (-1)" .My = (-1)" . detA;
4S g2 s cOfactor s minor .t asi 4y cofactor 2a;2 Gj
s 0 e (a1 pise (59 e Qi 4
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3 43 Ae adh i i 52 (cofactor matrix) (S sSé S A o

s JSG
C11 Cln
C= : :
Cnl Cnn

detAj; = (-1)" .My = (-1)" C;

.S Jis adjoint matrix & s adjugate matrix 4 C'
gopllenind s 40K adjunct 2 A 4 cofactor 2 (S sUS A 4 gl

3.10 Ju
1 2 0
A=<1 1 1)
2 0 1
My = detA}; = - _ detay, = |> 9] -=
11 = etA11 = =1 M21 —detA21 = |0 1| =2
M12=d€tA’12 = =-1 |\/|22=detA'22 = |; (1)| =1

M13 = detA’ls = =-2 M23 = detA’23 = |; (2) =-

M31 = detA'31 = =2 M32 = detA’32 = |1 2 =1

M33 = detA'33 = = -1

P PR NNRNROR
R NR OO RR R R,

508l S0 e cofactor 2 s)se ol S 1w s« (Minors) Lsile
Cir=(-1)"" My=1.1= 1
Ciz= (-1)"** Mz =-1.(-1) = 1
Cig=-2 ,C1=-2,Cn=1,
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Coz=4 ,C31=2,C32=1, Cz3 =-1
(s J5b g S e cofactor 2 (S Aani 4

1 1 -2
C= (—2 1 4 )
2 1 -1
P AR )b dasyd G gSaan

C = oS cofactor » 433 So e 4 € GL(n, R) 2 el 4l
BT DR IS PR (ci j) € M(nxn, R)
Cij = (—1)l+jd€tA:] = (—1)l+]Ml]

eIV 4 AL C A A esSre . 3650 i (S i 8.9 4 A

PR g PR
Al=—2"1 ¢t
detA
S had DA Culine yhd 4283 515 UnsSae (o (S i La R 508 53 i s
:3.11 Jha
a b
A= (c d)

sl S Ad syt sadetd # 0 o> 555 U= f pise
detA = ad — bc
Ciy = (~1)'"*'.detAl, =1.d = d
Ci, = (D2 detA], = —1.c = —c
Cpy = (~1)**. detAL, = —1.h = —b
Cyy = (—1)?*2.detA), =l.a=a

c- (4 9.8 D)
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d -b
_ ad—bc ad—bc
- —C a
ad—bc ad—-bc

Y ssae A oS il AT e s s S sl 1 el

: 3.12 :Jba
A=(§ (2’) detAd=12—3.0=2
= o)

ATl 2 Y S Sppa gy gsosdae A2 A7l o S
505 n Jgo Y 4

ey = (~1)*detA;; , At=—— Ct

¢, = (Dt detd]; =12=2
¢, = (D)2 detd], = —-1.3 = -3
Cyy = (=1)?*1.detdl, = —1.0 = 0
€y = (~1)2*2. detdly, = 1.1 = 1

c=( 1) =4
at =g =1(4 )=(2 )
AAT = (] 3).<_1§ 0>=<31_+§ O£O>

1 0 2 2 2
:(0 1)

P 6sS Bua ol o ol So i 4 € M(nxn, R) s 1 G
detA+0 341 e M(nxn,R);A. A"t =E,

b_)l:d U\A:\A\ J

N R
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s Asilin S oy (AT ia g $ L oy (J)5S Jda (5,0 13,13 Jha

o Sos 4l S adl 34 (A5 sl by adl 8 sl adl 6 4l S
3B )5l o (Slad 10 silsh o) (Sad) 8 4l Ssilia S o Hlay 550
S8 pslae el sl ool giliia S a0 S 55 Al S Gug e 3 S8 44 (5,8
Xpi= padisilsh | Xqi= medsilia Sy ida

X=(X X2) ,A=(g 180) ,B=(34 44)

detA=6.10—(8.8)=60—-64=-4%0
3.7 ki) AT OSosie pisSae 9 A e . detA £ 0 2GR

5081 0 Tl 43 A 3 sSan (o258 Y S 45 Jlie

_s

A'1=_i4_(10 —8)= 2

-8 6 3

2 ==
2

DA Y Js Y 4 xo ) Xy
X.A=B =X.A.A'=B.A" = X.E,=B.A"
= X=B.A"

(X1 X2 ) = (34 44). 22

= (34.(-2)+44.2  34.2+44.(-3))

_ ( _ﬂ _ﬁ 68 _E )= (—170+176 136—132 )
2 1 2 2 2
=(3 2)

GOl 2 5 hin S 3 (>0 See oy
A dead s on L ) sl GOslmed Gare g gy 13,5 (ol
148 Jsi o> S0 2bo il 8 s s p ) b oyl 5 (S il
S o) 1o 1 8 ()5l sA (S Qe 455 3 S (g 0d g2k o il
oS ie 3, geh SoS 4l 220 A8 . Sos e il 10
SHA A 5y Aok g S aslae LA
s S sie Y 13,14 JUa
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1 1 0
0 2 p

PR oS oS ie Ado oS P S s )2
@2 (invertible)

110

detdA=|p 3 1=1.|§ 1—1.|18 1‘
0 2 pl P p
=@B8p—-2)-p

S detA #0 > G Sasie esSae Dagaza A
Bp—-2)-p® =0 = p?-3p+2=0
= (p-1)(p—-2)=0
Ga Ao . eosp=2 L p=T1 (> S e Gd g il in A 2
Ssp#2 pEL D AS s pasan DAy

S S S e

3.6 Cpad

s (inverse) (usSae 8o e A de il o S0
A€EGL(n,R) :B3.11 s

A1 0 Qn
A= : :
An1  *° Qpp

3 S e L.SJ-"\J Shsd i (S 3.9 QS e BN wAij
b a6 4 Adjunkte-matrix
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ad 4 (detAll e detAn1>
A = (a9%) = : :

ij : :
detA,, -+ detA,,

A4 Y 4aL (ij=1,2,...,n) det(A;) > oSasie A e

:3.15 Jis
A= )
An=(] 9) detA; =4
Ae=(0 1) . detAp=-1
Ar=(0 3) detAn=-3
A= 0)  dethAnp=2
¢ IS s adjunkte-matrix 4.
Aad=(—41 _23)

adjunkte-matrix 2 s )l 8 sS lans (G Jie (g Sae 2 4dly 1 Ay yha dayglA
Jse ¥ 4y usSan A 23.655A4 € GL(N, R) 4S ry 5.8 odldind 43X
PSP
A—l — ; Aad
detA

:3.15 Jhia

A=(f i) detA=2.4-13=5

> dulgge (S e ) g 4

A = (—41 _23)
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A_l'_'—l—'AFd==§-.(:2_ 'Ef) _ ét _;;

1
5

i 4y 48y yha A ) 918 g) ey 50 ol o sShayy (150 Jie (s s 353 90 AS TG g
3 (SR 4 g0 Alde (ke gl 93 (2 oS Jad L5 S axdldas o
Lg).QSbJ\Am\M@JJLLQMMoJU”d)SJS\Jﬁw&JMw)&A

:3.7 (s
01 —4
A= (1 2 —1)
11 2
i) 438 ok a5l g e n o sSiaeg 6S I pesSan A S
S5

da 2 dan (Walae Jbd 243X 4y 04l 1 4Rk Cramer o
:@Lﬁddé\ﬁ_gsiﬁsm\éﬁu\c‘)\;ﬂ

$3 0 2 S asul pa 3 (1)
équqmsa:@ﬂq‘mﬂyﬁ\ﬂq (ii)
sy At Valae i 503V i g 4S

a11x1 + alzxz + -+ alnxn -

1
a21x1 + a22x2 + + aann bz

Ap1X1 + AppXy + o+ AppXy = by,
A1 0 Qn

A= : :
An1  *° Qpp

72

TS0 e sul a2 4xa 2



Linear Algebra sl >

X b,
Ax=b,x=<5> , b=<§>
X, b,

detA =0 @Gig\qgsdagjgldCrameraasjm Y alaa 1
ol a?,ad, a4 (05 e S AL ik s
DS ealdiul 43X Jsa )8 Y 20l a3 aYaea 2 Cramer

__det(at a?..a"' b al*l. a®

i detA
:3.16 Juis
x1 + x2 = 1
xz + X3 - 1

31 +2x, +x3=0
1 1 0 1
A=<0 1 1) b=<1>
3 2 1 0

detA =1(1.1-1.2) — 1(0.1 — 3.1) + 0(0.2 — 1.3)
=-14+43=2 %0

L by a;; a3 1 1 0
X1 =2 b, a;; ax|==-.]1 1 1
b; asz, as; 0 2 1
=-(1(1-2)-1.(A-0)+0) =>(-2) = -1
11 1 0 .
x, =20 1 1|=-.(1.(1-0)—1.(0-3)+ 0)
3 0 1
=-(1+3)=2
11 1 1 .
x3=50 1 1 =E.(1(0—2)—1.(0—3)+1.(0—3))
3 2 0
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:%(—2+3—3)=—1

a3l ok al (Cramer ) aS 2ol da 2 gi¥alas i 5 1 3.8 (runs

(a)
2x1 +3x, =10
X, +4x3 =6
X1+ x,+x3=5

2x1-X2+X3=4%
X1 +2X3=9
X1-2X2+ 2x3=5
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Juad a  51a
Lad (5,588 g
( Vector space)
praglad gy acun /2 a2 ( Field ) aaluen K 4.1 @l
(S5 s et e o g2V g A bd gr g b A K ks
+: VXV -V
wv)—u+v
KXV -V
(t,v) — v
(sl oal A Y Al (glee) bl y 0 g2kl Vol
Cuie 55 (commutative group ) <58 G w (V,4) : (vq)
paic uSaa glad 0" QAR e a6 2)sS a ) o palc
swie e —p 4 v 2 (inverse element)
@l g b abo W, 7,7, EK S v, v, v, EV 21 (V)
(S5 Bra
1) (i +1)v=1v+1,V)
i) (v, +vy) =101 +TV4
i) 7,(7,v) = (1172)V
iv) Lv=vw
o (VK) 44 alu Ko ki | Lad )98 o yise
S i dey Cun V2 pisee )l Al K g2 4.2 iyl
Vi= KXKXKX..xK=K"
123 (5 9 i KA g 43 (Operation ) adee “ 4% 2LV p
x,yeEV ,6 1eK

X = (xl,xz,X3, "'lxn) ) y = (y11y21y31 Jyn)
X+ y = (x1,%2%3, 000, Xn) + (V1, Y2, V35 s V)

= (X1 + Y1, %2 + Y2, X3 + Y3, 000y X + V)
Ax = A(xq, X5, X3, oo, X)) = (Axq, AXy, AX3, ..., AXy)

palad 5 )sSsepai K Lk K"
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3 eadigalac) Ada Hhi Lad )5S0 R™ ligs K =R 4S
LSy s x 2 —x 50 0=(0,0,0,..,0) r=eic e (R™ ,+)
s
—x = —(Xq1, X5, X3, e, Xp) = (—Xq1, —X5, —X3, eue) —Xp,)
daalu galael s o dadd o) g0 0 43R Cuagee 2 g0 Al (uw adly g gl
G K =R G s SHbi 4 (Field)
4.1 Jla
4 Cus Map(V,W) 25 o bad 5585050 (W, K) S (V,K) (a)
16 s iy et Jso Y
Map(V.W):={f| f: V - W}
D9 S Chpad e g Y 4 Y S Mi= Map(V,W) _x
+MXM->M
f,.9)—f+yg

: KXM->M
Af)—a-f

VxeV,1eK
f+9)x) =f(x) +g(x)
AN
(4, ) (x) = Af (x)
e > 6 X Gt s (M, +) 4SS e Lab s 58500 (M, K)
2 fagusSan—fi(f(X)=0 VXEV ) o2alijiadr o paic
(2 Gl B e al pead ) 55 Liad (5 58 5 0 4S5 )laes
(b)
V:={f: R = R | f(x)=ao + aix + azx? +....+ an-1x*1, ai€ R }
S N-T 2 sbadbgl Jia oS odn ) 2 6 Cun sagilgy Jsisaaa V
(a) 4> sblke SHnki (V,R) o> o5 @Y S S0 o Sl 4
23 Lad (5 ) §iS g0 93 ¢ (59 gl (S
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(S Bua ol 2V Slnd )8y (V,K)ena 4.1 @4
0,,vEV, 0,7 €K

a) 0.v=0,
by 7.0,=0,
c) Tt.v=0, = t=0 Vv wv=0,
d (1).v=-v

g (a)
O.v=0+0)v=0v+0.v=0.v=0,

@i (b)
t.0,=7(0,+0,)=10,+10,=10, =0,

: sl (C)

s T#0 S .Gipalsdsnics T=04S

v=1lLv=(r.t Hv=1t1rv) =110,
=0, [ &4d(b)]

'S5 (d)
v+(-Dw=1v+(-D.v=>0A-1).v
=0.v=0,
= (-1D.v=-v

s Interval sl=[a,b]S R :4.1
sl Wy C(LR): ={f:I —>]R|fcontinue( L;auh)} a8
¢ g at (S Jhe 4.1 4 2 sllee 438,k (C(LR),R) o ¢S

23 Ll (6 ) #8500
gald Y W S WEV ol lad )58 o (V,K) : 4.3 @l
8 dis (Subspace ) Lad e p Valuaiara )l
(uv,) W =@
(uv,) UuweEW = u+wew
(uvy) ueW , 7eK = T1TueWw
Aty WLy oo Lad o b arnd W) Liad 5585 00 (V,K): 4.1 At
23 liad (5 )5S 50
Dot 4 Sk galid (1,) 2 el ¢ galadl 1A A rgd
(g2 Gkl a B s W
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W+0= 3weW = 0,=0veW [Sd(uvs) 2]

vEW = —-1lvew [ <4 (uvs) 2 ]

PG
= -v=—-1vew [ Sed&s 4.12]

palad 5) 8500 (W, K) S4aiiiag ol QoS Jad o (W,4) o
- 4.2 Ja
alad e BoaW:={(x,x,,%3) ER3x, =x3} (@)
22 S (R3,R)
:Ja

0=0000€EW = W=#0 = (uv,
u = (ug,up,uz) , w=(wy,wy,ws) EW

=S u+w= U +wy,u, +w,,us; +wsy)
ou.E U,W EW S A
Uy = Uz N Wy = W3 = Uy + Wy, = Uz + W3
=ut+wew
AER ,ueW = Au= (luy, Au,, Auy)

S AWEW vy. s Au, =Aug Y ow e Uy = Uz >SS
o3 S (R R) 4l o o W (S anitiag

(R R) 4lad oo fom Wi={(x1,%) ER*|x; 2 x,} W (b)
c.ﬁé
Ja

0=00ewW = W=+0 = (uv,)
u=(up,uy) , w=Ww,wy) EW
=u+w= U +w;,u, +w,)
ou.E U,W EW (SR
U= U, AN W =W, = U+ W= U+ W,
= ut+weWw
AER ,ueW = Au= (luy,u,)
Ww.gsAd=-1 4
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Ui = U = (-1) U1S('1).U2 = AugW
L0304 SRZ 4 lad o § W (S andii 4y
rJba
H:= {(xl,xz) € Rzlle + 3x2 == O}
2 S (R R) 4 lzd o fonH
Ja
20+3.0=0=(00€H = H+0 = (uvy)

u=(u;,u,) , w=(w,w,) €EH
= 2u1+3uz=0 A 2Zw1 +3w2=0
= 2 (ur+wi1)+3.(uz+wz2)=0
= u+veH
AER, u€H=>A(2u1+3uz2)=0 = Aue H
568 (RR) 4Lmb o don H o 52t
234 S (R3R)4lad o jbogn Cuwgalh ;Jba
W:={(x1,%2,%3) € R3] (x;)? = (x3)?}
4SA
u=(21-2) , w=(-31,-3) € R3
22=(-2)> A (-3)2=(3)*
= u,weWw
u+w=02-3,1+1,-2-3)=(-1,2,-6)
(12 # (-3 = u+weW
234 (SR3 4 lad o AW o2 53 Jasis
4.2 (s
e H={(x1,%2,%3) ER3|x; = x, = 2x3} > S@si(a)
e
o H = {(x1,%,%3) ER’| Xy = x, = x3} 25 (b)
e
o H={(x1,x%,) ER*|x; =1} s 288 (C)
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2243 S (R?, R ) 4 Lsd oo b
(d)

W:={(x1,%2,x3) € R*| x, = x3}
H:= { (x1,X2,X3,x4) € R* | X1+3x2+2x4=0, 2x1+x2+x3=0}
(R*,R)4ylad e pH 5 S(R3,R) 4 lad e AW 2 SO

23 (S
Lad e pom H = {(xy,%y,%x3) ER3|x; = x,} W 4.3 Gl
02 S R34
A5 v#EO 5 vER? S Lab 585 (RER) 4 4S ;4.4 Gus
&> S Dl
.02 S (RER) 4 Lade o H={Av|1 € R}
1 4.5 (s
alad o o H = {(x;,%2,%3) ER|x, < x5} 4 (@)
22 £ (R3,R)

Lad e o H={(x,x,) ER?|x; >0 A x,=>0}Y (b)
2 S (R R) 4
(c)
H:= {(xy,x,) € R?|5x; + 3x, = 0}
22 S (R5R) 4glad o fonH 2w S @5
(4.6 A
H,={Aw|1eR}s w=(234)€ER? (a)
L S (R3,R) 4 Lad e o Hyy o S s
,0# w € V. s)llai )58 (V,K)se (b)
Glad o fonH, > fass. Hy={Aw|leK}
-2 (V,K)
Sl = (1,23, m) o kb L5850 (V,R) 4.1 Lad
pa W (i€l ) L@l g5 S Valad b W (i€] )
snad W . s W i=NiggW; SV 48 Sny, 03 S 4glad o
23 (S V4 Lad e
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OeW,(Viel)=>0eW = W=+0 = (uv,)
wveW = uvelW, (Viel)

=Sut+veW,(Viel)>u+veW = (uv,)
AER, uUeW=uelW,(Viel)

= AueEW,(Viel) > AlueW = (uv;)
34 Liad o iy pn asac Agglad o0 aladl S iy
H:= {(xy,xy) € R?| 2x; + 3x, = 0}
W:={(x1,x2)E]R2|5x1+3x2 =0}

alad e AWUH Se 0 S (RER) 4 gsbad o 6 W 5l H
4SA w24 S (R%,R)
(3,-2)eH , (-3,5 eW
= (3,-2), (-3,5) € WuUH
(3,-2) + (-3,5) = (0,3)
(0,3)¢H A (0,3) g W = (0,3) € WUH
0343 (S (R? R ) 43 bad o= A WUH (2 53 sy
W P FHCV ) ealaig,s5Ss505 (V,K) 4.2
23 SV 4 Lad e bon H
VuveEH; Alu+uv €H (VA ,u €K) &
P g
wv€EH A,u EK = Au,uv €H
= Au+puv €H [ » Lad o H 4SA]

A,u €K uveH = Au+uv €H
Copa i hpas p=0 4
Au+0veEH= A.ueH
Copagiyg . heay u=1=1 «&
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l.u+lveEH= u+v €EH
03 SV 4 Lad o fogp H o3 58S
2 WU W' S .62 S (VK) 4qggsbad e fosd W W 4.3 W
Wecw v WcecW wesSValad chon
W CEW ot @sishsa WE W (2558 G sise: G
82
WegW = 3IweW A weW
wew = wweWuw’
= w+ w eWU W' [Lad e WU W 53]
gL G SSE Wt w g W S
w+ w e w’
= w=w+w-wew [ &edur,) 2]
BWbw4+ w g W oabow s weglW' Ss
Sw+wewuw w+wew'
=w+wew
= w=w+w-wew = Wcw
I={123,..,r} .0alad s 58500 (V,K):4.4 i
YA Y EV LS5 n. @SV a8y v (TeT)
( Linear Combination ) <S5 b 5,585 v, v, , V3 , ..., Uy
:;_;%Lﬁiﬁﬁ AMyAs Az v, A EK bod a4 S Qi

v= Z/livi = Ly +A40,+ -+ A0,

=1

sdudgn v TET)ST={1,23,..,1} 02bad 55500 4.5 iyad
QS by STV 4 sy gy 0 S Va4 558,
dea 3 S gl S () i€l 2 I 4 (Lin-Comb)
= g asia (Span L generatingby (v) i€l )
spanK((vi) [ € I) = {v e V|, Ay, ..., 4, EK;
v=~4v;+ v, +-+ A0}
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L;\ic&,gspanK Jﬁ&Y}SLgeJ(Field)uLuM}Sq_m@Lﬁ}u}u\d&
S5 span b
duld o v ST ={1,23,..,1} alxd 558500 (V,K) : 4.4 Lad
Tl S Va4 sosSy
02 S Vaglad e e Span(v) (1)
(Viel ) vieWJd SValat ecponn WCV 4SS (2)
. span(v) CW Copa G240 .55
956'4) Alzlzzﬂ.g:"':/‘l,r:o )J)A :CIJ,H:' (1)
0 =0v; +0v, +0v3 + -+ 0v,
= 0 € span(v;) = span(v;) + @ = (uv,)
u,v€Espan(v;)) = I A, u;; €K (i=(123,..,7) ,
V= /111)1 + /12172 + Agvg + -+ Arvr y
U= U+ [V + U3Vsz + -t Dy
u+v =Y () + () = Xiz (A + v
= u+ v € span(v;) = (uv,)
a €K, u€span(v;)
= 3 /1,: EK (VLEI) ; u=/11U1+ /12172""'"" Arvr
= au = (al)v, + (@ )v, + -+ (a 1)y,
= a.u € span(v;) = (uv;)
e (2)
u € span(v;)
= 3 /11, /12, /13,..., }{rEK,
u= vy +4A,v, +--+ 4,1,
Salia A UEW su . v EW (Vi€ o S A
span(v;) c W
S Vg Lad e Ja S 005 span(v;) o> S8 4t adi 4 4 L o
(ddﬁmwdg)gq&ué@ V; d};i@m
R™ 2 span 45,585 3Y S bad 55854 (R?, R ) 2: 4.3 J%
(82
i=(1223,..,n) e =(0,0,0,..,071,0,00,..,0)
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[=(123,..,n) S. a8l Sdaidady j2,1% 0 S)HsSs4 g 2
span(e;)en = R" Cose 624 65
< e, =(01) 5 e =(1,0) CopmI gy n=2 &
x = (xq,%,) € R?
x1e1 + xye, = x;(1,0) + x,(0,1) = (x4,0) + (0,x,)
= (x1,%2) = x
QS Ghiy (i =1,2) € 2x € R? o 8 ¥ S Gy
s Sl IS4 ((lin-comb)
span(e,, e,) = R?

V 4 Q5,585 0,,0y, .., . 03Lad 558500 (V,K) 4.6
o> b a4 ¢ oS dos ( Linearly dependent ) 4l s b S
XY g5 (@ Jad@) dael A, A, Az, .., A EK

(S Bua adal )
My + v, + Azvz+--+ A4, =0
@AY s 4S8, S gty A S5, vy, .., 1 P L)
;Lﬁﬁj Bua o)
M+ v, + A3vg+-+ A1, =0
= 3Jie{1,2,..,r}; A #0
Jis (Linearly independent ) Jiiue i 435,98 v, v,, v, ..., U,
(S5 Bua ed) (oY @L)&Lgaé\_g (S
A, Ay, A K5 Ao+ Ay, o+ A0, =0
= L= A= Q== 2,=0
Y g 4S8, oS diy Jie d S5 K5 p), 1y, ., 1 2P L)
1SS Bua o)
M+ AL, + A3vz+-+ 40, =0
= A ie{1,2,..,r}; A4; #0
v, = (3,6) s v; = (1,2) S lxd 5,585 (R2, R)4: :4.4 Jia
(g2 Al g ad 4ig )¢S
Ay s S aams L, =1#0 A, =-3#0 45 14
P 4SA 62 (lin-dep) aiwl s (b v, o) vy
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—3v, + 1v, = —3(1,2) + (3,6)
=(-3,-6)+(3,6) =(0,00=0
Sv, =(03,4) ¢« v; =(2,0,0) St=ds,ys€s (R3,R)4: 4.5k
&2 (lin-indep) & (Jod 455,585 v; = (0,1,5)
:Ja
Ay, A3 ER, Ljvg+ Av, + Azv3 =0
= 1,(2,0,0) + 2,(0,3,4) + 15(0,1,5) = (0,0,0)
= (244,0,0) + (0,31,,41,) + (0,13, 515) = (0,0,0)
= 24,=0 A 3,4+A;=0 A 41, +51;,=0
30, +A; =0 30, + ;=0
{412 +52; =0 { —114, =0
= A, =0,13=0
= 1,=0 A A4,=0 A A;3=0
= V4,V V3 lin -indep
¢ v =(1,2,3) Sbad 6585 (R R)4 L 4.6 el
.2 (lin-indep) Jiiue i 435,585 v; = (7,8,9) 5l v, = (4,5,6)
@2 i JSI) Ais )55 sy (S Lad 5,585 (R3,R) 41 4.7 Gl
u, =(2,-14,0) , u,=(0,3,-1) , u;=(-1,12)
S (lin-dep ) 4wy s 45,58y uy, Uy, Uz W Ses(a)
2 ( lin-indep ) Jitus s as
@ JBiue ot aS ol (lin-dep ) 4dualy ad 435,585 uy,u, W (b)
V,p,q € Noalad s ,58505 (V,K) : 4.5 Ld
SS Bra M Y e (i=1,..,p) V; €

vevl (1)
v lin—indep < v+0
qzp (I)
V1, V) ey Upy oo, Vg lin—dep & v3,0,,...,1, lin—dep
vevlv ()

2058y (i=1,..,p) v; 2SSy hiy
V, V1, Va, ...,V lin—dep <&
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p>1 (IV)
Uy, Vg, .., Up lin—dep
—

QS i GJ“A E> G2V ")
S390585 505 S (lin-comb)

V1, Vg, ey Vp lin — indep
N Vi1,V .., Vp, Vpip lin —dep
GV, Vg, o, Up 2 (lin-cOMb) S ji b v,y &
n>1 (VI)
V1, Vy, v, Up—q lin —indep < vy,v,,...,v, lin —indep

e d G 3.1 ()
v#0,1€eK , lv=0 = A=0 Vv v=0
Ghd a v Saaiia s A=0 oy 0 vED > aSA
(S 585 Jtiue
w10
V1, Vz, .., Up lin—dep
=3ILEK (i=1,..,p) (@4ia}; Js); X0 v, =0
= L1+ A+ + v, + 0.4, + -+ 0.1, =0
= V1, Vg w0, Vp, e, Vg lin—dep
V1, Vg, e, Up 2 (lin-comb ) S5 G v o 48,8 1@l (1)
SR
IKEeEK (i=1,..,p) ;v=3 A4y
= —-Lv+A4v, + v+ + Av, =0
= V, V1, Vg, e, Up lin — dep
rasd (V)
Vy,Vy, e, Vp lin—dep
= 3IL eEK (i=1,..,p) (notall ,; =0 );
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Moy +Av,+ -+ v, =0

sasase ;£ 0 mabasS jaS Al chymidiuly iy a8 A
S el Ay Addlae B gr 08 SV S G s
Vi = _%W _%vz - A;__ilviq _/1;_:177”1 - "'_%
62 558y o @Sy cha g v o e Al ST
rgd (V)

V1, Vg, Vp lin—indep A vy,0,,...,0,Vpq lin —dep

=33 eEK (i=1,..,p+1) (notall 2;,=0);
?:11/11-171- =0

V; g A sy #F 0k S Al S n 4

GY S o @2 @A o paly (a L;)JSM\)L;L; i=1,..,p)
Sl el Apyg oy e g 5d

Vp

A Ay Ay
1 v1+)l Uyt +A Up + Vpi1q
p+1 p+1 p+1
p _Ai
- v = —). V-
p+1 21_1 lp+1 2
_ M A2 Ap
= - v — Uy — o — Vp

Ap+1
(i=1,..,p) v;> (lin-comb) @Sshs vy, o> @Sy
(S RS
rasd (V)
LeK (i=1,..,n—1); v+ A0, ++ A,_4v,_, =0
= v+ A0+ + AU+ 0.1, =0
= A =A== Apg [ dBae vy, vy, vy S5
= Vy,Vy,..,Vp—1 lin-indep
cxi¥hl, (i=1,..,p) v;EV 5 Lad 58500 (V,K) :4.6 L
16 Jalaa oy Ja oo (o208
. ¢ (lin-indep) ba JEwe vy, v, ..., v, (1)
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V1, Vg ey Up 2 S5 b3 )i o )W) Vv € span (v;) 2 (2)
(53 Agn e )5S
1 gl
Isasao bl v 2AisS i hd s e s (o 58 ad yise (2) &= (1
NN
v=Yb Avi =X v (Am €K (i=12,..,p))
=¥ (4 —p)v; =0
=AL—u;=0(({=12,..,p) [ Jbu biyp 53]
= /1i = U (i = 1,2, ,p)

oo )55 v € span( V) e @S 5 i U s e)ln i o sl Jadg
_&JJ};}A

3553 o Al s G (5 5 TS B vy, 15, ., 1, S (1) &= (2)
558 0B yise (5585 5 )5 S 5 chd 5,585 60 5 Aeadlal 45
0.V USSsaxa (a
AL EK (i=2,..,p);Vi= Vo + A3Va + ... L,V
= Vi —(AVa + A3Va + ... 4,Vp) =0
AESSREEY
0.vi +0.vo + 0.V + ... 0.v, =0
@38 (1) IS g2 2 se isaS 55 Ghd o3 0 585 0 (o xS Jud
3 ot Jie 55,885 11,1y, ., 1 20w .3 S
Jig ad aldl gai¥la by L v, w € R™ ) Lad 5,585 (R, R) : 4.7 L
83 Jaa by
(i) v #0 A ZAkeR; w=kv
(W=k.v >¢S a0k ER 2 38 gz ol p#= 0 Sn)
(i) w#0 A ZmeR; v=mw
(v=mw ¢S wa mER 2 28 oz slw # 0 Sn)
()3 LueR ; w+uw=0 = A=u=0
( ¢ (lin-indep ) Jitus ha 45,585 W 5l Vv S )
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g S Gua (iD) @3S o= gise () &= (1)
w=0 Vv dmeR ; v=mw

; dlla 5l
_Lgddl..'aﬁo_)u(i)d\djsu._w:()_v Q_))mdd@:gg_ng()é\s
C'_InA(.\.g}J

dImeER ; v=mw = m=0 V m=#*0
Shaigoym( i) hbhagSrv=0w=0k.gsm=04
-

. N - 1 -
_qu(l)dt_q);\dﬁa_ggg_:& W:;v Gypa 34 .55 m=+ 0«

pFEOLSA #£0 wb o g4 G (i) S (dii) & (i)
tAls . A FED A IS OB Y sy
—uw
M=—uw = v=——0
S A=020 ouler () A S
MWM+uw =0 = uww=0 = u=0 [w#053]
= A =u=0
b ow SNy Bxa (1) oS (1) < (il )
v=0 Vv 3JkelR ; w=kv
2R Se S 1L+ 0w=0 Qo gy v=0 S
& (i)
clla s
dkeR ;. w=kv = 1lw—-kv=0
()= (iii) ov.e (i) 2% a8 2 Sa
G Ly, Sy Bua ol o Lad (35500 (o 0 ) 5iS 5090 AR Ay 1 Cullaaly
(62 e gt o )5S 50 90
s Slad 65,5585 (R3R) w458 w,v,u s Jba
v=(2,-3,0), u=(8-12,0), w=1(00,1)
v =(2,-3,00 #0NAkER;
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w = (0,0,1) = k.v = k.(2,-3,0)
= v,w lin-indep [ =4 Wl 4.7]

J4€R; u=(8-12,0) =4.(2,-3,0) = 4.v
= u—4v=0 = u,vlin-dep
W, v, V,, V3 (R3R) 4.6 J%
w= (211, v,=151), v,=(091), vs=(3-31)
S R 4 (lin-dep) 4iwls ohd 45,585 vy, v,,v; (@)
G Uy, Uy, v3 2 (lin-comb) «Ssiki o w (b)
A, Ap Az ER pisedaS Sixe s34y ( lin-dep) 4wl s Jha 1agd(a)
SN Bra dilae Y 5l g3 Ha J o> sl
My + A0, + A3 =0
= 2,(1,5,1) + 1,(0,9,1) + A5 (3,=3,1) = (0,0,0) (++)
= (A4,54,,4;) + (0,94,,4,) + (343,—343,43) = (0,0,0)
— A, +31,=0 = 1, =-31,
{511 +92,-32,=0 _ {5(—313) +91,—31; =0
M+A,+1;=0 —31;+1,+4;=0

{9/12 - 18),3 =0
/12 - 2/13 == O
12—2/‘[3=0 = Az=2/13
53 {(=323,223,23) | 13 € R} ssbua da si¥alas a0
/11=_3 j‘/12=2¢,)}-46'34£¢5‘:‘¢‘4‘5 /13=145d‘5~3473du-‘°3
REBTS
o pay S Allaa (k) 4 Adgiad laas
—3(1,5,1) + 2(0,9,1) + (3,-3,1) = (0,0,0)
= (—3,—15,-3) + (0,18,2) + (3,-3,1) = (0,0,0)
= —-34+3=0 , -154+18-3=0 ,-34+2+1=0
$5S Buo dbae (Tom asdlay Ay # 0 dsvag e d o 53 Jaly
(S Ay Al g A vy, vy, V5 13 O
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MSA L5 Uy, Uy, V3 2SS kA o widsd (b)
—1.vy + 1v, + 1vs = —1(1,5,1) + (0,9,1) + (3, —3,1)
=(-14+40+3,-5+9-3,-1+1+4+1)
=(2,1,1)=w
@d\,}s‘-‘:‘-} /12 =13 =1,Al ='1 ;)-.’j““
W = /11171 + /12172 + /13173
62 505851, V,, 03 2 (lin-comb ) @Sy ik s W . @S
432 05y 4l Y Sl g Jitse o—J“A Sy )5Sy vy, V,, V3 Sl
Ay ISb g S 55l v aiy ) Sy Al )
4.8 (noa
@2 (lin-dep ) iy s a3y, 88y a2 Sl (1)
u=(1,2),v=(-2,-4) e R* (

a)
u=(1,23),v=(-1,-2,1),w=(0,0,2) e R® (b)
u=(1,0,00,v=(0,0,2),w=(505)€eR> (c)
@ (lin-indep ) Jiiuwe ha 45,58y sa¥ a2 £ Osd (2)
& R* 4 (a)
us = (3,0,0,0), u> = (0,3,0,0), us = (0,0,3,0), us = (0,0,0,3 )
ur=(1,1,1),u>,=(0,1,1) ,uz = (0,0,1) R’ b)
us = (1,0,0), us = (0,0,2) , uz = (5,5,5) €eR3(c )

(3)
ur=(1,1,1),u2=(0,1,1) ,u3 = (0,0,1) ,w=(1,2,3) €R?

Uz 3 Up, Uy 2 (lin-comb ) S5 b s hiSswa @ S Osd
Q)
aonsh Cy i (4.1) 4> L=d )85 map(RxR) s (4)
Jia ha £ map(RxR) 4 &l 3Y o> S Gal | gt Sk
52

fit) = et fo(t) = e?t
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gy gl oaeld Liad g 4859 0
( Basis and Dimension of a vectorspace )

(I = (V))iep S o585 s .03 Lad 5,585 (V,K) 1 5.1 iyl
a$4 (Generating system or Span) s AV 2 1,2,...,0)
3055V EV A GV = span(vy)ier o> BoS st 4 gt

e @Ay Q8 ISy JSh 4 S i el o 539 65K (1))

VvEV = 3,4y ., A €K;
v=M~4v+ Lvy, +-+ A,
5.2 wiy p
Vaas 5,88 (1=1,2,...,n ) (1)) - o2 bad o585 (V,K) (1)
Do S S iy (Basis) exl
V =span(vy)ie ()
Ay Cuald (lin-indep ) Jsiwe ad 455,685 (1;)ig; (D)
(R, R) 2oxlionaissi€s (i=12,..,n) ¢ €R® (2)
( Canonical or standard Basis ) =& ulul 43 (53 5l 03 Liad (5 )5S
LS s
Qs gy V= span(vy, vy, ..., v,) S 1G4
Sy V aexlon v,v,,..,10, SV =(v,0,,...,0,)
spio e Vo= ((Uq, Uy, ..., 1)) 443
s V= (1, Vg, ., 1)) s Ld 6585 (V,K) S0 5,1 4uzd
V # vy, Vg o, Vg, Vpgry o V) (1)
ploge A ge 438 (a2 dul 5585 Sa S dS v,y L, U, G)
( .s> V2 (Generating system)
Wil 5 ad 453585 v, VY, L, V, VR GBIV EY S (2)
.2 (lin-dep)
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GL‘AQS V 4 e Juld 59850 54 olgi V1, VU3, e, Uy c_s—‘*))
(2 Jiise
oS 0SS5 s S5V = (Ug, Vg, e, Uy g, Uy, o, V) S 188 (1)
PSS s VSl s Sumd r=1 a4l 5l 4
AA,,A3,..., 4, EK ; v, =40, + A3v3+ -+ 4,0,
= (-Dv; +A,v, + 303+ -+ 4,1, =0
= Uy, Uy, ..., Uy lin — dep
4, e si J S (basis) & v, v,, ..., 17, S5 24 Gy ly Sa
V # (U1, Vg oy Upq, U1y ooy Up) S 4235

1(2) @i
V={v,vz ., ) = V =(vq,05, ..., V)
=VveV,3a A4,4,...,4, EK ;
vV =M~4v; + A0, + -+ A0,
= L+ 4L+ + v, +(—Dv=0
= VU,V e, Up, U lin —dep
Ay A Cuald e (had did o pud sy 43 )5S s00 (2 sd dads
$5S05

el Jga 8. s )ls (basis) el s& 8 Y S Lad 5 )5S0 1G9
(S S sa by (S sliad (58S 5 (54 ped g )siSg0

Do) 4,y sl (S laad 5,585 (R, R) 4 i 1 5.1 Jha
e; =(1,0), e, =(0,1) €R?
v, =11, v,=(-12) €R?
R? = ((v1,v,)) A R? = ((ey, €,))
@l R2a{vo,vi} s {er, 01 } =
da
D abo Wl Gl R2 = ((vy,1,)) 2 (1)
R* = (v,,v1) (&)
.2 (lin-indep) Jgiws ha vy, v, (b))
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G (a)
S ox = (x1,%) ER? »oab oG R? = (v;,v,) 2
:Lﬁjdﬁﬁc)n}a\)'; L;JSYJJ\..\Q\ /12 511 ER

X = /11171 + /121]2
x = (x1,x3) = 11(1,1) + 1,(=1,2) = (A4, A1) + (=4,,24;)
= (/11 — A, A+ 2/12)

{ X1 =4 — 4, 1
x2 - /11 + 2/12 '
{ X1 =4 =4
x2 - xl = 3/12
Xo—X
ﬁxZ—x]_:S/’lz = )1,2:%
Xo—X
— AZ =21 N Al - x1 + /12
_ Xo—X1 _ 3x1+x2—x1
T 3
_ x2+2x1
3
x2+2x1
= x = (Xq,%z) = v, + 22y,

= (U, Vy) Sy
98 (b)
LSAL.?‘:’Q)'“ "DL’ ‘}JSJ /11771 +sz2 == 0 ")L}j /11,/12 € R‘)-I)A"\.S
LS'J /11 = /12 =0
/11U1 + szz =0
= /11(1;1) + /’1'2(_1!2) = (/11; /11) + (_/12, 2/12) = (0,0)
— Al_}lz=0 N /11+2/12=0

!
AL+ 24 =0 J
- 312 =0 = Al = /12 =0 = V1, Vo ”n'indep
R? = ((v1,17)) Saa4
o Abe Wl et R2 = ((eg,€,)) 2 isd (2)
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R* = (ez,e1) (C)
.2 (lin-indep) Jiiwe ha e,,e; (d)
x = (%,%;) € RZ8 2ab el sl R? = (eg,e,) 21 @i C)
(S dsmgao pu alid aVadlael A, A4 ER A
X =Ae + e,
x = (x1,%) = hep + e, = (44,0) + (0,4;) = (4, 43)
= x1=A4 AN x,=1, = x=x6, +x6,
= R? = (e, e;)

rgd (d)
@ S Csah sl Ae e, =0 oW A4, 4 ER S
.L“SJ Al == /12 == 0

/1181 + 1282 == 0
= 11(1,0) + /12 (0,2) = (/11, O) + (O, /12) = (Ali }{2) = (050)
= A1, =1,=0 = ey, e lin-indep
R? = ((e1, 7)) S iy
rJba
W:= {(x1,%3,%3) € R®| x; = x3}
2 S (R R) 4glad e pos W
vy = (1,0,1) , Uy = (0,1,0) eEW
s W= <<v1iv2>> C.f\u* 'bjWJDmeﬁ {V2 y V1 } @JMJJ}A

e s A
(a)W=span(vy, Vo)
(b) vy, Vo lin-indep
el (a)

4 x = (x,%5,x3) ER3 a2l oWl W =span( vy, vp) 2
(S Aoy palsd gaVaolel A, A ER
X =/11U1 +/12172
X =(Xq, X2, X3 ) = 14(1,0,1) + 4, (0,1,0)
= (/11’Oa /11) + (Oa /12’0)
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= (41, 2, 14)
= A =X1=X3,4, =X
= W=<vy, V>
Aol A+ A, =0 o 4,4, ER peaS sl (b)
S A=A =0 S
My + A0, =0
= 1,(1,0,1) + 1, (0,1,0) = (0,0,0)
= (44,0, 4;) + (0, 1,,0) = (14, 4, , 4;) = (0,0,0)
= 1,=0,14,=0
= Vi, Vo lin-indep ( Jiius i )
(o Jie (A W vy Vo s w ERY peon S

SV, Vo S hiaw on s QW =<y, Vo > o2 a0A
bl S g2 (lin-dep) 4wl s w vy, Vo S ddled 4.5
W = ((v1,1,)) Saniidg. 622 s diiue Jhd (o2 el 5585

HETo
H:={ (x1,X2,X3,x4) € R* | X1+3x2+2x4=0, 2x1+x2+x3=0}
u=(3,-1-50),v=(-1,11,-1)
H=<<u,v>> S edHooxelon UV oS Db
SV =0,V 0, 1) 02 bab )5S0 (V,K) @ 5.2 4ud
> s S WEV
w=1v;+10,v,++1,1v. €V (1,€K, i=1,..,1)
Qe AT F0 B usdax ke{1,2,...,1} 2
V = vy, V2, ), Vi1, W, Vi1, oo Up))
TS s ab e 3T £ 0 5 k=1 S gise gl
V = (W, Vy, o, Vkm1, Vi, Vi 1y o5 Ur))
veV = 3 u, Uy, ., U EK;

V=V + Uy et U0
W =TV, +ToUy + -+ T,V
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1 T2 T
VI =—W——Vy; — —— U
T1 Tq Tq
_ 1 Ty Ty
U—M1(T_W__U2_"'__Ur)+H2V2+"'+HrUr
1 71 71
u U1t T
= =w-— 12772_"'_ 1Tvr+.u2v2+"'+ﬂrvr
71 11 11
7 BT BT
= Bwt (-2 v+t (1~ )y,
71 71 71

= V=Wwuv,..,1v)
(lin-indep) Jiiuwe Jha 45,585 w, vy, ..., 0 > 5 Csd Al o)
TR
(W EK)  pw+ vy + -+ v, =0 (> 558 2R yise
GR W 2 s 6 WS TV Ty o+ T, o AR
DS
(T + v + o+ 1) + vy + o+ v = 0
=  UT VU + Uty + o+ Ut v + vy + o+ v =0
= Ut v+ WUty + p)vy + o+ (pte + p)v = 0
Db e @ B A vy v, L, 1 2 ASSA
Ty = HTp +Hp = = pt+ . =0
T,#0 = p=0 = P¥=0 = w =0
= W,V,, ..,V lin—indep
SS A4y
V= ((w,vy, ..., V)
oo A aY (Sl 5,585 (R?%,R) 4 i :5.2 Jha
w=(-18), v,=(11), v,=(-12) €R?
sacld o5y g9y Yy sl W (> i gl oS odldil 4AX Ll 52 2 adh
R? = ((W,13)) = s3> R? 2 (basis)
> Qs Al el (S RZ2 = (U, 1)) o> Julse S 51 4
e V2 8 vy S i Jhd g w
A1, LER; w= A4v,+ A1,
dS AW = (X1,X2) 2 Ap,4; 2 SJE 5.1 4
L= A = %le

3
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DW= (-1,8) Sdiegrag i
_8+1 _8-2
2= 73 T2 N AT TS
= w= 2v;+3v, A A4 #0

= R*=((w,v;)) [ Hedz=£52 ]

sV A5 oY (SLad g )iSs (RER) 4 pise 1 JUa
w=(0223), u=(1,001), v=(0110)
e gsassexlion R 2{U,v,65,84 ) o S A (Ll
R* = << U,v,e3,84 >>
DS Cusa g 58
R* = << u,v,e3,W >>
2SI UV,es, B4 2 S i hA W iy g ) & (5l
I ApAsdy ER ;W= Aut vt dses + Age,
(0,2,2,3)=1,(1,0,0,1)+ 1,(0,1,1,0)+45(0,0,1,0)+ 1,(0,0,0,1)
= (14,0,0, 4,)+(0, 4,, 1,,0)+(0,0, 15,0)+(0,0,0, A,)
= (A1, A2y A2+ 23, 44+ Ay)
= A, =0, =2, Ay +As =2, L+ A, =3
— A,=0,2,=2, A3=0, A, =3
Sy ph VS il 5200m .0 1, =3#0 SR
R* = << u,v,e3,W >>
rJla
V:={fiR = R | f(x)=a+bx+cx? (ab,ce R)}
(S Gsbee Lyl S 2 N oAs ) (o 6 s el gl Aaan Y
oxlogn salad s )50 (V,R) > Julsm S daa4.1
b Jiiie i ol 63 1) 2SS Ghd o f €V L 4S& oo {1,x,X°}
ASAS (60
f(x):=a+bx+cx2 =0 (abceR)
o B F(X) 2 as) 03 @i sm 3 0% 4l 4l
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f'(x)=b+2cx=0
fi (x)=2c=0 =¢c=0
b+2cx=2.0x=0 = b=0
a+bx+cx2 =a+0x+0x2=0= a=0
1S Aagi 4y 60 Jiie Jad 1 X, X2 4x b g
(V, R) = << 1,%,X% >>
r e
V:={f:R - R | f(x)=a + bx+ cx2 + dx3 (ab,c,d€ R)}
(S5 Gsbe Lisl 48 3 i (4 0 (o2 62 G sesil sl aan Y
poxclBos palad 5,58505 (V, R) o> dulsse Sdia4 410
4Salas 553 1x )0 2 S Ghd wf €V p 453 e {1,x,%°x° }
(62 Jiiie ha {1 %,x% %7 } o2 Al (S daad and 5 1) 059 yie wronski 2
:5.2 (o
Do) A yeiSs salY (Slad 585 (RER) 4 i (1)
w=(1,-2), =001, v,=(-12) €R?

o3 dasS (2 S D el il 5.2k (55 R? = ((vy, 1)) S
GS 4 (30 4 S5l (5 S (Bra odld) guiY

(a) R*={w,v,)) (b) R? = ({vy, w))
sASSs uY a Slad 5854 (RE,R) 2 (2)
w=(20-10) €R*
Mﬁ;\@ﬁd@ad&\éﬁ‘}!oﬁuﬁ @G}Qﬁ@aﬁd@d 22
S 4 Gua
(a)R* = <<w,e5, €3, 6,>> (b)R*=<<eyq,w, e3 e,>>
(C)R*=<<eq,ey W, e>> (d)R*=<<eq, e €3 W>>

Q

LG (CR) =K 1,0 » > S0nib.3
Lol 5 )50 (V,K) : 5.1 Lad
V=,V ;) AV ={wy,wy, .., wy))
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Viagseld 5 e pned sig)isadmgsn =k 2bysasiy
(63 (sl o (S
Wi, Wy, e, W sl od 0228 o050 V3 0,1y, ..., 1, >4 A s gl
Gs k<r b Acd iy 5130w g0 di Jad a6,
EBR VUL Uy, e,V o) edexlion Vo2 w,wy, ., W, s Al
r=k &S aiiag gyr<k b A =l 51 2 0m ¢ Jiua
R
w2 2 padigis)5iS5 0 gaella ea bl 5588500 (V,K) 1 5.3 iyl
A dien, pioyw dimV 44 yw ol b aga (Dimension )
.S N Sslee el 5ig)5Ss 0 geld [ 2aS g0

V ={v,v,,..,1,) = dimV =n

dimV =o [ S0 2 N> Cusrasr4y]
dimV =n [ G0 N> Qopa 4y
23 R 2ol il e, ey, ...,6, 55 . 2 dimR™ = n Js 4 Jha 2
R? = << ey, €, >> = dimR? =2
rJla
SR 4G e Ao aM (a)
Map(M,R) :={f:M — R}
P(M,R) :={p:M — R | p polynomial }
C(M,R):={f:M - R | fcontinue }

ae s C(M, R), P(M, R) s 2 (aze e Ll 5,58 s Map(M, R) 2
Gl A g (pae pe (o> (63 sl o B
2R A0
Wi={ (x1,%2,%3) € R3 | x1 =x3 }
H:= { (X1,X2,X3,X4) € R* | X1+ 3x2+2x4=0, 2X1,X2+X3=0}
s Sw dimH s dimW
:5.4 (o4
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sia.es Hy:={Alw|[leR} lw=(234)eR3« (a)
S8 dim( H, ) S
b o3 Hy = {AW[lER} sweEV.elais s (V,R)(b)
s Sw dim( Hy, )
i yxi (operation) ke 3Y 3k M(m X n,R) » < 5.3 Jéa
e
M := M(m x n,R)
+ MxM —- M
(A, B)— A+B
: RXM->M
(LA — 1.A
LSS L Gt M e e
AABEM = A+BeM
AER, AeM = A.AeM
Cuie o) 3 pSusie —A 3 A doesSas o> s e X Gl o (M, +)
A4, S Bra a pal A e Ll ()5S0 .60 LS Sk e 3 paie
oo Lad 55850 (M,R) S
03 S M(2 X 2,R) 4 lad o jiog G gui¥la 3Jla

Hi= {4 € M(222,R)|4 = (‘Cl Z),a +d = 0}

_ (a1 by _(az bz)
A_<c1 d1>’B_<c2 d, €H

a,+ a, b1+b2)
c;+b, di+d,

aita,+ di+d,= aat+dit+taz+d2=0+0=0
= A+BeH

A+B=(

e b 1S Qs A s
AeER, AeH = A.A€H
03 S M(2x2,R) 4 bad e o H (S4aama
2= 5l (basis) excldlad 5,585 M(m X n,R) 2 5 )& o)
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55w (dimension)

a2 e 2 ApSusie (i=12,...,m A j=12,..,n) E/ o
L$ss> M(m xn,R) (basis) eaclie s s s

J _ | . .
i —<Z 1 :)

Ll S (Osi) i gl A Ay 22 g 2 adhy

sxcliogaissSsie (=12 A j=123) E/ 2 a st dsadies
0d Liad (5 )5 M(2x3,]R) 2

=0 oo B0 o0 E=G o o
B=0 o0 B=07170 B=G,79

(e sy 2l
M(2 x 3,R) = span (Eij (=12 A j= 1,2,3)) (a)

(lin-indep) Jitws b2 E/ (i=12 A j=1,23) (b)
R RPN
Ci(a)
A€ M(2x3,R)

A_(an ai2 a13)
a1 QApz dz3

Isase o pald XV 2 (=12 A j=1,23) ¢; €R el ab
Ty
A=cy El + B2 + c3ER + 31 E} + ¢30E2 + ¢p3E3
. (C11 C12 C13)
\C21 Cp Cp3
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(a11 aqz a13)

(011 C12 C13)
az1 dzp Q3

C21 C22 (23
= Q11 = €11, Qg2 = C12 ,Q13 = C13 , Q1 = Cp1
Q2 = C22,023 = (23
D53 E] 2 (lin-comb) «Ssbd 54 € M(2 X 3,R) » oy

M(2x3,R)=<E/ (=12 j=123)>
s ¥l Y e aS rasdi(b)
c11Ef + 12 Ef 4 ¢13E7 4 1 EG + c30EF + ¢33

=(o 0 0o
=iy o o)ty o 0)*ly o o
8 Dl $ Dl 8 9
=(0 0 0)

= (o e )= 0 0

=> €11 =C13 =C13 =Cp1 =Cpp =C3=0
= E/(i=12 A j=123) lin—indep
Sobue el 51 )5S 93 saelBaliad 558 M(m X n, R) 21 5.1 ¢8
S i SHnas dim(M(m X n,R)) =m.n &=e mXn
dimM(2 x 3,R) = 2.3 = 6
Ns)585 Ay, Ay, e, Ay S bR GOSSs @ (R R) 2 415045:5.2 Qg

DSy q; 2 Y Sy W= span(aq, ay, ..., ay) 3 sAs
D oSals Jga oY 4y IS 4y 80 e
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A1 - Qin
A=< : : )EM(an,R)

Am1 - Amn

SHA IS )5Sy (ohe) S5l 6 a; = (A, ., Qgy) AR
ea¥ 2 (S Lad o885 (R R) 4 45,5585 e2cld il e, ey, ..., €5

S IS 8 e sl
1 - 0
En=<5 ) € M(m xn,R)

0 - 1

s ¥ 4 b Jiugl ) IS8 () (Gobe) S 4 oSy 4 248
biy e e e by
0 by, o e o by

B == 0 0 b33

0 v v by o b /

s (i=1,2,...,r) bi = (bil""'bin) il
4558 5 4da g e 428 3 (3 e 3 DA xSl AR (S S ) 4y
ohd Sale pdds 455,985 s 41 2 G e (lin-indep) Jiiee ha
s (i=1,2,..,1) ¢ ER psaSaSX g2 S
Clbl + C2b2 R CTbT = 0
= (c1by1,¢1by13, o, €1b1y) + (C2ba1, C2by3, vy C2boy)
+ (c3b34, c3b3y, ..., C3b3y)
+ .... +(¢;byq, Crbysy, oy b)) = (0, ...,0)

= Cyby; + C3byy + C3bgy +----- +c¢.by =0
> A
Cobyy + C3b3y +----- +c¢b.; =0
= ¢;b;; =0
= ¢ =0 [ by #0 &8 ]
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c1bip; + by =0 = ¢, =0
S A4y (5 J S )5 4l Jgo s 4 4S
c1==¢c,=0
(lin -indep) Jitus b Sl d jeddy 7 sd Qs O
S
245585 Ay, Ag, e, A S (> 315555 BV S U9 oasee 4 1 5.3 Cs
OS2 A ) ks 4y S e a5l (L3 Sy US4y S e 4
Gy e WA s S B4 Jdd e g SdinS B
W :=span(aq, a,, ..., a,,) dexx@ o5 2 by, by, ..., b, 43
NCEDE
Gllee Y 12 eabiad 5 )5S0 (V,K) :5.4 iyl
slee Jledia 535,585 ay,ay,...,a, €V x
wobesia ( Elementary operation )
S 5058y 933 Jamansad gl Al ()
sy 0 #F AEK 2,585 s dsS cpa (ii)
sy psSgdiolnglom 0 = AEK 2 )5Sy wd2dsS cpa (iii)
JsS pen
Sllee Sledia (D), (i0), (i) 2 .02 Lad 5585 05 (V,K) © 5.3 4pad
o35 span (aq, ay, .., ) S30 55,585 a4y, Ay, .., A €V Ly Gubd
P RS
1<i<j<k si,jeEN , 2eK s
Lo aly (i) e Jladia
(i) ke lasia
VE span (aq,ay, ..., a;, ..., Ax)
= 3 Wy, Uy, U EK;
V= Uay + Gy + o Qg e Ay
= H1Qq + Gy + e F %(Aai) + o g
= VE span (a4, a,, ..., Aa;, ..., a;)
= span (a4, ay, ..., a;, ..., ) € span (aq, a,, ..., Aa;, ..., ax)
VE span (a,, a,, ..., Aa;, ..., ay)
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= 3 Uy, Uy U EK
V=pay + pap + o+ p(ag) + 0+ pay
= 10y + poay + o+ (Aua; + -+ weay
= VE span (ay,a,, ..., a;, ...,Ax) =
span (a4, a,, ..., Aa;, ..., a;) € span (a4, a,, ..., a;, ..., )

span (a4, a,, ..., Aq;, ..., a;) = span (a,, ay, ..., a;, ..., Ax)

VE span (a,,a,, ..., a; , ..., i)
= 3 Uy, Uy U EK
V= UGy + fpay e+ pag e fgeay
= W1 Qq + fply + - F ﬂi(ai + Aaj)
+ -+ (,uj - A,ui)aj + -+ pugay
= ve span (ay,ay, ..., a; +24;, ..., q, ..., a)
= span (aq, a,, ..., a;, ..., ax)
C span (al,az, -, a; + Aa;, ...,ak)
VE span (al, ay, ..., q; +Aaj, ..., qj, ..., ak)
= 3 Wy, Uy, U EK;
V=pa; +ppa, + -+ pi(a; + 1))
ot pwia e+ gy
= 0y + 20y + o+ pag o+ (i + A
o ey
= VE span (a,,a,, ...,a; , ..., Ax)
= span (al, ay, ..., a; +a;, ..., ak)
C span (a4, a,, ..., a;, ..., i)

S Al 4

oy r}
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Span (al, ay, .., a; + Aa;, ...,ak) = pan (a,,a,, ..., a;, ..., Ay)
A€ M(mxn,K) :5.5 il
i sy ro, € K™ 4 (rOWS ) (S oS e A D yise
e lad 440 sio e C,Cp,...,ChE K™ 4 (colmns)
s52 Span(cy,Coy,...,Cn) 3 S K™ 424 Lxad e 8o5span(ry,ro,...,Mm)
=S ) row subspace 2 span(rq,ra,...,Mm ) .03 S K™ 4 lad o 58
e sm o [S(A) A ard yisas) gopbasia (Lad o

rs(A): = span(ri,ra,...,Mm )

4 (L=d e ) Column subspace = span(cs,Co,...,Cn)
[t g oy CS(A) 4z ard gl spbha g
cs(A): = span(c4,Ca,...,Cn)
PN P
cs(A) = {Ax |[xeKn} | rs(A)={x'.A |xe K™}

(S, ) column rank s (<SG 50S) row rank :5.6 i
2 (S et J g g1V 4y

rk(A) = dim(rs(A)) , rkc (A):= dim(cs(A))
.s2row rank 2 rk, s column rank 432 rkg
o3 i 48 A 4 i S span 4 o> s el (=853 2
ohd 3 4aa 3 (5 ghasa TR(A) O sie A 33 Gy b Gl e lasia
siu (lin-indep) Jiiwe had 3 s sbue rhg (A) 5 oommed KUl sl
SN Bua hil ) uY (S S e gy (S s e el ((Gsia)

rks (A) = dim(cs(A)) = rk(A) = dim(rs(A))
r(A) 138 o ad g5 .62 s o pm TK(A) 5 kg (A) o> 4854
rk(A) = rke (A) = rk (A) s . 55l

el (08 S L) giie JEie el 24z 3 sl rank S A s 0 o
50585ay,0y, ., 0 EV 2 5 Lad 558505 (V,K) 4S Gz .52 o
SO oY de Y 4 Rank oS Al s A oSy adag e

Rank(A) = dim(span(al, Apy ey ak))
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sl i)y guY (S slad 5985 (R3,R) 4 :5.4 Jba
a; =(1,2,0), a»=(2,0,1), az=(2,4,0)
D e g3V 4 g ylas 585
1 2 0
A= (2 0 1)
2 4 0

et JSS S0 e B o A 4y )y Gkl yisiblee Sledia o

1 2 0
B = (0 —4 1)

0O 0 O
(6 e A A D053 dgadija o oS4 S k0B
322 ers(A) = span(ayg, ay, ag ) 2 el o s
¢ by =(1,2,0) s ea( Ld = s hu) Row subspace
325> TS(A) dexelonais )85 b, = (0,—4,1)
s> Rank(A) =dim(rs(A)) =2 S 44
58 1 rank oS sie Y 2 gyl e 1dlia

1 1 1 1 1 1 1 1 1
A=<2 2 2) - (0 0 0) - (0 3 6)
3 6 9 0 3 6 0 0 O

2 sk A drank o gl (S Jite (ad 2 8 Sle s (2 4 A
8

o3 lmd 658500 (V,R) :Jba
0+vevV (a)
H:= span(v) =<v>={weV|lw=4Av, 1 €R}
Rank(H) = dim(span(v)) =1
S oS e b e (s A 5l i8S Sl vy v, EV ()
H = span(vy, v;) = (vy, V)
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== {WE VlW == /11171 + /121]2(/11,/12 € R)}
Rank(A) = Rank(H) = dim(span(vl,vz)) =2
DN s sSs saY (S lad 6,585 (R R) 4 5.5 Jba
a, = (0,0,0,2,—1) a, = (0,1,—-2,1,0)
a; = (0,—1,2,1,—1) a, = (0,0,0,1,2)

cSopestae Jgo 1Y A4y Sy e ada gy je (5 528 0

0 0 0 2 -1
{0 1 =21 o0
A=lo 21 2 1 1]~

0 0 0 1 2
01_210J
0 0 0 2 -1
0 -1 2 1 -1/1 ~
0o 0 0 1 2

01 =2 1 0

00 0 2 —1
Z 1o o o 2 -1

00 0 1 2

01 =2 1 0

00 0 1 2 \-2
H0002—1‘J'2'

00 0 2 —1

01 =2 1 0

00 0 1 2
’"’0000—5_1_‘

00 0 0 —5/ <«
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01 -2 1 0
00 0 1 2)\_
2100 0 o0 -5/758
00 0 0 0

A Al D 53060 pard@dd o oS4 S0k B2

Lad e W = span(aq,a,, as, a,) 2> ox .2 (lin-indep) Jaiwe

S b, = (0,0,0,1,2) « by = (0,1,—2,1,0) ix:. e3sclios

Saadia sy W2 22l o5 by =(0,0,0,0,5)

Rank(A) = dimW = 3

o)< aY (S Lad 5585 (R, R) 4 il
a, = (1,2,0,2,—1) a, = (2,2,—1,0,0)
a; = (=2,-2,2,—4,1) a, = (1,2,0,4,—1)

cSs S e dlag e 5 Sl m o (a)

s S rank(A) (b)

S 1w (basis) =8 H :=span(a,,a,,as,a,) o ()

s Sl dmH (d)

: W . A€ M(nxn, K) :5.2 L

rk(A) =n < det(A)#0
3 K(A) =N o> SOl s ldet(A) 0 1, g
e Cysa g4y s rk(A) =n 4S
rk(A) #n = rk(A) <n

2433 A S0 5o (elem-trans ) sihlee Sledie 5 4y )5 Al G

@ AR s e sl (24 e o) ) (1) AT Y (S0 e
($3siam g 5 se ABH(A) M o 6585 4 45 Calise i el
3 TK(A) = N 3L O L 03 (e p 2 DA 1 (o2

.
n « -~

> s Al G rK(A) = N s ik " s
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& det(A) % 0
Shlee Al 2 580 e A 2 g3 Y S L ark(A) = n >SS A
A o palic ok a5 S b B SG i (o 4d sk g4y Gl g

Lsd _)s.m Q
/ A \
U
B — 0 0 /13.
o 0 0 -~
0O 0 0 0 .
00 0 0 4,

B Wiy, Wa, Wy, Wy ¢ 22l 558505 (V,KK) @ 5.4 4pid
S (S V wdigy € (lin-indep ) Jitae
. gy V=<<vy, Vo, V3,0,V >> 4S
V= <<W, Wo, Wa,uco.., W, Vptyeot, Vi >> A N1
$opS edléiil 43X 4 )l complete induction 2 el sl 1 gl
& 2 e A glla Y s 1 complete induction 4
SXs3xaybod N=0 2; clla g 4al
SN Bras )l N-1 2 Suaf yis: @l angs
SR Gramoild N 2 SOl ala Ay
ool N=0 24538 o il s Al (gl
<< Wi, Wa, Wi ,eeeery Wiy Vingtyennny Vy >>

= << Vi, Vo, Vg, ..., Vy >>
s 0 r
S Buan-1 > Soa pise 1 Glaag

Wy, Wao,....., Wy lin-indep = w;, wo, ..... , Wp.1 lin-indep
Do e dl Ll 45 0l o4 ke 4S 454
Wy, Wo,....., Wos lin-dep = wy, wo, ..... , W, lin-dep
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e owadainduction 2 s Y S Gu e (i i 0 IR T Sa

Sl

V=<< W, Wo, Wa,.oo.., Wnet, Vi yeen, Vp >>
N—1<r = 5y Aed sajiinduction 2 alla gy
Gxa V= <<W, Wo, Wg oo, Wpi>> 30 s N—1 =1 &S

A e, G e O (Sanal 514 e DA a3 b Sk s S5
e sajdinduction 2 (2 A NS rssd by s n-i<r

3 4,45, 45, ..., 4, € K;
Wp=Awi+ AL,w, +..+ AWt A, v+ + Ay,
Copadd SR g SO Buadls A = A == 4. =02
PN
Whn= AWi+ A, Wo+ ...+ Ay Wy
= W, Wo, Wsz,....., W, lin-dep
Aase (i=n,n+1, ..r) A #0 20b 0w .63 (a2 @A Sa
el uamd 523 s) 5 SAaml A £ 0 4 GV S e, s
DS A Al s S s e V2 W, 5SSV S
V= << Wy, Wo, Wa,.cco., Why Viptyennny Vp >>
s A Sbad 5985 (RY,R) 4 s :Jba
u=(1,0,0,1) ,v=(0,1,1,00 € R*
(lin-indep) Jiiue (od 45,5585 v 5l U o258 Gsd 58 VS Sl 4
54204, 6 R = << €1,65,63,84 >> > s 155 Ll 6
;sibd\;iw‘ﬁeacd@;@é

R* =<<u,\v,eses >>
2L M e N o e Liad 585 o (V,K) 5.3 Lad
D e o dig Al o38) ga¥bh b dimV = n
V = < Uy,Uy,...,U, > (1)
2 (lin-indep) Jitwe (s 435,685 Uy,Up,...,Un  (2)
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o

< g
(2)=(1)
b Lo A8 S (el 435, S Uy Up,.. . U s AS
Uq,Us,...,U, lin-dep
= Uy,Uz,...,Un,Unyq lin-dep [ Wd 4520 ]

S 1S Jite i Ly (5305438 ) a) jed 5,65 048 iy
BA | HaSadi n A el o)y Jitia ad o gl 85 485l
2 (lin-indep) Jeiwa s 435,585 Uq,Up,...,Up 02 . 2 dimV =n
(1)=(2)

N4 Jitue i o g )iy garolml pu gy dimV =n 40 A
L A las Gl 432

dmV=n A ueV = ujy,Uy,...,U,, U lin-dep
50555 Uq,Up,...,Un 2 (lin-comb) S5 i su Aeaddlal 450
S T INE-D
V = < uy,Uy,...,U, >
e dimV =N (> sdon g dS o il asiiaal Lol ()54l
Oy g RSN
(a) V=<upUy..,Uu,> & V=<<Uy,Uy,...,Up >>
(b) ujUp,...,uy lin-indep & V= << uy,Uy,...,U, >>
oalmd 5 )9S5 am e s (W, K) @ 5.5 4pd

Sy Gy g9 9048 G g ) 935 Jila (ol 2 a8 SW 4 (1)
o las s W (basis) exxlE

e84y ¢ b J S )y D g Jgd Al Cuw a9y S0 SW 4 (2)
W aspan s 45,585 13 o2 lad g4 8 las i W a (basis)
Ex)
Us,Up,...,Ux EW gl (1)
Uq,Up,...,Ux lin-indep
= W =< uUj,Uy,...,.ux> V W # < Uuq,Uy,...,U >
W =< uy,Uy,..., U >
= W =<<UgUp,, Uy >> [ Sie dLd5.2 5]
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W # < up, Uy, U > = 3 Ui€ W U & span(uy,uy,..., Uy )
G4 B4 (ouid S ASA | (6 (e had 435 ) 585 Uq,Up,..., Uk , Uks
(e .Y U U, Uk S S5 ohd o (Al 4.5 5 Uy D)
U1,Us,...,Ux , Uk lin-dep
= 3 a,ap,...,ak € K ; Uk = ajUs+ QoUo+...+ axUk
0% .62 S i 4y 0y Uy, 1€ SPaNn(Uy,Ua,...,Ux ) 2 125
.62 Jiua (A Uy, Uo,.. . Uk, Ukeq

U1,U2,. .., Uk, Uk+1 Q) &3473(..5) W=c< Uq,Uz , .o U Uk > S
G.'a_.g_‘ugub a8 0 aWaoaeldo g

W # < Uq,Us,...,Uk , Ukp1 >
3 G )5S 5 Jiiune had & 55 S ) 4alal (5 )5 4nh i 450 ) (T
ol o Cus 5989 5 5090 Chgdrd 4y, (o (5slum o Cuw SPAN
s> Wa (basis )

.2 W = < U Up,..,Ux > o> 5S saiyise s Ggdi(2)

48 s34 basis 2 W . (lin-indep)  Jéius (aa 435 685 Uy, Uy, ..., Uk
b 5058y )5 )5Sy p Al 54 2 sa a4 g4
Cypa a6y Up deed Jha HeiSelaas | (g2 s i

3 ap, as,..., a € K; Uy = asUs + A3z U3 + ...+ akUk
AR
ue W =<uyUy,...,U >
= 3 by, by,..., b € K ;u=Dbyus +bsus+ ...+ beu
= U =Dby(asus + @z Us + ...+ akUx ) + b2 Uo + ...+ byUuk
= (byaz + b2 )uz + (b1as + b3 Jus
+ ... +(b1ak+bk)uk
= W = < Up,U3,...,Ux >
G ara B aio l HHply g4l JBua Tl aa L Up,Ug,..., Uk 4S
(e (g sbe oy T SPAN G 5) 58 5 Jlise ad 3 A& 55 S )5 4l
L s bad o panaa H ol Lad )5S adma o5 (V, K) 4S 10sl
dimH < dimV
to N s e, euY (Sl 55854 (R, R) 2 s 5.6 Jba
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u1 = (1 5-255’-3) ’ u2 = (0’1 51 ’4) 3 u3 = (1 50’1 ’0)
W:= span(us,uz,us )
S oS i adag e gy HHpa AaS

1 -2 5 -3
<0 1 1 4 )
1 0 1 0

GV IS oY b ol S e (4 4 oS yie A 2 aS

A

1 -2 5 -3
u=(0 1 1 4
001%

Js g D5y adaa (gl 5l o0 Jie (ad 0 S8 50 (S oSy U2
S
Vi=(1,25,3) ,v2=(0,1,1,4) ,v3= (0,0,1,2)
span(uy,us,us) = W = span(vy,vo,vz ) [ 4l 2a853 2]
= W = << Uq,Up,U3 >>
A W=<<V,Vo,Vs>> [ Aedd Ll 52 2 ]
= dimW =3
L. bosde 438 (1 %0 ) Uy =(0,0,0,1) 2 om fsie U2
26 e (hd 25 S 8 U
V1,Vo,V3, V4 Iin-indep
= R*=<<v,Vo,v3, Vs >> [ d Wl 52 2]
sy o) o J S )y Qg aiy ) siSy e ol s Jas g JUe (T
s i (basis) sxcld
s S Gukiawnib 5 e S i a4 157 Jha
Up = (3,2,1) , Us = (1,2,3) S Limé 5,585 (R3, R ) 4 s
sl R3 2 (basis) sl g Sa o Jiiua o Uy 5l Uy s 45,585
5058y Joie hd 2 Al o 3 34 sk R3 2 (diM) 2 S& S
o4 aS 3 Al el
R3 # span(u;,u,) = 3 u€e R3;u¢span(uy,Uup)
oSy mdeaa U= (1,1,0) > o5 Aapsem Sl 4
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L, s deara aS U g span( Ug, Up ) o
ue span( uy, Uy )
= I, 4, R u=4U1 + 4,Up
= (1,1,0) = 1, (1,2,3) + 1,(3,2,1)
= (A,+31,,21,+ 21,,31,+4, )

—
A+ 31, =1
20+ 21, = 1
34+, =0

Do JSE saiY eSy sie b g pe sVl ()0 2
1 3 1 310 3 1 0
<2 2 1) ~ <2 2 1) %<O —4 1)
3 1 0 1 3 1 0 -8 1
3 1 0
~ <0 —4 1)
O 0 -1

Saaiia, g lada AVl HHn o, @1 AU S 0= -1 S5 A
.24 ue span( uy, Up)
2y a b aS (g (lin — indep) Jiiue (i 435,585 U 5 Up, Ug 2
reaed Ll 45
Ui, U, Ulin—dep = Jaj,az€ R ; u=ajus +as
= u€espan(us, Us)
Joise d U sUp, U b 0w .6 U 2 il o DA Ty Ka
> Sy s @S Al 52 2 65 (lin — indep)
R3= < uy,Up,u >
it o0 R3 2eaeld 5 435,985 U sl Up, Uy S 4a 4y,
R3= << Uq,Up,U >>
S50 (basis ) sxclisnaSi & a ariigay e S 24 5.8 J4
i Y Sy Lad oo 2

W:= { (X1,X2,X3,Xq) € R* | Xo = 2X1 }
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so Sl s gaclis o0 S RYfglad o pon W o S Jad
4, s Salanlag u=(1,2,0,00e W d}é‘*—,}d&dgﬁjﬁ_}m@)}:\sj
€3 S ¢ (a4 Jali S Wa 45,88, ey ey el il o S R
B Ay ) S €s5€3,U @w&‘-‘-‘sc—’}“ Sl 4 &Jdﬂwe4 B)
2 W=<u,e3,64> 24 Ld 5235 4.2 (lin-indep) Jéiws
s ed Woaeaelion Saniiay 5,S
W = <<u,es,e>> = <<(1,2,0,0 ), (0,0,1,0), (0,0,0,1) >>
A dmW =3
o A s g2V i se 15,5 (i
H:= { (X1,X2,X3,X4) € R* | X2 = 2X1 }
W:= { (X1,X2,X3,X4) € R* | X1 = X2 = X4}

V:={ (x1,X2,x3,X4) € R* | X1+3 x2+2x4=0 , 2x1+x2+x3=0 }
S Rt ggbad o AV IW.H s S0 (a)
s SwVIW.H > (Dimension) x (b)
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Juad

48 gada glad o0
( Sum of Subspaces)

4 gsbad e A HHy, L, Hy sl baigosSs05 (V,K) 6.1k
LSV

Hi+H,+Hs;+ ...+ H,:=
a5 4 ( Sum of Subspaces ) 4c sane 3Ll o )80 4e gana )5
@
S Vst o B Hy « Hy 5l baad 5585050 (V) K) 2 6,148
03 SV 4lad o fon Hi+Hy 4l Ly (g2
uTEK 1 gd

0€eH;,0eH, =0 H;+Ho=H;+H, # @
uve H; + Hy
=3I uy,vi€EH; A T U, VoE Hy, ;U= U+Us A V =Vi+Vo
= tu+ puv = 7(Ui+Uz) + u(Vi+Va)
= (TU1+uV4) + (TU2+UV2)
TU+uVvy € Hy A tus+uve € H, = tu+ uv € Hy + Hy
L3 SV glad e fon BAedladd 4y Hy + Hy Saaiyg

@S Vaggshad o8 HyHy slbad 58505 (V,K) : 6.1k
:gd&dma‘)ud,\ﬁdggd\é\ggﬁ‘ﬁh\,g $s V=H;+H, as |
(1) HiNH,={0}
(2) VVEV ,H!hl EH]_ /\3! h2 EHz;V=h1+h2
(3) 0# hy €H; A 0 # h, EH, = hy,h; lin-indepinV
D g
>S5 o Wy EHy SlwiEHy g aS: (2) < (1)
= g;‘:‘ V=W;+ W
W1+W2=V=h1+h2 = hl—W1=W2—h2
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hy € Hi, hoe Ho, wy € Hy, woe H, = -hy€ Hy, -wy € H;4
= h;—wi;=w,—-h, €EH;NH,={0}

= h;—w; =0 A h,—-w;=0

= h;=w; A h,=w,

A ow g4 (lin-indep) Jitue i hy ¢ hy 451 (3) < (2)
AR5 5S5 c0dl o Al 450 S O)pa gy gl Jha
Dt 6 Ny 2 @S 5 GhA gy (o S G e 6 550 S i Ghd
=W EK, h1=ﬂ.h2 = h1—)lh2=0

w2 V=Hi+Hy \}5&4
oeV = JIw, €H;, AN dw,€EH,; 0= w  + w,
h1—)lh2=O=W1+ Wy
Lﬁjdﬁ-‘““uk“ hy s hy AL ow .62 (2) 2@a b Ss

PSS s VS 54 HinH={0} «: (1) & (3)

JveH, NHyv#0= v+(—1.v=0
= Vv, -V lin-dep

Sy HinH={0} abow. o Salaiag s m(3) 20 S

D) padia 4 ly LI ah )R 24l jed bl e BaaS T Qg

> 9o s P e diey a4 Jibaa oy gadl (3) 5 (1) Wl 6.1
- - - . 2 -, 3

p2eld bl s 58503 562,81 SRS (R, R) 4

3
R =<< epey, e3> = s (canonical basis)
L;udsb}djégﬁl’y‘\-’ H3 }\Hg ,H1 4S

Hi = span(es,ez) , H> =span(ezes) , Hs = span(es,es)
F S R 4y s e g aisin s Saedl Ll 4.4 5
c8a L 2 Hy nHon H3={0}
X = (X1, Xo, X3) € Hi N HoN Hs
= 3day,a,,by,b,,c1,c0 €E R
X=a,.€1+0ay.62 = bl' €o + bz. €3 =C(C1.€1+Cy. €3
= (X1, Xo, X3) = (8.1,0,0) + (0,82,0) = (0,b1,0) + (0,0,bg)
= (C1,0,0) + (0,0,Cg)
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= (X4, X2, X3) = (21,82,0 ) = (0, by,b2) = ( ¢4,0,c2)
ﬁ(a1=0, C1=O) /\(ag=0,b1=0)
/\(b2=O,C2=O)
= (X1, Xo, X3 = (0,0,0) — H1 N Hgn H3 = {0 }
dﬁm‘,-la'sé]R{g 4 e, € Hy; ) e, €H, , e; € H; %
sAsadal ) gAY o) T, T,, T3 ER 2 HisaSaSAa | 245 (lin-indp)

T1€1+Tr€e,+T3e1 =0
= (14,0,0) +(0,1,,0) +(7t3,0,0)=(0,0,0)
= (14 +13,7T,,0) = (0,0,0)
= 17 +13=0AT1T, =0 =13=—14
it g da il )l (e ) 5

SLE(x,y,z) = {(t,,T,,T3) € R3 |x=1‘1 Y =Tp ,Z =Tz }

= {(t1,0,—7¢}
Sanfiay o) AL YT, = -243i4amal Jdaayr, =248
Lo (o5 ) asi 24l juad gl o 8048 oo ol dady (o4 Jitue ad
(g4 dlaa oy g3l (3) 5 (1) 2y sam dka 4

( Dimension Formel) : 6.2 4uxé

Hi,Hz o ¢4 ( Dimension ) s g o2 bad 555850 (V, K)
. SV g gshad o B

Dim(H;+H,) = dimH; + dimH, —dim(H; n H,)
(o> S U pge 1gd
H; N Hy, =<< Vvy,Vo,V3,...., Vg >>

JSS Y (Basis) sl Hy s Hy 2 53 ¥ S Aaal xd 540
MEBT BEX

Hy = << vy, Vo, Voo, Vi, W1,Wo,....,Wp >>
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Hg = << Vq,Vo ,V3,....; Vp,Uq,Uo,....,Ux >>
D> s S Qg Al )
H; + Ho = << vy Vo ..y Vin,Wy,Wo,...,W,Uq,Ug,..., Uk >>

D Gast Al ey
(a)

H; + Hy =< vy ,Vo ,V3,..., Vin,W1,Wo,...,W,, Ug,Us,...,Ux >
Jiiie i Slaad 55854 Hy + Hy 245,58 Jiysm (b)
@2 ( lin-indep )
1 el (a)

hEH1+ HZ = 4 h1€H1 A 3 hZEHQ;h=h1+h2

ou.2 Hy = < Vi, Vo, Va,eeoy Vi, W1, Wo,. W, > (o 4058

I7,u €K (i=12,...,m Aj=12,.,n);
hi= T,Vy + ToVo+ ... TyVim + g Wy +ly Wot ... + [y Wy
(G N H2 = < Vi, V2, Vs....; Vm,Uq,U2,....,Ux > 45\.1)‘.3&

3,0 EKGE =12,..,m A j=12,...Kk);
Mo =Ty Vi + Ty Vot oot Toy Vim + flg Uq +dy U+ ... + [y Uk
= h=hy+hy = (1; + T)Vi + (T, + Ty)Va + ...
+ (T, + Ty)Vim
+ (g Wi+l Wort ... + [y Wy

+ [11 U1 +‘Ll2 U2+ e + ,le UK
= H; + H, =< Vi Vo ,...0,V,W1,Wo,....,Wy, Uq,Uo,....,Ux >

Dol s aS el (b))

T1V1 + T2V2+ vam + 'Lll W1 +‘Ll2 W2+ e 'Lln Wn
iy Up +lp Ut oo+ e U =0 (4)
Vi=T1Vi +T5Vo+ . +T;Vim + Uy W+l Wot ...
+ l/ln Wn e H‘| (**)
=V + Uy Uy +ly Uo+ oo+ 1y U =0
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=>-v=/,t'1u1 +,u'2u2+...+,u}(uk = -VEH, = VvEH,
= veEeH NnH,
=37, €K (i=1,2,3,...,m);

V = T;Vi+ TV + T3V3 +eeect Ty Vi
4l o, )l 0%l (lin-comb) @S i ad sdaid deal Ll 46 o

$3 1 = Uy == fly =0 Sl (4)
Dot U5 50y Ly alilaa (1) 2
TiVi + ToVo+ oo TV + U3 Ug +5 Uot .. + i U =0

b om0 Ho 2 (basis) sacliosnaiy)siSy s o 44
b g .2 2 (lin-indep) i

Ti= Ty=...=Tp= 1= U= ...=4;, =0
DSl s VS Gag) s Qs aa (D) S aatia
dim(H; n Hy,) =m, dimH; = m+n, dimH, = m+k
dimH; +dmH,=m+n+m+k=2m+n +k
dm(H; + Hy)=m+n+k=m+n +m+k—-m
= dimH; + dimH, —dim(H; n H;)
a8 By

(a)
Hy:= {(x1, %2, %3 , X4, X5) € R| %1 = x5}
Ha: = {(xq, %2, %3 , %4, x5) € R*| %7 = x3}
w22 dim(Hy + Hy)

FEASVAH Hy ol Lad g)sSsmpmenesns (V,R ) (b)
S dim(Hi+Ha ) =12, dim(Hin H2) = 3 45, (3 (s sbucd
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s dimHy W ey H, - (Basis) p2cd 5 g { W5, Wyg, W3, Wo , Wy }

4afive ) direct product < (V, K) bad s 558505 6.2 iyl
@Lﬁddq . LSJJSJJJJMGGJS H1,H25-"-’ Hnd(mw

(i) V=Hi+Hy+...+H,
(i) hy€H;, h#0 (i=1,2,..,n)
= hy,h,,.....,h, lin—indep
Gy N=2 4 5800 V=H @ H © ..... O Hy 442 ise
Hi NnHo={0} B (ii) 248 S liS Aaallad 6.1 3¢ ) 5a
©$S5 Bra

(dimension) e e > 03 lad 558500 (V,K) 6.3 And
e oy o g ad (28 g2 oLy (g2 V 2 s sbad e B Hp Hy 5l s A

T
(a) V=Hi®H;
( b ) H1 = << Uq,Up,...,Un >> A H2 = << W{,Wo,...,W, >>
= V = << Uy, Ug,...,Un ,W{,Wa,...,W, >>
(c) V=H;+H; A dimV =dimH; + dimH,
T g
(b) < (a)

V=Hi®H, = H; nHy ={0} [ Ay
= dim(H; NnHy) =0

Sy sl Y S A ki 540 G

V = << uy, Uy, Usy....y Uny We,Wa, W3 ,....,Wp>>
(c) = (b)
>t Csiab sl e Hi + Hy © V(2 5o s S
sV C H1 +H2

veV = Jt,u;, EK(@E=12,..,m A j=12,...,n);
V= TqUi + ToUo+ ... TppUm + g Wy +lp Wot ... + Uy Wy
U= T Uy + ToUs+ ... T;Un
W: = Uy Wy +Uy Wot ... + Uy Wy
= UEH; AN weH, = v=u+weH;+H,
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=V c H1+H2
[ Al 4

V=H{+H, A dimV=m+n=dimH; + dimH,
(a) < (c)
s>« (dimension formel) +=86.2 2

dimV = dim(H; + H, ) =dim Hy + dimH; —dim(H; N Hy)
pow .y dimV =dimH; + dimH, 2«4 () 25
dim(H; N Hy) =0 = H; n H,={0}
= V=H{®H;

o Hy o ) i Gaman (2 02 bnd 5558500 (V,K) 6.4 4pad
@cdc.ﬁj;y V 473H2 L'aésc)écﬁ\:g_odé VML;LABGG‘)B

&V =H; ®H;
5.4 353 ¥Sl.ssHy =<< U, U, Ug,...., Up >>4S 1 Cigd
Sy A Al b

V =<< Uy, Ug, Usy...ry Uny Umgdsen.ny Up >>

DS cuaide gV Hy yisas

H> = span(Um.1,...., Un)
>R ey SV alal o fon Aedlal4.40H,
row . Jiiiw (el 45 85 Uppyq,...., Up

Hs = << Umgty.ne., Up>>
V=H; ®H, s IS n .68 Gradnnaif.3 2(2) Saniia

wse Hy s Hp, Hy oS L 5585 4 (R, R) @ 6.1 Jba
D (S (Y
Hi={ 0 eR [re R}, H={(0 N eR |re R},
H3:={(r,r)€R2|rE ]R}
=R Hz o Hay Hy (o 505 St o3 ¥ S o Gl (@)
G S R 4 st
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Hy, 2, L,sSs5 ey = (1,0) 2 (Basis) sl ossHy 2 (b)
tem . Sy u= (1,1) 2 Hy 25,585 e, =(0,1) 2
Hi=<<ei>>,Ho=<<ey>> , Hy=<<u>> |

dimH; =dimH, = dimH; = 1

LﬁéHﬂ-’(hn-lndep) Jaiia L_;Lie.l LSAJ‘)"A}-’)-’}AJ}Q‘UJLMJ
81 W = (Wy,0) 4S452 60 5 Hy 4y pa alis )55 Jiiua chad o
T, T ER b csa . oS Hy 4 45,58, Jitue b

S S5 Bxa 02Ul 1Y 5

T1.e1+T,,w=0 = 77,=1,=0
w = (wq,0) = wy(1,0) =wie; => wiey +(-1. W) =0
= ey, Wlin-dep
L2 dimHy =1 ) LS Hy = <<e>> gllnos

R =H;+H, s R =Hp+Hs « R- =H;+Hs (c)

X = (X1,X2) € Rz
= X = (X1,X2) = (X1-X2,0) + (X2,X2) € Hy + Hg

2
= R gH1+H3
2
2
R=H1+H3

S Ceh OV s sl 6V S AS0 Hlaas
Hi n H, = Hi n Hz = H, nHy = {0} (d)

heH;nH; = 3hy, h,e R ;h=(h1,0)=(h2,h2)
$h2=0 $h1=h2=0
— h=(0,0) = H nH; ={0}
oo dg Ll 6.1 2 (Saniiay 5 S G Sa AL gl (Y S 4S5 ey
PP

R2=H1®H2, R2=H1@H3 ,R2=H2@H3
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. . 3 i
Hy o) Hy , Hy, Hi Sb=igosiSs4a (R, R)2:6.1 Gl
160 ey i Jg3 Y Ay A gl

Hi={(00) eR’ |[re R}, Hx={Or0)eR [re R},
H3:={(O,O,T)E]R3|re ]R} : H4:={(7”,1",7”)€]R3 |r€ R}

R =H @ H, ®Hy o> cSsd  (a)
? S Braan ‘\L-JUR3=H1@H2 @ Hs;Y (b)

Ho , Hi Sl gme (o b 60585 00 (VR ) 16.2 (uua
s dimH; =12 ¢« dmH; =8 SV 2 ssbad o 8
.LS‘,}S\J.-}::’ d|m(H1+H2) (5 H1 N H2 =<< Uq,Us Uz, Ug >>
Wwess V=H; @ H, s dimV=10 ¢« dimH; = 4 45 :6.3 (uual
AL dimH,
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Juad a g

( linear mapping )

Ao g (52 ssbad )58 5090 (W, K) 5 (V, K) 2 7.1 as
A sphasi a4 (linear mapping ) S A2V - W
Ay o=l oY o
uv eV ;1eK

(1) L(u+v) = L(u) + L(v)
(2) L(Au) = A.L(u)

S S Pl Ay (S dug a ali Sl Ll (I8 Ll 43 Kiue ol

2 Lyl operator ¢« lineartransformation 2 linear mapping

d sy injective Saume i 0 aS (5000 a8 o g8 49 homomorphism
sl e 4 epimorphism 2 s surjective 4S a5 42 monomorphism
ok asi 4 isomorphism 2 s bijective 4s

s dis 4,5 endomorphism osa s34 sV =W 48

4,5 automorphism L« 55 a2 bijective > endomorphism s
C S s

AW 5 Voaall) e Jd adanl g4 Siae s L1V 5 W g0
iJs 4 Jhey (Al Y (S &l

v € span(vy ,Vy,..., Uy )
= L(U) € Span( L(Ul), L(UZ)J ah] L(Ur))
V1, Va,.eeee, Vp lin-dep = L(v4), L(v4), ...., L(v,) lin-dep
v= lv+ ALv,+ L+ A4,
= L) =A4L(v) +A,L(vy) + ...+ A L(v,)
L. Isomorphism s L 4S

V1, Va,.eee, Vp lin-indep = L(v4), L(v4), ...., L(v,) lin-indep

28 Wil e o L(H) e s oS V gl e fon H 4

6 skl 5585050 (W, K) 5 (V, K) :7.1 Jba
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2 (lin-map) Kiwe i o &6 2V (a)
f:v - w
v —f(v)=0
@2 lin-map Ko i o AU gu¥Ia 4SS jlaas (b)
id:V -V
V=V
o Sl 4 L 5555 (R, R) 2 pse 1 7.2 Jlia
L:R3 — R3
(X1,X2,X3 ) /> (X1+X2,X3,0)

1484 60 (lin-map) Kiwe b o L

X = (X1,XaX), ¥ = (Y1.Y2.ys) € R, A €R
L(x +Yy) = L((X1,X2,X3) + (Y1,Y2,Y3))
= L(X1 + Y1, X2 + Y2, X3 + Y3)
(X1 + Y1) + (X2 + Y2), X3 + Y3, 0)
(X1+ X2, X3, 0) + (Y1+ Y2, ¥3,0)
L(X1,X2,X3) + L(Y1,¥2,¥3) = L(x) + L(y)
L(AX) = L(A (X1,X2,X3)) = L()l X1, A Xo, A X3)
= (A Xq+ A X2, A X3, 0) = 4 (X4+ Xo, X3, 0) = 4 L(X)
2 (lin-map) Kime b o L o 38 Dl

: 2 .
U Y | s SOk 4L 585 (R, R) 2yise : Jlia
2 gutomorphism

L:R? — R?
(X1,X2 ) — (2X1 X2 )

Gl gyl & gl . bijective » Lo Jdulyswe SdE1.44: 0

@2 (lin-map) Kipe ha L o 5.8
2

,Y=(y1,y2) € R , AeR

L((X1,%2) + (Y1,Y2))

L(X1 + Y1, Xo + Y2 )

(2.(X1 + Y1) , X2 + Y2)

(2.X1+ 2. Y1) , Xo + Y>)
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= (2.X1, Xg) +(2 Yi, Y2 )
= L(X1,X2 ) + L(y1,¥2) = L(x) + L(y)
L(Ax) = L(A (X1,x2)) = L(A x4, Ax2)
=(2A Xy, AX2) = A(2Xq, X2 ) = A L(X)
.Y automorphism s L o> 58 G
w2 Interval »l=[ab]c R :7.3 Jba

C(L,LR): ={f:1 - R|f continue( ¢2\i)}

3 bl 558505 (C(I,R), R) (o> s 5355
s:C(ILR) — R
£ [ f)dx
2 (lin-map) KXiwe b us

X,A ER :da
f,ge C(I,R), s(f+q) = s£f+g)(x) = s(f(x) + g(x))
= [ (f(x) + g(x))dx
= 7 fOdx+ [} g(x))dx
= s(f) + s(g)
S 3ua S(Af) = As(f) o> s0S Qsdisd 6V S g0 laar
1 7.1
& (lin-map) Sipe ha 2 Jaly i Sh S abisa¥ 4 (a)
L.R— R
X—ax+b

Sipa i o Slad )8 (C,C) atiexYU (b)
s2( C— lin—map)

L:C —> C

zZ — Z
Sipe b o ( Slad o) (C,R) bYW (c¢)
s> ( R—=lin—map)

L:C— C

Z — Z
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b s Slat )8y (R?2,R) 4ab ga¥ as Sasd (d)
2 (lin-map) S
L:R?2 — R?
(X1,X2 ) — (2Xy, Xy = X2)
LV o WL o Sl 585 (W, K) S (V, K) : 7.1 W

. 0yeW 4 uv,0,eVvV « Lue K
(a) Llin-map = L(O,) =0, A Lu-v)=L(u)-L(v)

(b) Llin-map & LA.u+ p.v)= A.LM)+ p.L(V)

sl (a)
L( 0,) = L(0.0,) =0.L(0,) =0,
Lu—-v)=Lu +(-)v) = L(u)+(-1)L(v)
= L(u) —L(v)
: @i (b)
IIﬁ “
L lin-map = L(Au+ p.v)= L(Au)+ L(u.v)
=ALu)+ u.L(v)
“ en

L(Au) = L(Au+0v)=AL(u)+0.L(v)=AL(u)

LG sa i s Sl A= =T piseas
Liu+v)=L((1u + p.v)= A L(u) + p.L(v) = L(u) + L(v)

= L lin-map
s (lin-map) Kiuw a0 L6 ga¥h 1 7.4 Jba

L:R? — R?
(X1,X2 ) — (-Xy, X2)
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S ooliind 438 Led 7.1 e W daa: da
X=(X,X2) ,y=(yy2) €R?*, 1,y €R

L(A.x + wy)=L((Axy, Ax;5)+ (1ys, nys))
=L((Ax +pys) +(Axa+py,))
=(-Axi—py, Ax+py,)
= (Axy, Axa)+ (- 1y, 1Lya)
=ALXx) +pL(y)

= L lin-map

Bx 9 LV o Wl galxd 68 (W, K) o (V,K) :7.2 L
: . (i=1,2,..,n ) 44 EK, v;EV . (lin- map) S
(a)L(A; vi +A, Vo + ... + A, V)

=A; L(vy) + L,L(Vv2) + ...+ ALV, )
(b) vy, vo,...... , Vo lin-dep
= L(vq), L(v4), ...., L(v,) lin-dep
(c) V subspace (Lai e 8 )inV A
W’ subspace ( Lxd = %) in W
= L(V)subspaceinW A L' (W) subspaceinV
(d) dim(L(V)) <dimV

(e)Lisomorph = L':W - Visomorph

LAy Vi +2A5 Vo + ... + A, Vo )
= L(A;vq) + L(A, Vo + ... + A, Vn )

=21 L(vq) + L(A, vo + ... + A, V)
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Dol S Aell Jd (saeh 432 e aS
L(A; Vi + 2, Vo + ..... + A, Vn )
= A L(vq) + A,L(V2) + ...+ A L( Vv, )

1 Gl (b)
Vi, Vo,.cunn. , Vn lin-dep

> 3N EK(i=12,...,n ), (@4 pa); ds) ;
iz A vi=0

= Xz LAy vi) = Xiy A L(vy)
=LQLAvi) [ed(@)-: ]
=L(0)=0 [ Sime b3 L]
= A L(vy) + ,L(Vv2) + ...+ ALV, ) =0
= L(v1), L(v4), ...., L(vy) lin-dep

: sl (C)
ASA o3 S W 4 Lad e jios (V)

(1) 0e V' =L0)=0€el(V) =2L\V) =0
(2) wiwo €L(V) =3 vy,vo €V L(vq) =Wy, L(Va) =wsy
= Wi+Wo = L(v4) + L(v2) = L(vi+vp) € L(V")
(3)weLV)=>3 veV ;Lv)=w
AEK = AWweV [ o Lad)siSson VI Sa ]
=>Aw = AL(v) = L(Av) € L(V')

23 SW glad oo B on (V) (o 93D
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4SA 00 SV 4y Lad o jog LT(W)
LYW = fveV |L(v) e W}

el lal 71 2pm e linfmap s L2 a8A
L(0)=0 eW = 0eL' W) =L"W)=0
Vi,Vo € L'1(W') = Aw;,wo EW ;L(v)=w;, L(vp) =w,
= L(vi+Vvs )=L(v)+L(Vy) = wi+w, € W’
= vi+v, €ELTW)
veEL' W) =23 weW ;Lv)=w
A€EK = L(QAv)= AL(v) = Aw € W’
> eLT(W)
2 SV gLl o b LT (W) oad sl

S e S W alid o ond (D) JliL(V) o483 s (d)
4382 (basis) sl o5 dis )5y Wy, Wy W3, o)Wy o> S U2 A Figa
(222,02

L(V) = <<wWy,Wo,W3, ....,W, >>

3 Vy,Vo,V3, ..., Va EV 5 L(Vq) = Wy, L(V2) = Wo,..., L(vn) = W,
=>w; =L(v) (i=1,2,....,n) lin-indep [ saexclios w; 455 ]
= Vi,Vo,V3, oo, Vp lin-indep [3e4 (b)) o ]

V{,Vo,V3, ...... , Vn lin-dep
= L(v4), L(v2), ...., L(vpy) lin-dep [ =41 (b)]
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V1i,Vo,V3, ...... , Vi 2k o .6 salsa a (basis) el 2 SBlA by Sa
3 Slad ) ssay e Jiugly (Sauni 51 4 yise .oy Jiiue Jd
Jlise (i (2 (63 (P05S) Jmld 5,55l 4x 24555 sacli
» o . (lin-indep)
n <dmV =dim(L(V) <dimV
sl (e)
Wi,WoE W
=>3Ivy,vo EV; wy=L(vy) A wo=L(vp) [ L-isom4ass ]
= vi=L"(wi) A vz =L (wy)
L(}\l V1 + )\2 V2 ) = )\1 L(V1) + )\2 L(V2) = )\1 W1 + )\2 W2
Lol vi + A, V0 ) = L7 (4 Wi + 24, Wp)
=4 )\1 V1 + AZ V2 = L-1(A1 W1 + )\2 W2 )
=>4 L (wi) + 4, L7 (wo) =L wi + A, wa)
= L7 Lin-map ( Sigeha )

s LT G oo CanSanl ad ol (e sSre (Sl 3 o s s 1A Ll
. &2 isomorph

. salxig iy (W K) s (V,K) , (U K) 7.3 L
f:U - Vlin-map A g:V = Wlin-map
= gof: U = W lin-map
(2 Kige ohad pa S hd 0 i ny )

AEK s u, Uj,UEU 1&g

gof(ui+uz) = go (f(us+uz)
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=g(f(ur) +f(uz) ) [ Sapeha 55
= gof(u1) + gof(uz) [ Same b g S5
g2 gof(Au) = A gof(U) o2 58 s b SV S dsa grer 4

¢ (Lin-Map) Sipe hd gl 55 oaila o2 5 S 0581 7.2 Gnoad

(a)
2 2
L:R — R
( X1, X2 ) = (3X1 +2X2’ X1)
(b)
2 3
L:R — R
(X1,X2 ) ¥ (2X1+X2,X1,2X2)
(c)
2 3
L:R — R
(X1,X2 ) ¥ (X1,-X1,X2)
(d)
3 2
L:R — R
(X1,X2,X3 ) /> (X1-X2,2X1+3X2+2X3)
(e)

L:R° - R’
(X1,X2,X3 ) ¥ (X3,2X1 ,X2)

LV o W@ ssbat g5 (W) ¢ (V, K) : 7.2 chy s
&2 (Lin-Map) K ad

Im(L): = L(V)

Ker(L): =L"(0) = {v eV |L(v) = 0}

o a s (43a) Kernel 2 Ker(L) s ( _2s=5) Image 2 Im(L)
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2LV > W sl gsbat 5585050 (W, K) « (V,K) : 7.4 L
2 (Lin-Map) K ad
(1)

23 S W 4 (Subspace) Lxd = o IM(L) (a)

2 SV 4 (Subspace) Lxwd = bos Ker(L) (b)
Im(L) =W < L surjective (2)
Ker(L)={0} & L injective (3)

SV o4 Juee Javiv, ..oV, A injective oL (4)
éw 4—’ dm L#L(V1)5L(V2)!'---5L(Vn) =

(5)
V =<vy,Vo,....,Vp> = Im(L) = <L(vy),L(V2),....,L(V,)>

.y isomorph =L 4S(6)
V=<<v,Vo,..,Vy >> = W = << L(vy),L(V2),....,L(Vn) >>

<ol (1)

o R ASA a W 43lzmd o o IM(L) 2 Aedlled 720 1&sdi(a)
Lo Lamd o B ald 4y Ll 55

wes (b)

0eV = LO)=0 [&dld 71 2]
= 0eker(L) = ker(L) #0
uv e Ker(L) = Luy=0 A L(v)=0
= L(u+v)=LUu)+L(v)=0+0=0
= u+V € Ker(L)
ueKer(L),AeK
L(Au) =AL(u) =A.0=0 = Au € Ker(L)
.82 SV 4 (Subspace) Lz=d e fonKer(l) o s Do
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1 (2)
23 Im(L) € W (290 gy 7 &7
L surjective = yweW, I3veV;L(v)=w
= welml) = WclIm(L)

W= Im(L) oS 4sssi 4
s surjective s ab L ow.caIm(L) =W 24548 7 =7
1&g (3)
TCosa . g Ker(l) ={0} < &
Ker(L) # {0} = 3v €Ker(L),v+0 = L(v)=0
ou . 0 EKer(L) 2 sam s L

Liv)=0=L(0) = v=0 [(o caiSai) | 454 ]
. Ker(L) = {0} asld) aaiiiasl gadd

G om.eslu)=L(V) =) uv EV Appas =
L
L(uy—L(v)=0 = Llu-v)=0 = u-veKer(l)
= u-v=0=>u=v
= L injective
T ssiara EK(i=1,2,...,n)8 1&g (4)
aiL(vy) +ask(ve) +..... +apl(vy)=0= X, a; L(v)) =0
= LR aiv)=0 = Xi.; a; v; € Ker(L)

= Z?zlaivi=0 [u.-.‘-‘S\A-’\L‘\S\A]
= a;=a = ..... = a,=0 [Vvq,Vo,....,Vy lin-indep 53]

= L(vq), L(V2),....... , L(vn) lin-indep ( diiue s )
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V o555 6YsS mwsd VESVLVg, v, V> Gz oS58 1 o (5)
50585 ViVo, ... ,Vy 2SS4 (lin-comb) S i as 25585 0
LSl
veV = Jaja, ...,an€EK;v=aiVy + QVo + .... + Q,Vy
= L(v) € Im(L) A
L(V) = L(a1V1 + doVo + ... + anVn)
= dj L(V1) + 3.1|_(V2) + ...+ anL(Vn)
= Im(L) = < L(vq),L(vo), .... ,L(v,) >
9 (6)
L isomorph = L surjective
= Im(L) =W [ (2) 2]
= W = <L(v4),L(V2),....,L(Vh)> [ <4 (5) 2]
s G
V = << Vi,Vo,.0o,Vp >> = Vy,Vo,....,V, lin-indep
= L(vq),L(v2),....,L(vy) lin-indep [>=4(4) 2]
IS Aagl 4y
W = << L(vq),L(V2),....,L(Vn) >>
dimV = dimW 0s .2 sl el )5iS5 saelBa W 5l V o a4 2
@ sshad 6,sS5 (W K) o (V,K) 1 7.1 4ad
W W, Wy, WeEW 5V V =<<Vy, Vo ..., V,>>
> L:V > W (lin-map) K bd g ilnhis (1)
(1=1,2,..,n) ¢ 2y L(v) =w
Im(L) = span(w;,ws,....,w,) (2)

L injective & wq,Wo,....,w, lin-indep (3)

432 (1)25(3) o) (2) wSipehal
D> s S Ol Al yise gl (1)
chJ};}A@U Lc)_.gdj,)w(a)
Gr S b oL (b)
S 35 50 Sine (had S0 dra ns)lnbi ()
tQgd (a)
V=<<V{,Vo, ..., Vpy>>
= VveV 3Iaq, a,.., a, EK;
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v= aqvit+ a v+ ...t a, vy

2 b pueaV o (basis) sxlon Vi, Vo ...,V >SS A
38 i Ja gV 4 Loy, 233 Ay, Agyen.ny@n el ) 4k
L:V-> W
v — Lv)= YL aw = XL a; L(v)

W4 paic g iimeldl v o 2458 (60 Gy ey 28 L3 o .S Jad
G2 s i Sipe L ki (S

LAu+ pov)= AL()+ p.L(v) (uvevV,\peK)
ton.d V=<< Vi, Vo, ., Vp>> S A
= a;, bi € K(| = 1,2,..., n);

u=Xit, a;v; ,v=xL, by v
= Au=XYAa; v; , BV =X, Wb v
— Lu+ pv) =L, (Aais pb; Jvy)
= ic1 (Aagy Pby Jwy [ e A s Lo ]
=AM Cag)w + UL, (b w;
=AL(u) + P.L(V)

G S dgaa fiV 5 W S b (c)
Sy UEV pasd ¥ S s (i =1,2,.,n) f(v) = w,
L(u) = L=y @ vy ) =X g wy =221 a; f(v)
= fQ%=1 ;i vi ) =1f(w)
> L=f
s Gl (2)

llcll
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vEV = Faj,a ..., an€ K ; Vv=2ai;vi + aVo + ....+ ayVy
= L(v) elm(L) A
L(v) = a; L(v4) + asL(v2) + ...+ a,L( vy)
=as Wy + doWo + ....+ dpnW,
= L(v) € span(wy,wo,....,W,)
= Im(L) € span(w;,ws,....,W,)
WE span(wy,Wa,....,W,)
= 4 b1,b2, ey bnE K; w= b1W1 + b2W2 + ...+ ann
= w=DbyL(vy)+bol(va) + ...+ b, L(vp)
= L(b1 Vi + b2V2 + ...+ bn Vn)
= we Im(L) = span(w;,wo,....,w,) € Im(L)
IM(L) = span(Wq,Wa,....,W,) S 4adii 4
‘gl (3)
24 b g4 (lin-indep) Jitus ha wy,Wo,.... W, &S ="

1 as,ay, ..., a, € K ; (ay,as,...., an) # (0,0,....,0)
A Ay Wi+ aWs + ...+ a,Wy=0

= a;L(vi)+al(va)+...+a,L(v,)=0
= L(ajvi +asVvo + ...+ apVv,) =0
= a1V1 + a2V2 + ...+ apVy € Ker(L)
col bl 7.4 0 gw gdinjective el um Ao a4 A
Ker(L) ={0} = ajvi+axva+ ...+ a,vp =0

Vi,Vo,..,Vn  o=.s2(as,a, ..., ay) # (0,0,....,0) >4

3 5585 sy b Sa (L glas (lin-indep) Jeia (ad aiy )¢Sy
)5y Wi,Wo,.ot,Wn b G S @l (S alial 4y 0y g oac
(3 Jilua ad

=

140



Linear Algebra sl >

ve Ker(L) =L(v)=0 A T aja...,a,;
V=asVy+ adVo + ....4+ dpVy
= L(v)=a; L(vs) +asL(v2) + ...+ a,L(v,)
=as Wi+ aWs +....+4 a,W,=0
o JBie d Wy Wo,.L W, (A
A== ...= a,=0
= v=0 = Ker(L) ={0} = L injective
(dimension formel for linear mapping) :7.2 4xxt
Jgd(dimension) 2 gme > gsbad )58 (W, K) o (V, K)
‘.2 (Lin-Map) Siaw (bd 0 L:V 5> W
dimV = dim(Ker(L)) + dim(Im(L))
L
dimV = dim(Ker(L)) + rank(Im(L))

SV bzt o pom Ker(l) s A lad 7.4 5 Gl
HiseaS (gl gy Gumao )53 L 03 S W 49 Lad e jio 5 IM(L)
E SCosa 44 s Saasdim(iIm(L) =k s dim(Ker(L)) =p

D60 25 g0 o Cunald (oW 3 A3 ) 9K 5 Wy, Wy, ... W W
Im(L) = << Wy,Wo, .... ,W>>
22 Im(L) 2 ( Basis ) eaxclosais, s Wy, Wa, ... ,Wk =

Ker(L) # {0} :«la gl
e s S G sl yise s Ker(l) = <<uq,Ug,....Up>> 4S
V = << Uy,Ug,....,Up, W1,Wa, ... \Wi>>

et Dl Al w03V o (Basis) selogn i i<y e S
V= <uq,Uz,....,Up, Wi,Wa, ... ,Wi> (@)
Lﬁ:““csl“.*“}_)}ﬁ} Uq,U2,....,Up, W1,W2, ..., Wk ( b )

& (Lin-indep )
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p(a) s

v veV,Ly) e ImL)
=>3aq,ay ..., EK,;
L(v)= 35, a;wy = Xiy a; L(vy)
=L(XE, a; 1) [Sehs Lasa]
= Lv)-L(X, a; v) =0

= L( V — {_€=1 a; v; )
= L(V - diVy —AsVo- ... - AkVk ) =0
= V- aiVi—aVo- ..... - akVk € Ker(L)

s 0l KGI’(L) doacllo g Uq,Uz,...,Up @45\_1}
= b15b2’ ey pr K ,

V- aiVi—asVs — ..... — Ak Vk
= b1U1 + bgUg + ...+ bpup
p k
=> V=Y b wy + Yo a4 v

Pl Aga g1 gy P+ K @l (o A)5S54aa (58 Jal
.2V 2 (Span)

V = < uy,Uz,....,Up, Wi,Wo, ... ,Wi>
xY o ( i=1,2,...,p j= 1,2,...k ) ai,bj € Ko4S gl (b)
S S5 Bra alalza

1% k
i=1 A U + 2j=1 bj v; =0 (*)

=> LY, a; +Z]1‘=1 b v;) = L(0)=0 [ Wi7.1 ]
= biooaL(w) + X< b L(v) =0
Lo (=12, p) U E Ker(l) ws 48k
L(u)= 0 (i=1,2,...,.p)
=¥, a,Lu)=0 =0+ X< b L(v) =0
Dow.e (j=1,2,.0K) L(V) =W o s pise

Yjc1 by L(v) = Xy byw; =0
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SR IS 5uY Alilas (%) oS A 4

p —
i=1 a; u; —0

= A=A =....... =3, =0 [ sodiiwe iy S ]
= Uq,Uz,....,Up, W1,Wo, .... W Lin-indep
)5S Uq,Uz,....,Up, W1,W2, .... ,Wk@}“gs Cigl gyl s gl

D oalsh Y
V 2 (gen-system) aius A g (2 ¢ 558853 Jadd s Seli 5 ()
R
Jiiie od SV 4 2 ooy duld gl s 5 (i)
.2 ( Lin-indep)
e V= < Up...Upy Wi,Wo, oo Wi &S ds0 4y Jhad s (i) cigs
LSy GBS BMa

JabeK(i=2,...p j=1,2,..K);
Uy = asUs + asUs + ... + bywy + bows + ... + bewi
= aUs+ asgUz+ ... + bywy + bows + ... + bwi -u; =0
= U, Uz, .... .Uy, Wy,Wp, .... ,W Lin—dep

(3 Jiie (had 455,585 10 (2 sl Jagis 45 59 S

LS A Gra V=< U, Up, Wi Wo, e WS o

258 50585 NGB U, Ug,y e Uy WWa, cen. Wi S 44
L sl (1) o .2 V2 (gen-system) aieoew A se o Juald

Mly (A Gs53mmVEV s aS 1 (i) s
(DAL 6 SV 4 e Jha v, ug,ug,. Uy, W W), L Wy
V= <ujuy,...,.up, W,wz, .... ,Wi>
=3 a,bje K(i=12,...p j=12,..k);
vV = aiu1 + axuz + asus + ... + biwi1 + bowz + ... + bxwk
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= aiuy + AsUo + ... + b1W1 + bgWg + ...+ kak -v=0
= Uy, Uz, ....,Up, Wi,Wp, .... W,V Lin-dep
G 505S53 A8 A Up, U,y e yUp, Wi Wo, oee Wi o 55 i
5 Ggdaa (i) o) g2 (Lin-indep) Joiwe (b (S V 4 o 2 duld
D> 8 Dt Sl
V = << Uy, Uy,....,Up, W1,Wa, ... ,WiS>>

= dimV = p + k = dim(ker(L)) + dim(Im(L))

Ker(L)={0} :&ls a0
Ker(L) = {0}
= dim(Ker(L)) =0 A L injective [ 4 Wil7.4 2]
e, gy dimV=n &

vy, Vo, ...... Vi EV  V=<c<Vy,Vs, ...... , Vp>>
= L(v4), L(V2) ,..., L(v,) Lin-indep [ <4 Wil7.42 ]
AESEIEY
V=<V, Vo, ...... , V>
= Im(L) =< L(vqy), L(v2), ....... , L(vn) >
= Im(L) = << L(vy), L(vo), ....... , L(vn) >>
= dim(Im(L)) = n
= dimV =0 + dim(Im(L))

= dim(Ker(L)) + dim(Im(L))
o TK 44y s S dis L2 Rank 4 dim(Im(L) : <
rk(L): = dim(Im(L)) =
o S lat 4 a5 (Y 1 ige 1 7.5 Jla
L:R? — R
(X1, Xo ) — X1 — Xo

55 s ) se
> (Lin-map) S b o L (a)
Ker(L) (b)

Ker(L) - (basis)sx=ld ()

dim(Ker(L)) (d)
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X=(X1,X2), Y = (y1,Y2) ER? ,AER
L(X +y) = L((X1,X2) + (Y1,¥2)) = L(X1+Y1, Xo+Y2)

= (X14Y1) = (XotY2)
= (X1=X2) + (y1 —Y2) = L(x) + L(y)
L(Ax) = L(AX1, AX2) = AXy = AX2 = A ( X1 — X2 ) = AL(X)
= lin-map

: <l (b)
X = (X1,X2) € Ker(L) = L(X1,x2) =0 = Xy—x2 =0
= X{ =Xo

Ker(l_) = {(X1,X2) € RZ |X1 = Xo }
={(rr) | re R}=R.(1,1)
paSA e Ker(L) 2eelos 5585 v=(1,1) 1<l (c)
oo S RZ4lad o jion Ker(l) 3edled6.42
X=(Xy,X2) € Ker(L) =3 AeR;
X=(X1,X2) =(AA) =A.(1,1)=A.vVv
= ker(L)=<v>
05SsV aedd LWl4 5000 .63 v=(1,1)# (0,0)=0 >+ A
declog v=(1,1) S4ai4 . (Lin-indep ) Jite haa
Ker(L) =<<v>> = . Ker(l)
Gn .60 s el g€y sacla Ker(L) o Jul st < (d)
dim(Ker(L)) = 1

i (e)
vV Xe R, 3 (x,00 € R?;L(x,00=x—-0=x

= L surjective = Im(L) =R
DASS S Bua s dpal 723058 Glhal
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dimR 2 = dim(Ker(L)) + dim(Im(L)) = 2 = 1 +1
My (pra (s sbee o (52 ssbad 555 (W, K) ol (V,K) 7.3 dpd
L:V->W <. dimV =dimW =n = .¢4 (Dimension)
WL (Lin-map) Sipe (b o

L injective < L surjective

L injective = Ker(L) = {0} [ Sd74W0 ]
= dim(Ker(L)) =0
dimV = dim(Ker(L)) + dim(Im(L)) [ e =87.2]
= n=0+dim(Im(L)) = dim(Im(L)) = dimW
= Im(L) =W [ aW 2 Lad e fos IMm(L) <5 ]

= L surjective

L surjective = Im(L) =W = dim(Im(L)) =n
dimV = dim(Ker(L)) + dim(Im(L)) = n =dim(Ker(L)) + n
= dim(Ker(L)) =0 = Ker(L) ={0} = L injective

A=(a), A€ M(mxn,R) : 7.6 Jb
LA:Rn—> R M
X +—  AXx
DS de aVa b Y Sl
LA:RH—) R M

146



Linear Algebra sl >

X1 ajp ot Qi X1
x=| %t |— : S I
Xn Am1  ° QAmn Xp
<a11x1 + o + alnxn>
Am1X1 + - +amnXn
DHAAER S X,YERD 3484 s (Lin-map) Kime hisLa
$3S Bua 4l ) oY

La(x +y ) =Lax+Lay , La(Ax) = A La(X)

Jul sty SHkiay R™ 2 (canonical basis ) sacld oulul ige aS
DY (Os) e S r A4l (i=1,2,...,0) A o ¢S

Jso 4 Jhae o, =B
X1 aij; Qqn X1
x=|: |— : N I
Xn Am1 " Qmn Xn

(allxl + cee + alnxn>
Am1X1 + = FamnXy
1 a1 o Qqp 1 aiq
LA(e1)=LA<E>=A-e1=< | ..' | >.<5>=< | )
0 Am1 " OAmn 0 Am1
1Sy sd GV S (S aadiigy

Im(La) = A.R™ =span( A.ey, A.ey, ...., A.e)
T aSA
AR"={Ax| xeR™ }
allxl + o + alnxn
AxeAR" = A.x=< : b : )

Am1X1 + = FamnXy
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S s2Aeq, Ay, ..., Ae, 2(Lin-comb) @S b s AX
19l pisedS
Ty 3Ty y eeeen ,Tn ER
Ax=1,.Aei+1, . A6y, ...., 7, . Ae,

11 A1n
SAXx=1 .| P |+ ... +7, . ¢
Am1 Amn
<T1 all + o +Tn a1n>
Ty Oy + = +Tp An
OB T Ty, e, Ty, 38 Y S (S Al )4y
2l (3 B = (Vi,Va,...0Vn ) o> bb 505850 (V, R) 17.4 4pad

Lg :R™ - V sngilnhizis R™ 50V 2l 2 (Basis)

Gl s ((i=1,2,...,n) L (€)=V, & Isomorphism
@ gy Sy el bl R4 g 4ily

S ohd Jp 4 pg)lphid Aadd axd 710 1l
soxeBog Vadig)siSs vy,vy,..., v, 2 s b s 1 gl (lin-map)
o

V =<<Vi,Vo,....,Vp>> = Vq,Vo,....,V, lin-indep

= Ly injective [oiedl =871 2]

el ol 730Lg puer dmV=n=dmR? A
.2 Isomorphism s Lp S 44 .52 24 surjective

s bl (W, K) o) (V, K) ssbad 5585090 17.3 yad
S5 Isomorphism L:V-o> W & b4 62 Isomorph
62 W=V &l V=W e sbio e VW 4waxa yiw

) e (o 52 skl 55050 (W, K) ) (V, K) ;7.5 4l
am
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IR

dmV=dmW o V=W

dimV =dimW=n

= 3JVy,Vs,.....VuEV A W{,Wo,....,.W, EW ;
V=<<Vv,Vo,.....Vp>> , W = << W, Wo,....,Wy>>

25 s o Cuald gai¥y LV W K i o Acad 7.1 0
189

: Ker(L) ={0}
ue Ker(L) = ueV A L(u)=0

= 3 ay,as,....,a,€ K, U=2a4Vy + @sVo + ...+ apVy
o1 @ wp = Xty ap Lvy) =L(Xis; a; v)=L(u)=0
S a=as = ...... =a,=0 [wy,Wo,....,w, lin-indep ]
=> U=y, a v;=0 = Ker(L) ={0}
= L injective [ e ld7.4 2]
V=W (u.sde surjective » L Sedl ol 7.3 2
S g
V=W =3 L:V->W;Llin-map A L bijective
e B e A e Vo2 4SS A

V = << Vq{,Vo,....,Vp>>
= Vi,Vo,....,V, lin-indep
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= L(v1) , L(V2),eerr, L(vy) lin-indep [ Wd7.42 ]
= dimV < dinW

s L
VW => W=V = dmW <dmV

dimV =dimW S4aadsia

3 ) ga ssbad 5585050 (W, K) ) (V,K) :7.4 iy
62 b s ¥ Cus Hom(V,W)

Hom(V,W): = {L:V—>W |Llin-map (i ha )}

Lo .o ssbmd 555050 (W, K) o (V,K) 45 7.6 4nd
23 Map(V,W) 3 Lisi e 550 Hom(V, W)

4 (Field) -als K Lk Map(V,W) > Jals se S Jbe 4.1 4 gl
.2 Hom(V,W) < Map(V,W) sl Lad 5 )55 05
D G Al
f,g € Hom(V,W), me K
= (f+g) € Hom(V,W) A mf € Hom(V,W)

uvevVvV,r,uekK
(f+ g)(tu + pv) =f(tu + wv) + g(tu + pv)
=7f (W) + uf (W) +Tg(W) + pg(V) [ Sipe B3 f, gasa ]
=7(f(u) + g(u) ) + u(f(v) +g(v) )
= 7(f+g)(u) + u(f +g)(v)
=S (f+g)lin-map [ Wl 7.1 2]
= (f + g) € Hom(V,W)

AESNPCEY
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mf(tu + uv) = m(rf (W) + uf (V)) = ©.m. f(W) + p.m. f(v)
=7.(m.f(W) + p. (m. f (v))
= m.f lin-map = m.f € Hom(V,W)
22 Map(V,W) 2 Lxd e o HOm(V,W) > s Qo

sswH g lin-map sL:V-oV | Ladg,)i (V,K): 7.5kl
bydgaday b a L Lhiagaginvariant 2 H 03 SV 4 lad o 5
s LHCS H o

o S chd sa (Slad )58 4 (R2,R) 4 s

L:R? — R?
(X1,X2 )+ (2X1, X1 - X2)

SA 24 L Lkiinvariant Swealad o on H
x= (-2,2) e H
L(x) = L(-2,2) = (2.(-2), -2—-2) =(-4,-4) ¢ H = L(H) ¢ H
:Jlia
3 3
L:R — R
(X1,X2,X3 ) — ('X2+X3, '3X1' 2X2 + 3X3, '2X1 '2X2 + 3X3)
S Gl sl oY S o Sl 4
s> (lin-map) K basw L (a)
R 4l e sion H = { (X XoX) ER | Xs=X+%} = (b)
2.6 dnvariant w5 L s H o seig 9 ) e (usl 02 (S
L(H) c H

X = (X1,X2,X3) EH = X3=X; + X
L(x) = L((X1,X2,X3) )
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= (-Xo+X3, -3X1- 2X2 + 3X3, -2Xq -2Xo + 3X3)
= (-Xo+ Xq + X2, -3Xy- 2Xo2 + 3(X1+X2) , -2X1 -2X2 + 3(X1+X2) )
= (-Xo+ X1 + Xo, -3Xq- 2Xo + 3X; + 3Xy,
-2X4 -2Xo + 3X1 + 3Xp) )
=(X1, Xo, X{ +X2) EH
= H invariant

Y G Hom(V, K) 2 sl ealad )5S 505 (V,K) 1 7.6 <iyad
B2 (5 <y i

Hom(V,K): = {L:V > K |Llin-map (Xuw b )}
45 5l 03 Lind (5 )55 0 48 K ki e HOM(V, K) 2e 4l (o287.6 2
. LF'UUJMDJ“(VSK)M‘)"JA
(V', K):= Hom(V, K)
b asiadual space 2 V2V L 5,5
s Y 4] ol gyexclon 2 V,..., Vo,Vy s s (e V a8
(S S Ly
v; VoK
Vi = i) =65  (i=1,23,..,n Aj=1,2,3,...,n)
ot (i=1,2,...,n) V] S Sosa sy .2 Jses kKronecker > §;; <
dimV = dimV sl g5 V' 2 (basis) el
43 0 (Canonical basis) sxc8 oululs Lad (55 585 (R?, R) Lpise 1Jbia
(s JSE s dual space Lsé s )58 5 R? 2, gewi (S s
(R?):=Hom(R?, R) ={L: R? > R| L lin-map ( Sipe b )}
G (R2) aexcliogmel sl o> 5,8 Csdisyse
A, A, ER; Aief + 1,65 =0
=
1.61(e1) + Aze5(e1) = 41611 + 4262,=24,.1+1,.0=0
Aef(ey) + Ae5(e;) = 41615 + 4,8,,=4,.0+1,.1=0
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= /11= O AN /12= O = eik, e; ||n'|ndep

RN (RZ )* 3 (baSiS) e |8 66 wc\j LA.IX 54 3 e; }‘ ef é ...... 473
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Juh )
S A g) S ol
( Linear Mapping and Matrix )

ada g1 30 42229 (lin-Map) S a5 o Gl )y ) e Juad (g2 43
> @ sbat osSsen (W, R )8 (V,R) oS aaltas 15 sia
.s A (dimension) = (g

553 B=(Wq,Wo,.....;Wp,) , V23228 650 B = (Vq,Vs,.....,Vp)
oSy aas e L3 yise, 63 Kie i o LIV o W ) Waeacld

L o AL (L) 4 aisel B Y B Lk

Ai (L) = (aij) € M(mxn, R)

o el QAT sacd codomain 2 Bl sxcli domain 2 B 4dla 4l
23 Ag (L) Ruosesie dhnpasaslugs B =B S
USasie bisise L3 oy s dimW) = m o) dim(V) = n o 4554

S (Usie) st n ) (Lhe) S m
8.1 Ll

5 golmbieo ) (lin-map) e b L:R™ > R™ 22 (a)
43 (canonical basis) el ulal Jhi (S0 e A€ M(mxn, R )
16 9 e 0w Canalad gV 2
Lx) =Ax (Vv x€R" )
8 S e (g adly o adl
@Y 3 Sipe g 3l o)l 0Sa e AE M(mxn, R ) » 2 (b)
1Y 352 90 0 Cinald
L:.R* - R™
X+— AXx
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L

R ™23 (canonical basis) =l oulul g4,€y,.....,6, &S &s (Q)
N}}id‘}[}su (5 Rm ‘Jél, éz, ,ém j‘

R" =<<eqe0,......€n>> , RM=<< &4, 6,,.....,6, >>

xl 1 0 0 al
X da
2 =ay 0 + ap 1 + .. +a, 0 = 2
Xn 0 0 1 dn
= di=X1,d2=Xo, .eunnn , dp= Xp
L(X) = L(X1e1 + Xo€2 + .... + Xp€p )
= Xy L(e1 ) + X2L(62 ) + ... + Xj L(en)
sYSouwegal(er), L(€2), ..., L(en) ER™ 244
PP
! a4, a4, ...., am ER ;
L(e1) = a11él + doq éz + ... + am1ém
1 0 0
= adqq 0 + Ao 1 + ... + Am1
0 0 1
d11
_| 3
dm1
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s l(en), v, L(En) 2 Same Lysal b GV S Jg0 g0t 4
X
dip din
a a
L(es) = 22 R , L(en) = 2n
amz amn

-

A=(L(e1), L(ez2),...., L(en))
a11 alz ------ aln
~ Az1 Q22 oo Aon
Am1 Am2 e Amn
e S dal
L(x) = x;L(e1) + xoL(e2) +.... + X, L(en)
di1 diz d1in
a a a
= “4 X1 + ?2 Xo 4 cuenn. +| “en Xn
dm1 dm2 dmn

X

di1 Arp d1n 1

_ X2
Am1 aAm2 Amn Xmn

= A.X

el bl Hhi S jie dda g e S hd o o Jsd Juls i G
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2l a6 (U) (S Sk aa g e a4l | (g)

T R T e N T - M- SO -
Js mee 4 s 945 (canonical basis) sl ulal sacld 4S S
LSS A Bua aday ) s

53 35 50 S yla U590 428 50 (5 ) 5 (o9 )S Cisip ) s sl
R™=<< &85, ....,6, >

= &4, €5, ....., &y, lin-indep

= 3! a;, s, ...., Ani ER
L(e) =aé, + asé, + ..... + Amiém
dij
—| % (i=1,2,...,n)
ar;li
&> $225250 81, Qi ey Ami U9 S bl A dllal 4.6

> G S e A D sl bl Gu s (D) (e S e
= La(x) = Ax

D Salyan sV 4y sd Y S a0 sl (b)

LA:Rn — RM

X1 aijp Qi X1
x=| ! |— : N I
Xn Am1 " Qmn Xn
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<a11x1 + cee + alnxn)
Am1X1 + 0 FaApnXy
WAER s X,yER™® _a 2454 o (Lin-map) Siwe has L,

X = (X~|,X2, ,Xn) Y = (Y1,Y2, -5 Yn )

2 (colmns ) e o e Adadh g ... S5,y
A(AX+py)=S1.(A X+ @Y1 ) + oot Spe(( A X+ 1.Yn )
= A (S1.X94 ... + Sp. Xn )+ U (S1.Y1+ ... + Sn.Yn)
=A.AX+pu. Ay

= ALa() + 1 La(y)

Sne hd abisy o 180 e A 2 i Ly o) 0 Sine i g g o208 Do
(e 5 Sipe (i 5 4S5 laes ga s 4SS s

ga:R?"— R™
X +— A.x
La(x) =Ax=ga(x) (V xER"™ ) = Ly=ga
A el ulal i (1S e ada sy e Kiae el 0 g )52 iy s 8.1 Jha
4 Lo Sobiglal )88 (R2R )26kl JS e, 5 S lay
(e e S Jg0 gV

L: R? -5 R?
(X1,X2) ¥ (2X4, Xy — X2 )

.2 LEHOM (R?,R?) (258 Dol o5 6Y S oy Sl 4y
e2=(0,1) 5 1_(1,0) SLmb )55 (RER) 4 o2 s
Q45 peal gl L s3> ((Ccanonical basis) sx=& ol 455, 4S
SShpa [ Hhiey, e
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L(e;) =L(1,0)=(2.1,1-0)=(2,1)
e S puy L(er) e R2 s LAl
3! aj, a2 €ER ; L(eq) = ajie1 + axex = (ayq, a» )
=(2,1)
L(e2) =L(0,1)=(2.0,0—-1)=(0,-1)

4S5 AlSS (O ) (i 8 e adasy e L2 i el (208 bl o
sris A A 59 e 4xa

2 0

A"(l —1)

LS4, ey el bl i | s GsSo e dbisi e A S
=il B (lin-map) Sape s 4xa 2 5 e 5 550 S0 e A 2 ()
hd Abess AEM (2x2, R ) o 4,8 | 5 S lap i gacld
Lﬁ_ﬁL:Rz - R? S

L(es) = (ar, @21)=(2,1)

L(e2) = (@21, @22) = (0, -1)
X=(X;,X ) E R?
L(x) = L(x1, X2 ) = L((x4,0) + (0,x2))
= L(%:(1,0) + x2(0,1)) = x1.L(€4) + %2.L(0,1)
= X4(2,1) + %(0,-1)
= (21, X1) + (0, - X2) = (2X4, X1 — Xo)
ISl (g2 5 gaeld oulal Dl Sipa Jhad 4aan (o3 S Jul S g

Do)
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L:R?2 - R?
(X1,X2) = (2X1, X1 — X2)

od L2 (S J0e ) man gd gV S oy gliiul 4 Ll 8.1 2 1l
X=(X1,X2) € R2 158 lan K& ¥ 4p 48 (180 e A lai S

L0 = Lixi, x) = Ax= (2 °). <x1>

Xy
2x4

W aal Lo ) (R3,R) 5 (R%R ) gsbnbs)s€so 1 Jda
03 (5 sk iy S8
L: R3 — R?
(X1,X2,X3) F> (2X1 — 3X2, X1 — 2X2 + X3 )

S A 5ol il Hhi G e dkasi pe Lo e

s, LeHOM (R3R?) o 505 Qs 58 6Y S0y Sl 4y
- 3

2 L sk oy B A_JRZJJ\B 4 ol ulul R 2
B=(ey,e2,€3 ,B=(ey,ey)

CE s (05 ) B 3 ) (Ohe) S 2 Al S sieaks e Lo
L(es) = L(1,0,0)=(2.1-3.0,1-20+0)=(2,1)
oh S s L(ey) ER? s Ll
Al aj, a1 ER ; L(eq) =ajie1 +axe2=(a,az )=(2,1)
L(es) =L(0,1,00=(2.0—-3.1,0-2.140) = (-3, -2)
L(es) =L(0,0,1)=(2.0-3.0,0-2.0+1)=(0,1)
L 6 (i) (e 08 e adasy ye L 2 4d g sal (5228 il B2
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pw=¢ 39

e chd 428 3 5 )8 ) 5 oS Al Ag (L) o

A EM(2X3, R ) >4 A 5 Sy aiseld oulul )i (lin-map)
oo L W81, sl R3 5 R2 K hi ol a2
o)Ay Jeo eV 4 a3 S0 e Al Sia

X =(Xq, Xo,X3 ) € R3

X1
L(x) = L(X; , XpX3 ) = A = (f :3 ‘1)) . (xz)

X3

2x1—3x2
‘<x1— 2x2+x3) = (2X1 — BXp, X1— 2%z + X3 )

Db SE iy 4 sac B alad [l S e A 0 S Jhad [ G
L:R3 —-R?
(X1,X2,X3) > (2X1 — 3X2, X1 — 2X2 + X3 )
God Lo p8 Y KA A A i g (S Jhe 5245:8.2 Jha

S s S s gsd S 2 gelogn Hhai A Sy yie ada gy e Kine

S B = (Vi,Va) sacliose slmd sys€54 (R, R )2

2ol Boai Ll e, gagsi dS) B = (Wy,Wo)

s Soki 4o W0 Comdomain sx@ B 5l Domain
Wg = ('1 ,'1),W1= (1 ,'1), Vo= ('1 ,1), Vi= (1 ,1)

38 B B ki 08 e adasi e Sipe Sl ¥y 52 (@)

L:R2 — R?2
(X1,X2) ¥ ( X1+X2, X1 — X2 )
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By B ki Sine i oy jearad e al GSo e ga¥a 5 )l (D)
525

0w s L(vo),L(vq) ER? 24 A :1da (a)
3! a1y,821,812,822€ R ;

L(v1) = @11Wi+ @21Wo ,  L(V2) = a1aWq+ azws
= L(vi) = a11(1,-1) + a24(-1,-1) = (a41,- a11) + (-821,- A21)

= (a1 — a2y, - a1 — azy)

I L
L(V1)= L(151) = ( 1+151_1) = (2!0)
O
L(v4) = (2,0) = (@11 — @z1, - @11 — A21)
> ap—a =2 A -a;1—axn=0
= ayy-2+4ay A Qayy=-a = -ax =2+ Ao
= 2a1=2=>a1=-1 A aj1=-ax =1
L(v2) = as2(1,-1) + az(-1,-1) = (a12,- @12) + (-A22,- A22)
= (@12 —az, - 12— az)
I L
L(V2)= L(_1 !1) = ( _1+15 _1_1) = (05_2)
o

L(v2) = (0, -2) = (a12 — @2z, - @12— A22)

Sap—ap=0 A -ap—ax=-2
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= Q- A2 A A= 2-38»k = ap=2-ap
= 28.12=2 = a12=1 N Qo = 822=1

24850l B B ki e absije Sipa bl Lo (Saaiig
PN B 1Y e m AR (L) 44sa ise

Az (L) = (—11 D
. da (b)
X = (Xq,X2) € R 2
= Jlaj,a €R ;X =avi + aVs [oacld vy, vy 45 ]
= (X1,X2) = a¢(1,1) + ax(-1,1)
=(ai,ar) +(-az,a)=(@1—az,ai+ax)

> Xy=ay—a A Xo=ai+ a

x1+Xx2 X2—X1
2 0 2=
st o e LAy S b ada g e oS e 3 yisa
L(X) = L(a1V1 + aQVQ) = a-||_(V1) + do L(V2 )

= aq =

g e R 2eslionwy, Wy L)LV ER® o5k
3! aqy,@21,812,822€ R ; L(vy) = ay1Wy+ az21Wo ,
L(V2) = a12Wq+ @zoWo
= L(v1) = a11(1,-1) + @21(-1,-1) = (a11,- @11) + (-A21,- A21)
= (a1 - @21, -1 —axn) = (1+1,-1+1)=(2,0)

L(Vg) = 812(1 ,-1) + agg(-1 ,-1) = (812,' 3.12) + ('agg,' agg)
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= (a12- 22, -A12—ax») = (1-1,-1-1)=(0,-2)
088 Xo=aAi+ A S Xy=ag—ay S&A

Xi+Xo=ai—a+a+a =28

X{—Xo=ay—a—ay—a = -2a

L(x) = aiL(vq) + a2L(v2) = a1(2,0 ) + ax(0,-2)

=(2a1,-2 @) = (X1 + X2, X1 — Xo)

g IS (Y Sipe i ada s je 55 i 2
L:R?2 - R?
(X1,X2) ¥ ( X14X2, X1 — X2 )

A B = (Vi,Vs) seos (SLad 0S54 (R, R ) 2 181 i
S d S, B = (Wy,Wp)
.Wo = ('1,'1),W1= (1,'1), Vo= ('1 ,1) , Vi= (1,1)
G gsd i dss ¥ 4 L (lin-map) Sawe i
L:R?2 —>R?
(X1,X2) = (X1+Xo, X1 — X, )
seld pulnl 5l B hai S e adag e Sie A Ly (@)
¢Sl 45 (can-basis)
(Can- el ulul 5l B Hhai (S jieadag e Sipe i L2 (b)
¢Sl 4 basis)
scl 053 B = (V1,Vo) &S, vq= (1,1), Vo= (-1,1) € R® 8.2 cui
LL.gs (R, R )20l uldd B =(eepes)s (Rz, R )«
DY g iy S IS Y
L:R?2 —>R3
(X1,X2) ¥ ( X14+X2, 3X2, 2 Xy )

G Sie hd wl > S (a)
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paeld ) o) B 4l AB(L) GSsie dbasipe Sipe Jha L2 (b))
¢S w4 B (can-basis)

L Sipe i 4aa 3 AL GG (b)) 4o oSesie 45 (L) 2 (C)
S5 lay

By 5035 2 558 J S (Lin-Maps) 43 sfipe (b 23 1 G
S 1w 43 g8 ol S 45 5y Jine

(a)

L:R° — R

(X1, X2 )+ (3X4+2X2, X1)
(b)

L:R — R

(X1,X2 ) > (2X1+X2,X1,2X2)
(c)

L:R — R

(X1,X2 ) ¥ (X1,-X1,X2)
(d)

3 2

L:R — R

(X1,X2,X3 ) > (X1-X2,2X1+3X2+2X3)
(e)

3 3
L:R — R
(X1,X2,X3 ) ¥ (X3,2X1 ,X2)
B s i gAY i [ 8.3 (nual

L:R3 —R?2
(X1,X2) > ( X1- X2 +2X3, 4 X1 + X2 + 3X3)
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L S A ol e S@s (a)
B = (e1,62) 31 R3 2022l bl B =(e4,62,63) S(b)
Lo S oSasie AB(L) 2l s RZ 20l

bt abs e 4503 AL SO (D) v oS AF (L) 2 (c)
ce Sy LS.

2
oxe\d DJ:JB=(V1,V2) "\S.V1= (2,1),V2=(1,1) € R 8.4 (&
3 . 2
Y L s (R, R ) 202l el B = (61,60,85) 5 (R, R)
83 (5 yui y yai

L:R? - R3
(X1,X2) ¥ ( Xq+X2, 3X2 , 2 X1 )

GS I oS AB(L)

o B = (ViVa) S, Vo= (-1,1),vi= (1,1) € R° 8.5 cura

2 3

Pgsgsi i sS4l (R, R) 2ol
id:R?2 - R?2
(X1,X2) ¥ (X1, X2)

Lo S lwas B ol 08 AB(id)

43 hali ) Zie 9SG il (lin-map) SKiwe b o o i Lad ¥
S (R™ Jso 4 Jhe ) sbad 5,585 (standard) 2oulie 43 5 s
(S Bhua 2 g cagee 4 aSh ¢ (52350 50

0y ara (o> bkl 500 (W, R) 5 (V, R) :8.2 Lad
o Vaexld o5 B=(Vvy,Vs,.....,Vn) . A (dimension)
S b a2l o2 Wasxelios B = (W, Ws,..... W)
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A7 (L) = (a;) € Mmxn, R) s eilsbéed LV > W

DY Asnsa 0 gealsh (sa3Y 3 (155 e
L(vj) = X324 aijwi (j=1,2,...,n)

dars iY@ (j=1,2,...,n) L(V)E W (a8 A ol
Sy ISS 4y (lin-comb) Sy ha

L(vi) =auw: + aziwz + ... + am1Wn

L(v2) = aizwz + azewz + ... + am2Wm

L(Vn) - a‘]nW‘] + a2nW2 + .... + amnWm

Lih Aeallad 462 gu 03 W 2 (basis) sxclionB 2454
shalae sy 3 Gug) g N B @ € R @S Gha dse s )ls
L(vi) @ (0siw ) ain Ko Sl Jgo la JSS 4y (85 e 2l pa

DN IS Y L S Ag(L) 3,6y e pa Jibaa

al 1 a12 ...... aln
r a (053 JRNTTRTS a
B 21 22 2n
A (L) = : : H
B
Am1  Amz e Amn

s3 isomorphism &l saY 13 a9 S Gisdd 5 ))& (sl

M;: Hom(V,W) = M(mxn, R)
L — M (L)=A
164 (lin-map) Siga ki 5 M

t€ R , LLFEe Hom(V,W)
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= M (L) = A= (ay) € M(mxn,R) A

M§ (F) =B = (byj) € M(mxn, R )

= Vje{1,2,.n}; L(v)) =X, a;jwi A
F(vj)) =2iZ1 bywi

= (L+F)(vj)) = L(v) + F(v)) = XiZ1 agwi+ XiZq bywi
= izq (ag + bij)wi

B B B
= M. (L+F) =M. (L) + M, (F)

A FEAIEY
T L(VJ) = ;Z]_T al-jWi

= Mg L) =71 (ay) =7 M;3 (L)
.2 (lin-map) hs » M§ S Anii 4y
35 e 4S 162 injective Mg
L,Fe Hom(V,W) , M;s (L) = Mf (F)
= L(vj) = 2%, a;wi = F(v)
>L=F = Mﬁ injective
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2 surjective M,
Ae M(mxn, R) ;w, = X% a;w €W
(i=1,2,...,n) 2> L€ Hom(V,W) s s hatd Aaad =i 7,12
Sy (52 on ASa s M) G g s sm saln L(V)= W,
»e)nkd e isomorphisim s le
i 62 2550 S e AD (L) = (@) € M (mxn, R)
M, (L) = A= (a;) € M(mxn, R)
» XER? s Asymmetric< A€ M(nxn,K) :8.1 iyl
S OS5 (s
4 sl a s 4 positive semidefinite 2 usasis A (a)
LG
x.Ax=Y" japxiX; =0
. ¢ 4S negative semidefinite 2o A (b))
Xt. AX = Zf’l} ai]'Xin <0

$28 dis positive definite 43 sy A o0 x#0 2 (¢
(S A4S

)
X.Ax=Y> QXX >0

S s .S dis negative definite < Sayie Aol x 20 & (d)

R
X', AX Z al]xxJ <O

al]X XJ Zl 1 Xj (Z] 131] XJ )
169



Linear Algebra sl >

r e
2 -1 0
A=<—1 2 —1) 0# XER3 [ 2585 SsunX ]
0O -1 2
2 -1 0 X1
XLAX = (X1,X2,X3). <—1 2 —1). <x2)
o -1 2 X3
2x, - Xy
= (X1, X2,X3). | —x; + 2%,  —x3
—x2 + 2x3
=X1(2X1 —X2)+X2( -X4 +2X2—X3)+X3( 'X2+2X3)
=2 X% — 2X1X2 + 2X% — 2X2X3 + 2X§
=X% +(X1—X2)2+(X2—X3)2+X§ >0 [ 0=+ X"S\i]
= A positive definite
:8.2 iy

A€M xn, C) ,A:=complex conjugate , A := (4 )"
. sambasia A adjiont matrix 2 oSosie AN (@)

. . JGA
A= (g }2—+211) ; “T=3(§ 12+_21i)
= A =(A)t=(2—i 1+21)
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S .S dis (Hermitain & ) self adjiont < oS A (D)
$s A=A o

a=(; 1) == )

N A*=(/T)t=(1i _1i)=A
.Y S (Hermitian ) self adjiont s A o> Js& Jals

@2 Hermitian matrix 43550 yia gy la Ll 1 jal

A=(? ;‘) ,B=<22—i 2;1 ?)

4 -i 1
1 1+i 21
B= (1 —i 0 —i)
-2i -3 0

s (antihermitain & ) skew Hermitain « oSuyie A ()
S5 A =-AgnaS oS

:JGa
A:(—z_iri Z(J)ri) = A= (—Zi—i 251)

* 7t 1 —2—1 —i 2+1i
=A=@r=(,1 g )= T )=A
= A skew Hermitain

AeMmnxnK):8.3cual

o S s.pbasi 4 involutory matrix 2 ose e A (a)
$sA*=E,
1l

A= (1% :411)
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= 2=(5 )5 Za)
=( 44+ (-1).15 -14+ (—1).(_4)>
154+ (—4).15 —-1.15-(-4).(—4)

(o D)=®

= A involutory

. 83 0S2ie involutory 4xa
a b 1-a?
e )23
p @ b -a

a b a b
A= 1-a2 .| 1-a2
< b —a) < b —a)

< a’+1—a? a.b—b.a)

(1 0\ _
a.(1;a2> —a(lb—az) 1—a%+a%?/ (0 1) = E

2529 m € N s> 4S «sb a5 4 nilpotent matrix @ A (b))
S S i jiadhn e M(2 X 2,K) 2EY .4 AT=EY o> w5

' :JGa
(2 =2
A= (2 —2)
2 (2 —2 2 =2y _ (0 0\ _ oo
A'(z —2)'(2 —2)_(0 0)_E2
= A nilpotent matrix
¢35 A% = A4S sl a5 4y idempotent matrix 2 A (¢)

sl
A= (12 :é)

172
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(1 235 Z3)= (a3 ahs)

= A idempotent matrix
2 52 e idempotent (5 e 3l
permutation matrix (d)
¢b a4 permutation 2 ¢ bijective (o &8 gV o8
f:{1,2,3,.....n} — {1,2,3,....,n}
Sl IS s 4y 43a yise

1 2 3 n
f=
(f(l) f(2) f(3) - f(n))

(s A JSE Y g Pray e 4S 2 permutation matrix

€ (1)
Pi=|
€f(n)
SHAoal A 55850 sl W R Ay gyy),...,E42), 1)

2500 permutation Y .y se 1JUa

f2{1,2,3,4,5}—{1,2,3,4,5}
f1)=1,1(2)=4,13)=2,f4)=5,(5) =3

S S 4y S e 3 4z Ga sl

1 2 3 4 5
f=
(f(l) f(2) f(3) f(4) f(5) )

i Jyshy Ay Jso ¥ 4 f o permutation matrix
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/ef(l)\ /el\ /1 0 00 0\
€r(2) €4 0O 0 01 O
Pi=|€é3 | =|le,|=0 1 0 0 0
kef(él) ) kes ) ko 0O 0 0 1 )
r(s) €3 0 01 0 O

paic N G dS Gy (63 g malic 3 Cuw el Permutation 2
Sobiay Jie 5048 3 nl sk el Permutation 2 WL s ls
o s

51=1.2.3.45=120
aline 120 o> S 24 12 62120 2 i Permutation 2
2 I se 48 e permutation

e
/1 2 3 1 2 3
f'_(z 3 1) g'_(1 3 2)
s S Py s Py oS sie permutation

3l by 0 oS e jdempotent s A € M(n X n,K) :8.3 Lad
LS}S Ba Lﬁd\é\
(a) A+ E, = Asingular
(b) det(A)=1 Vv det(A) =0

Gy S AT Al G s 4 Susie singulars A4S ida (a)
Aidempotent = AA=A = A" AA=A"A
= E,.A=E, = A=E,
S5 oS singular 3b A o s s i o ® A= B, Ss
s (b)
A idempotent = A? = A = det(A?) = det(A)
det(A?) = det(A.A) = det(A). det(A) = (det(A))?
— (det(A))? = det(A?) = det(A)
= det(A). [det(A) — 1] = 0 = det(A) =0 V det(A) = 1
) sVl L 53 S e nilpotent s A€ M(n X n,K) :8.4 Lad
(S Bha
(a) det(A) =0
s oy B 4y S jie aaba e M(n X 1, K ) 2ise ida (@)
A nilpotent = Im € N; Am =E?
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= det(A™) = det(EQ) =0
— (det(A))™ = det(Am) = 0 = det(A) =0
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Juad pgd
Adg S g ( (alatial) duadiia g) Ad giasd ((alaial) Avadiia
[ Eigenvalues and Eigenvectors ]
coalimd )5 o5 (VK ) 1 9.1 iy al
End(V):={L:V—>V | L-End }

AEK .62 LEENA(V) sl bad o585 o (VK ) 9.2 iyl
Lypbaag @opbesi 4 (el albaidl byl 4adia) Eigenvalue 2
(S o Cwald g3V 0FVEV LSy 02

L(v) = A.v

psid A b (LS salaidl Lyl aadia ) eigenvector L2 v
5585 dadde el D)4 S5 GV S eigenvalue s .gapb
32505 hash oLl ) 9 5 aiadiiia a3l Saa L (515 ( €igEnvectors )
L6 A5 ga Crad duadlia
Aadda L dpa Pv Wy AR HiSs 4aadiic vaS Jea 4 Jha
ASA |, a8 A ki ( eigenvector ) LS5

MEK,u 0 , LV)=pL(V)=pAdv =41(uv)
s L(-v) = Av &

L(-v) =Av = L(-v)=—-A.(-v) A L(v) =(-2A). vV

$ 43— ki) dadie —V ) VS
(6 S Bua Sl ) @aY G pa e see 4y

Liv)=Av & L(v)—Av=0 < (L-2id)v=0 5

AEK s LEENA(V) , o0 lmd 558505 (VK ) 19,3 ciy s
Eig((L,A)={veV | v#0 A L(v)=Av} U0}

Ao gabasa ] Cuw (Ll 4aadls) Eigenspace L 2 Eig((L, 1)
. A e Cuald invariant 2 Eig((L, A)
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s i J K1) @i 1Y (S Lad 5,585 (R2,R) 4 :9.1 Ja
L:RxR - RxR

(X1,X2) = (X1,-X2)

X= (X1,0) ER? 2>4s,585J6 .62 L€ End(V) > = Jad
NUA R “}:G.:C'_Lus L;Laﬁi\g?L;JLJMJJ}SSijM‘L_.;)SJJSJL
SA

L(x) = L(x41,0) = 1. (x4,0)

gy adiiedarn ¢ )l ISE X = (0,X) € R? (o> 455,585 Jsisl
ASA (60 ,’—1“ﬁg§AA s.u"_m.é L;Laﬁ';\@&d L2

L(X) = L(05X2) = (0! _X2) - -1 (O!XQ)
g}d&»gmytﬁ}wwcﬁwdj

EiglLL1)=R.e;={r.(1,0) | r eR }
EiglL,-1)=R.e,={r.(0,1) | r eR }

S OBy &6 identity 2 @Y 1 (S Lad 558545 (V,R) 2 ise t Jha
et

id:V -V

V — Vv

VoaSa, ASaS Gl aadiio e 14 ilpké 5 id € End(V)
id(V) =1.v 458 | graaddedd jd Hhiai )iSsds

sainterval s IS R 1 Jba
V:=D(I,R) = {f: 1 - R | farbitrary differentiable }

G2 Gle 2 by Al e 24y arbitrary differentiable

L.V -V

f—f
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Lobordwdaaniio o 1€ R 23 LEENAV) > xS Jdu
U EPR

f(x):=c.e®* eV
L(f(x) = L (c. e™) = f(c. e™¥) = A ¢. e2*
= 2 (c. ™) = 1£(x)

(eigenvector LsSsamsias Lo f(X):=c. e o)l c € R* sy

& 4 k)
w. 1€ K sLeENd(V) , L=b s 58505 (VK ) 9.1 Lad
(1) Eig((L,2) is Subspace (\x=é = 4)inV
(2) A Eigenvalue ( —wd 4«wiis) < Eig(L, 1) # {0}
(3) Eig(L,A)\{0}={veV |v£0 A LK) =21V}
(A b Cuw 598 sbaidl g6 a g slua )
(4)Eig(L, 1) = ker(L — 2id )
(5) Lue K A A#u = Eig(L,A)nEig(L,pu) = {0}
P css (1)
u,v € Eig(L,A4) = L(u+v) = L(u) + L(v) = Au + Av= 1 (u+Vv)
= u + Vv € Eig(L,71)
a€ K,ueEig(L,A) = L(a.u)=a.L(u)=a.(Au)
3 S Vo4 Lb e o Eig(Ld) oS 4 4
Gigaly G (3) 51 (2) 0
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sl (4)
v € Eig(L,A) = L(v)=4Av = L(v)—Av=0
= L(v) —Aid(v)=0
= (L —id)(v) =0 = v eker(L—2id)
= Eig(L,A) < ker(L —2id )
veker(L-2id)= (L-24id)(v)=0=L(v)—Av=0
=L(v) = Av
= v € Eig(L,A) = ker(L —2id) € Eig(L,A)
.2 ker(L —2id ) = Eig(L,A) > 54 <sd
g (5)
w eEig(L, 1) n Eig(L, u )
= LWw)=Aw A LW) =uw 2 iw= puw

>A—ww=0
Sl adesw=030on.2 AFEU SSA

Eig(L, 1) n Eig(L, u ) = {0}
osSsVi=(R™, K ) 2 hid Sdad o4y yise gadd Lo G
s Sobid s K= CLh K= R o by a0 (pme (> Liad

(lin- Sipe s LR 5 R 202 dulysme Sl 8.1 4 1asd
5 )5 ki 43 (canonical basis) exld ulul Jlie LW map)

2 A8 w3 s LX) = A > AE M(nXn, R) oS
U5y el daray X a3 L ki (eigenvelue) cuwd aadia
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=l )5S s dadlia o) G Aadda b Y S Ly (55 (€igenvector )

AX = Ax 1 S

adayl y 1Y 1o W o5 (UNity matrix) oS 2als Ej€ M(nxn, R ) 48
102 63 9 g

Ax=Axo Ax—-Ax=0 & Ax-A(E,.xX)=(A—-A.E,). X

s JUia
3 0
A=(8 —1)
§43 aeli ol Jl (S dasse LE End(R7) 3 A4S
1 2
'Luc =
s Vv (2) ER

a0 (0)-()-3.()-a

(80 el Aundliaadagr a4z 33 5 HeSgaadiag Vv > oS dal

s (dimension ) a (e o2 02 lad 558 505 (VK ) 19.1 Lad
L A€ M(nxn, R )sl sSasiessls E, <LEEnd (V)< A€ K«
‘L. @243 (can-basis) aeld (oubal jlai (18 yie ada s s

det(A -1.E, )=0 & s (eigenvalug) wsd amiia ]

1 gl
dveV; v #0ALv)=2
s Lv)—-Av=0
& (L-2idy)v =0 [ L lin-map ]
< ker(L-21id, ) # {0}
& dim(ker(L—241id,))#0 A dim(im(L- 1id, ) < dimV

srank (L-—2idy )<dimV=n [ Seadcamis rank 2 ]
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< rank(A-1.E,)<n
< dettA-1.E, )=0 [ &&d Wl 75 2]

Le End(V) o dim(V) =n > L=d)s€sen (VK) 9.4 Cius
5 42 ( characteristic polynomial ) a5l s 4eadiiia 3 U g2Vl (52
g4 Lk

PL: R-> R
A — det(L —2id )

@b a4y sl IS a4 53 Y S p
S aecld pulul i WSG a3 A =(a;) € M(nxn,R)

©2dsaie s t
P.(t) = det(A —tE,)

all - t a12 - . - aln
321 azz —t . . .

=det(\ : -_))
an; ... . Co. agg—t

“aadde i led 9.10b3 (PL(t) =0 Ha) sl Pi(t) 2 ds
.2 (eigenvalue) 4 siwid

Iy 45 gacld ulul Hlad S yie ada g pe Sine a0 5 e aily 1 Jla
eV Lo S ohiaglad )€ (R2,R ) 200k 8 a2, 5 S
5 s iy a3 J g9
L: R2 > R?
(X1,X2) > (2X1+X2, X2 )

.2 LEHOM (R2R?) (o298 Csd b 6¥ S o Sl 4
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e2=(0,1) 5 e1.(1,0) St (R%R ) 4 o> s
Q4 peal gl L o5 ((canonical basis) sxxE ol 4554
Shwa [ ohies, e

L(e) =L(1,0) = (2140, 0)=(2,0)
L(es) =L(0, 1) =(2.0+1,1)=(1, 1)

AS LAl (Usiu ) e Sy dbisipe L34 sl 2o B bl
smis A 4 S e daa

2 1

A=(0 1)

.24 e, €y Lfdgug_;“‘l'“‘“)h L >oSoyeahsnyn A =

A-tE = (P0° 1)

2—t 1
0 1-t

=(2-t)(1-1t) =0

p.(t) = det(A —-t.E; = ‘

=tH=1 A 1b=2
LﬁjﬁtAJ jJ\j.&"— L).uj‘ _(JJS \.J*UA 2 }\ 1 ‘&JJSA:@: dunaAia 6 9
b_)\.ﬁj &_1.40:13 aandiia 1 02 LSJ.Aj _}JS \Jﬁﬁ 4_'1‘5_)‘535‘5 Gmkmﬁ;\

(A-tEx)(x)=0
o' 1066 0)6)-0)
=X +X=0 = X =-X

Eig(L,1) = {(m,-m) | me R} ={m(,-1) | me R}
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adia (2,-2) sl X1 =2 ¢ Glpasxy=-2 S dmagdisn
A T =T Dl dadlie G 88

Oolaial
L(X15X2) = (2X1+X2’ X2 )
L(2,2) = (22-2,-2)=1.(2,-2)
> )de C'_m,gﬁ dandAdia 2 2

(A-t.E,)(x) =0

2—2 1 X1 0 1 X1 0
( 0 1— 2) '(x2)= (o —1)'(x2) - (o)
=0X1+1.X%=0A0X4+-1.%x%=0
w&\@fo&sdnw)m X1 ¢ Xo =0
Eig(L,2) = {(m, 0) | me R}={m(1,0) | me R}
oS sdaddec hany Xy= 33X =0 ASdpadhe
452,50 (3, 0)
L(X15X2) = (2X1+X2’ X2 )
= L(3,0) = (2.3+40, 0 ) = ( 2.3,0) = 2.( 3,0)

s Loy oShyieahas w A 5V LE End(R? ) 48 1 9,20\

A=(G )
A-tEe = (_:t 46—t)
pult) = det(A-tEz) = L7 0 | =f -tz
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pLt) =t*=3t+2 =(t—1).(t-2)=0
>t=1,t,=2
j)};is} dunaAiia D NER 43 L JLJ 45}3A,3§ dundAiic 2 j\1

da i Yalae 1Y 2l oLl 61 S o (eigen vectors )

(s

(A—-tE)(x) =0

(A -t.Ep)(x) = (_:t 46_ t) - (2) =(8)

:cjgﬂﬁqgwtz'l .JL;JAS

(A-tE)0= (70 L% )G =(Q)
- (I %5G)=6)
(Zot 150)-()

= 2X1+6Xo =0 A X4 +3%X =0 = X4 =3

Xo=mM (MER ) »iseaS A da iy Jalas B e a4 A
38 s

Eig(L,1) = {(83m,m) | me R} ={m(3,1) | me R}

4adda (3, 1) slgS X1 =3 ¢ hapasXo=1 S dsmadien
245 = 1 el Aadile a5

b Lo o i a0 A g LE End(R? ) 45 1 9.3 Jue
$s 43 ( standard Basis ) sl s2cld
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A=(—51 _:?)
Aot (50 520
put) = det(A-tE) = |° ¢ 7% ‘

=(5-1).(3-1)-8
p)= P=8t+7 =(t=7).(t-1)=0
:>t1=7 ,t2=1

o4 L b 4 sl adie 7 51 1
s (HYalaa 1Y bW S1S la (Eigen vector ) )5S s 4adia s

(A—tE2)(x) =0

(A-E0= (°5F 78 = (9)

:ojgdﬁqﬁw.q t=7

(A7E0= (227 2.3 =)
_—84)' (i;) - (8)
- (o 2a)=0)

$-2X1—8X2 =0 /\-X1—4X2=O$X1=-4X2

I
VN
|
Ll N

Seay Xo=mM (MER ) ¢ gl da il b Jilaa )543 A
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Eig(L,7) = {(-4m,m) | me R }={m(-4,1) | me R}

dadlapndrat 3 S Xy =4 ¢« SpayXy =-1 48 Jgo 4 Jlie 2
53 (4,1) 45 e amiia =7 i)

9.1 (el

A-(p 2)B=(p 2)

SE A, sSs daddehg i oSoie A (Q)
WSS )sSs dadlahn waiSayie B (D)

4 dlac] A Cied Aaddin S 4y 2 i Alla g (S JUe 5045 :9.4 Jha

£($9
(standard Basis ) excld ulu) jhi (S0 e L 2 A 5l Le End(R?)
CERN
3 4
A= (—4 3)
3—t 4
A-tE = (°° 0 )
_ _ | 33—t 4 ‘
pL(t) = det(A—-t.Ex) = ‘ 4 3_¢

=(3-1).(8-t)+16 = t?—6t+25 = 0

6 +V36—4.25 6+/36-100 6 +V —64
2 - 2 - 2

tio=

LA gied Aad i S R4 o ¢ @42 Jliay/ —64 a8 A

s A S Y A€ M(2x2,C) s
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245 galae) GSlaS i aily S 51 JSd Jlie s 0 oSesie A
6 +1/36—4.25 _ 6 +/36—100 _ 6 +V —64

tio=

2 2 2
_ 6%/ (-1).64 6+Vi*-82

- 2 - 2

_SE8 4 344

2

3-4i by 3+4i n > AUl aaiiangy 45 C ki o #8 dady
(89

oSaywahg w2 A€ (nxn,R) s LE End(R™) :9.5 iyl
(S AS saeld bl s

CE A b aakin A i (eigenspace) Las aaxis Eig(l, A1) a5 (a)
4 (geom- multip) geometric multiplicity >dim( Eig(L, 1))
ol s

4 L ki ( asils4aiie) Characteristic polynomial << (b))
TR PRSNEER

P.(t) = det(A —tE,)
= (A=t (A, =t). (A, -t)
2 (i=1,2,...,n) A; 2 Ki
) 4paxa yise 5 )l a5 4 (algeb-multip) algebraic multiplicity
jﬂ“ e Au (PLI /’li
Ls A 5 R3sexl b B aS. L End(R? ,R ) :Jba
S B ki 8 e ada g e
0 -1 1
A: = Mg(L) = <—3 —2 3)

-2 -2 3
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—t -1 1
P (t) =det(A—-tE;)=|-3 —-2-t 3
-2 —2 3—t

g A IS Y (char-polyn) asil s 4aaidida 42 3
Pt)=-tP+tP+t—1=-(t=1)2(t+1)
S A =1 S=e -1 51 2 (eigenvalues) 4 siad 4aadia

Ay 250 2 4 ssbee A, 2 Algebraic multiplicity oo . 1, =- 1
s 14 b

nu(PLs /12)=1}‘M(PL5 /11)=2

law (eigen vectors ) 4is)siSs aadia aba g o el daddia | =12
5 da s (SYalea 2V 2o ) 51 S

0-—-1 -1 1 X1
<_3 2o1 3 )()
-2 —2 3—-1 X3
-1 -1 1 X1 0
= (—3 -3 3) . <x2> = <0)
-2 =2 2 X3 0

= -X{—=Xo+X3=0 DXz3=X1+ X

Eig(L,1) = { (Xi.Xa,Xs) € R | Xg = X1 + X2}
= {%:(1,0,1) + %2(0,1,1) }

G eod Eig(L,1) 202l og 41,585 (0,1,1) ¢ (1,0,1) o> 4504
ki geometric multiplicity = .s2 dim( Eig(L,1) ) =2

abogy e Gl diadiio 1) =-12.620 2 b O Cwdaaiia A =1
w\J‘\A&d;J?Lgu‘;'i\hm 3 2 (eigen vectors) 41y )5S g dadia
LAl 4
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0+1 -1 1 X1
< -3 —-2+1 3 > : <x2>
—2 -2 3+1 X3

1 -1 1 X1 0
-2 -2 4 X3 0

=

X1—X2+X3=O
—4x,+6x3=0

1
= Xo = X3 /\X1=EX3

N w

Aadlolog e s 3 g2 Gda padh gadll  Saay Xg=a AS
s A JSS aY (eigenspace ) Lead

. 3
Eig(L,-1) = { (X1,X2,X3) E R | X1 =%x3 A x2=§ X3 }
- {Ga.laaeR} ={%(1.32) | aeR)

oy 2 Big(L,-1) 2eelion 5585 (1,3,2) o2 oXia
_ki geometric multiplicity = . dim( Eig(L,-1) ) = 1

21 sbee A Caf i i L =-1
2L e End(V) 5 g v nee (o2 Ll (5558500 (VK ) 19.2 Lad
Cuwi (eigenvectors) 4y )5S abaidl vy VoL, Vg 4S

L ¢« g5 45 (eigenvalues) s siaf awadie ilise A, ..., 45, A4

s> m < dimV 3 &2 (lin-indep) Jéias (b v, ..., Vo ,Vq
e gl b gl
aiVi + Vo + ... + AmVm =0 ( a€E K,i= 1,2,...,m)
>ad=a>=...=an=0
S el 43X &,k complete induction 2 ekl s
:M_Lﬁjstédmo)\:d m=1 J:C\S\A‘sﬁ
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aivi=0 = a1 =0 [ 62 LsSs4adda vy 53]

S Bras il m-1 22 Ua i clla ango
GS Buaa ol M oo o5 Gl alla e

18 B Ay shipsSy eabaidl vy o A5 A
Lv)=Av; (€N ,i=12..m)
a1V1+aQV2+...+ame=0(aiE ]K,i=1,2,...,m) (*)

= L(aivi +azv2 +...+amvm ) =L(0) =0
= a1.L(V1 ) + aQ.L(Vg ) + ... + am.L(Vm ) =0

= a. Vi +A. Vo + oo +AnApVm =0 (%)

@xY Ly g )S (3 8 4AX () d\,}gj\g)@é M4 dd\xa(*)d\s
:é\JﬁwY‘dd\&A

ag.(lz—ll )V2+a3.(7\3—7\1 )V3
+..t@m-(Apg—2A)vn=0

:ab Aw 4l wm 8 Induction
8.2. ()\2_)\1 )=O,a3. ()\3_)\1)=0,,am(Am_)\1)=0

quubum@dymjmﬁw@&ﬁ
A=A #0 , 3—7A 0, ...... A — A 0
= a&=az=..=a,=0
et JSG Y Alalas(¥)
aivi+0vo+...+0.v, =0

=>a;=0 [ vi#=0 s ]
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= Vi, Vo, .... Vi lin-indep
:9.6 i
diagonal matrix » oSa e Ae M(n X n,K)s (a)
Al (i) ) a3=0 > bbb 4 (0S5 ki)
& pole Asay ads
Jis 5 5 diagonalizable < oS yie AeM(nxn,K) » (b)

D652 SE GLIN, K) oS 0> bderag S
Do 89 00 D 4y ase ise 5l oo S0 e diagonal o STALS

[ \

D:=S'.AS=

0 dun
ABeM(mxnIK) (c)
4¢sS dis (equivalence ) Jabae (8o e B aad (180 5ie Ao

PSSP
3SeGLMK) A3ITeGL(,K) : B=SAT'

ABeMmnxnK) (d)

byd oy S dus (Similar ) 4alie (850 e B a4 S e A 2

1S eGL(n,K);B=S.AS"

piom A~ B daraly g gsalindinsy B sl AaS

1 Jlia
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“Sa s (similar ) 4lie wSo e B o S A

s S 50Y (Ko § 2 a8

s=(p 1) =8=( 1)

stas=(3 (G DG D

(DG -G Y-

g

(a)

N Slise i s sk ( similar matrices ) 48 sSa yie 4lia( i)

4 slad 4adie (similar matrices ) s ie 4ldae 3 (i)

4558y pabiatidl ada s je (5920 3 Ra (53 (55l o (€igENVAlUES )
SO (S 91 2 BV S AV b (e 48 gl oy

¢ (rank) <5, (s sk 43508 5ie (equivalence ) Jd= (b))

Jlia
A=(y 0)-B=(5 o)

Rank(A) = 1 = Rank(B)
Lﬁddj—’-“"ﬂ‘\-’)ﬂs‘-‘)—’-‘B_ﬁ‘Aw‘;’
o 55 45 9 e (g L 2
PN A5 e 5,k B gl A Y ) i

0 Ann /
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(a)
a;; + b1y
/ Ay, + by, 0
A+B=| .

0 Ann + bun

N~

(b)

A.B=
0 ann . bnn
(a11)?
/ (az2)? 0 \
A% =
I I
\ 0 (apn)? /

193



Linear Algebra sl >

35y sa ga¥ hd Ll o o palie J5i 2 00 e s 19,7 iyl
3 o ol asi 4y (S Sl ) 5) upper triangular matrix
A K

a1
az; *

A= \
I

i>) = a;=0 (i,j=1,2,...,n)

shd el S5 sie (Sl S s2) upper triangular s 2 19.3 L
&2 (eigenvalues) 4 sicd 4adia 428 3 palic

03

2 g

PL(t) = det(A - tEn )

[ \
Az, —t *

= det( )

Anpn — L
= (a11-1).( (Az2- t). ... (@~ 1) =0

= ti=a, tb=azx, ..., th=2am
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w.SeGLNK) s AeM(nxnK) :9.4 L
@) (eigenvalues) 4isied aaiie e STAS 5 A (a)
s «s 5 (diagonal matrix) oS sie Jifs 3 STASS (b)
(69 4 siad duadiiie (S jie A dpalic jli Lal ST AS G ua
D:i=STAS :in.saomD4STAS yisercisd
(a)
Po(t) = det(ST.A.S - tE,) = det(S".A.S - S1.tE,. S)

= det(S"(A-1tEn).S)
= det(S1). det(A - tEn) . det(S)

_ 1
"~ det(S)

.det(S)(det(A -tEn) = det(A -tEn) = Pa(t)

Lﬁjmw%_gsdé_gmg)&e#ﬁm A_j‘ S-1ASJ@L5J.=‘SJJ.=‘S
$ ! b 4 fled 4

3w «s 5 (diagonal matrix) oS sie iy STAS S e (b))

> ( diagonal elements) swalic 5,k Jlal ST AS S 204l 9.3

A q@}gﬁ‘\msﬁm‘}ad(a) J@&J&_Lﬁdﬁj@w PP

4 giad daddie A3 ualic i3 STAS Gus3 s s STAS

@2 ( eigenvalues )

S K™ 2oacBo g disysS5vy,.. Vo, Vi, AEMn X n K) :9.1 4pd
o oS e S (columng) i 435585V, Vo,V AS

@2 (invertible) »y (e sSae Sa e S ()

2 b oy Ja s o383y (b)

. (1)
o)
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b e 420 ,1].5\”35}@ Ax(j=1,2,...,n) v (i)
62 el duaddia
(a) <@g
Vi, Vo, ..., Vy basis = vy, vp, ..., v, lin-indep

= rank(A) = n = det(A) # 0 = A invertible
(b) s

A diagonalizable & 3 S € GL(n, K) ;

A *
STAS=D= ( )
0 yn

< AS=SD
os .2 (columns) i S 24,585 vy ,...,Vp Wy (o 4S54

AS = (Avqy, Avy, ... AV, ) =S.D = (Vi A4, Vo Ay, oo, Vi 4,)

@AVj=AjVj (j=1,2,...,n)

4 sied daddie I; bg e dis) iS5 aaide A3 (j=1,2,..,N0)V
QSJ
s JUa

-2 6

A=(—z 5)

4283 ))& 5l .63 S sie Diagonalizable & A (o> 55 Csdig )l
A-tE, = (200 0

-2 5—t
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2—t 6
—2 5—t

=?-3t-10+12=*-3t +2 =(t-1)(t—-2) =0

pa(t) = det(A —tE, = | =(-2).(5-) + 12

=t=1 A 1b=2
‘5.;4\..;43;\ ‘daj.jJA 4..1.%.3‘5_‘2\‘5.'0 u.n_g\ .89 4..'1_5:149733 dundlia 2 j‘ 1

o_)\.ﬁj &_Lo:ag Andiia 1 2 LSJAS ) JS\J:%}:} 4..'1})}35‘5
(A-tE)(x)=0
—2-1 6 X1 -3 6\ (% 0
( -2 5— 1) '(xz) - (—2 4)'(x2) - (o)
= -3X1+6Xo=0 A -2X;+4%x:=0
— Eig(A1) = {(x;,%) € R° | -3x; + 6% =0 }

= {(X1,X2) € R’ | X1 = 2% )

G5y Aadliag (2,1)=Jl;dx2=1 3 Jse 4 b
345\35\34_3}_)}35}4..45.&“ Lyf&_m:\gw2dw‘5\

(A—tE,)(x) =0
—2—-2 6 X1 —4 6 X1 0
( 2 5—2) '(xz) - (—2 3)'(xz) - (0)
= A4X;1+6Xo=0 A -2X;1+3x:=0
— Eig(A2) = {(xi,%) € R | -2x; + 3% =0 )
= (X € R | x=3% }

©2(3,2) LSy aaddas il Xp = 2 3 g4 Jhan
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wadde 2 (COlUMNS ) Fw o o Cat Jsold S0 e S Al )

(59 M)
s=( %)

det(S) = 1
S'-ms(h )i DG )
stas-(5 5) (G 56) G %)
=(—22 3)( ) )

A o Aed i gy 3 pSsie UR 2 STAS (2 S Al
= Diagonalizable s e
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bad (g )9S g Lﬁ":‘ﬁ‘
( Euclidean space )
5d L'Aéd_)}ﬁjbﬁ (V,K) :101 dﬁﬁ

s:VxV - K
(V,w) — s(v,w)

b asi 4 bilinearform 2 e wsal 3 u¥ 3 26 5 3
AEK s vV ,WwWwWeEV
(1) s(v+v,w) =s(v,w) +s(v,w) A s(Ad.v,w) = 1.5(V,w)
(ii) s(v,w+w’) = s(v,w) + s(v,w’) A s(v, L.w) = A.5(V,w)
G 4SS dis (Lblis) symmetric 45 bilinearform s
o S b a4 glternating 2 ¢« s s(v, W) = s(w,v)

s(v,v) ¢ 4S 2 positive definite 5 5 s(v, w) = - s(w,V)
$Sy Buas)d v 0 23>0

( R — scalar product ) :10.2 <y s

2ot o3V (s <, >4 ) salad 558500 (V,R)
s bilinearform

<,>:VxV - R
(V,W) — <v,w>

sk asi 4 scalar product 2o sal A g3V Y < >
(1) <v,w>=<w, v>
(i) <v,v> >0 (v+0 2)

S DAy e 4 o Lad 6685 (V,R) e bilinearform s
Jis 45,5 scalar product « ¢ positive definit s} symmetric
EBN
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(A
<,>:R?’xR? - R
(X,y) — <x,y>
Cyshampidn gV a <, >
<XKY> =< (X, X2 ), (Y, Y2 )> = X1 . Y1 +X2. Y2
w2 scalar product s <, > > ¢S Gl
> s sise. Interval = I=[ab]e R s
Lad 558500 C(LR):={f:]1 - R|f continue( s>li)}
©2 C(I,R) 2 bilinearform s &b x¥la | o2
<,>»C(,R)xC(I,R) - R
(fg) — <fg>= [, f(Dg(®)dt

2o R — scalar product 2bz=d 5,585 (V,R) o5 :10.3 iy a
a4 g ol gabasia (Euclidean space ) Lzd )55 sl
s (V, <, >)
(standard scalar product in R™ ) :10.4 < =S
S (s pxi mapping ¢uY b Lad 5,58 (R, R) e
<,>:R*"xR" - R
(X, ¥) m<Xy> =X .Y +Xo. Yo+ ... + Xp . Yn
$2 X = (X1, X25eeneey Xn) 5 Y = (Y1, Y2, coen s Yn ) 430
DS Cusaigd 6V S o (Al 4y
X, V,yER" 1€R
(1) <x+X,y> = <X,y> + <X, y> A <AXY> = A.<Xy>
(i) <XY+Y > = <X, Y> + <X,y > A <X, AL.y> = A.<X,y>
s> bilinearform & <, > o

<KY>=X{1.¥1+Xo. Yo+ ... + Xu.Vn
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=Y. X1 +Yo. Xo+ ... +¥Yn. Xyn=<Y,X>
= <, > symmetric
<XX>=xf + x5+ ... +x2 =0 = <,> positive definite

Lad 5,58 (R®, R ) S 4 4 5 scalar product » <, > o
s> Euclidean spaces« <, > Lk

)5 S RS sa 4y s90b s 58 4 standard scalar product 2 <, >
sls»  Canonical scalar product

Norm 2 ali ¥ o, salxé Eyclidean os: (R™, R ) :10.5 iyl
Gl psi 4

I1:R* - R}

X > Il :=vV<xx> = Jx2+x2+ ... +x2
L (62 o i Adllae 3 (g gl a8 (S Ld 5S4 RS
Xl = | x | o=
a2 gl s.b a5t 4 normed vector space e s lad 5,485
SoSJassem (R, 1) =«
Jlia

<,>:R?’xR? - R
(X, y) — <X,y>I= X1.Y1+X2.Y2
X=(1,2),y=(34) € R?
<xy>=13+2.4 =11
IxIl =v<xx> =V11+22=V5
Cosa @34 .Sodie A Y sl X345l a &S Galay
18 S Jse saY 4 scalar product

<y>=1[x|.lly Il .cosa
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. (e sald) 2V 3 Gl CcOSA Y (> bk s 4

>0 ,OSa<§
Cosa: =
<0 ,§<O(ST[

Gl cmmide Y ad gt (R 1) 2 :10.6 iyl
d:R*"xR" - R?
(xy) —dxy):=lly—xI

d (x,y) < ..t asi4 metric 2Ly distance Function » d
t N oald aiY Alid o, e Fie i skl g2y o) x 2 alald

X,y,2€ R"

(a) dxy)=0 & x=y

(b) d(x,y) =d(y,x) ( symmetric )
(c) d(xz) <dxy)+d(y,z)

4 4aa o) 5.h a6 4 metric space e metric 2 Lad 5 )5S0
» a5 4 euclidean metric 2 metric space .S b3 (R, d)
gl

Jiia
d:R3xR3 - RY
(X, y) —dxy):=ly—xI
x=(1,-2,2),y=(3,0,1)e R? :Jsp4di
dx,y)=lly—x1=1(30,1)-(1,-2,2l=1(2,2, -1)I
=/<(2,2,-1),(2,2,-1) >

=V4+4+1 =v9 =3
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:JUa
d:RxR - R?
(% y) —dxy)=|x—y]
D) pa asee 43 bl | o2 (Metric space) bad S yiw o s (R, d)
d:R*xR" - RY
(xy) —dxy)=2% |x -yl
. »3 (Metric space) Lxad Sasimosn a2 (R", d)
X,y € R™ . o2 lxé (Euclidean ) sull o (R™, R ) :10.7 iy
4S ¢« 2 (orthogonal) Ju R 55 S R4y X (a)
X,y > =12 Orthogonal o585y sl x 2.5 <x,y>=0
Csdiom X LY 4 4xa yige o) (6335 Jig
s 4 ¢ 2 (orthonormal) Jwsisiss) SRM 4 y six (b))
Db

<Xy>=0 AN llxll=1 =1yl
¢ g2 orthogonalsystem S R™ 4 45,58 v,...,Vo,vy (C)

Lﬁj( ]:/:I )ViJ_Vj“\S
G 4S ¢ s Uis orthonormagsystem < s Ji S5 55 o

3 (basis) scl o abuwrs Jeysigiysl a8 o)W i a3l vy || = 1
e ld bl STR™ 4 . s.0basi 4 orthonormalbasis 2« s R”
S R? 4 Js 43 i 2 52 orthonormalbasis s (canonicalbasis)

4SA .2 orthonormalbasis s 45,5585 e, 3l ey

<eq,e> =<(1,0),(0,1)>=1.0 + 0.1= 0 = e4,e, orthogonal

s LAl

e Il =v<ene > =4<,(1,0),(1,0) >
=vV11+00=+v1=1
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ley I =v<eze, > =y<,(01),(0,1) >
=v0.0+11=v1=1
= e4,e, orthonormal
23 o2 orthonormalbasis o .02 R% 2e2cld 051 €5 5l €1 (o> s

.2 normed vector space s (R™ || || ) > 5025 yise iy
orthonormalbasis s& ¥ sS o saldiul 4 251 gram-schmidt 2
58 (S Lad )5S R 4

43 projetion operator 2 > ¢« dlae 3V (G2Lg$S 590 v ol U Ly sl

oy sl iy p2i ¢ 5ol a s
<u,v>

<u,u>

Proju(v): =
_&Jg.u.ﬁadm\;c;)n.&u <,> 43534\133\

a4 asi 4y gram-schmidt process 2 ¢ 45,k gram-schmidt
D03 J g0 s 4 (s

Vq,Vs,...,V,E€ R"

Ugi= Vg

Uz: = V; - Projy (v2)

U3: = V3 - Projy, (vs) - projy, (vs)

Ug: = Vg - PrOjy (Va) - projy, (Va) - projy,, (va)

- - -1 ;
Up: = Vo= Ny pI‘OJui( Vi)

W= ";‘—" (1=1,23,...,n)
22 R™ 2 (‘orthonormalbasis ) sacl8 55555 o 435,558 W
s JUia
vi=(31),v2=(2,2)e (R% I II)
Ui:= vy = (3,1)
. . _ ., Suyvp> _ _<B1).22)>
Uz = Vy - Projy (v2) = v, s U =(2,2) GG (3,1)
3.2+1.2 8 -12 -4
= (212) - 33411 (311) = (2r2) - E (3r1)_ (212) + (T ) ?)
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U . _
W= (ll 1,2) 1 1
%1 _ _ _ 1
Wiz T e 3D =m0 = 503D

<Wp,W,p> =< — (31) \/_(13)>—_—+—=0

s o) L_.sd orthogonal s s i A 45,585 w, 5l wy > 5 Jads
&2 e orthonormal > 5 S sl

lwill =1l 75.(3,1) ll‘\/(«i—o)sz(«%)z
= /E +E=1
1\2 3 )2
||wZ||—|I—(13) "‘\/(m) +(ﬁ)
_ (1o
10 10

uu..:m_aJRZ JDJQGD}.—!WZJ‘ngﬁj,gs“&j:’:jﬁ‘dy}s@u\‘*ﬁ
. s orthonormalbasis 45,585 w, 5l wy

( Vectorproduct in R ) :10.8 <&y
Skl 4y Lad 556K (Euclidean ) salil (R3,R) 2 s 4S
obs @l Y g) gaui g
x: R2xR3 - R3
(V,W) — vXWw
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2 (5 gy 2t Jga gAY 4V X W
V X W= (VoW3 — V3Wp, VaWq - ViW3 , ViWp — VoWy)

dis S R34 (@ma dals 55585 ) vectorproduct 45 (i (5 )5
S 62585 g4 n vectorproduct sosS s 902 o S dad S
.32 o scalar product 5o 5 03
GY S ¢ 2 g pd i yxi R3 44,0 > vectorproduct s,s€s s 3
ol Ay JSS Y 4 W determinant 2 gb

U = (Uy,Uz, Ug) ,V = (V1,V2, V3) , W = (Wq,Wz, W3) € R3
@ Al dline i s vectorproduct sosSs 2 Wl v o sl s 5 4S
mwj\_g&d@jéqﬁgﬂ 4 Glaide U2 b oy S e
Sl ISl 4y S0 e 24y S

ja;\@ﬁgﬂaﬁg&\)m‘ﬁdﬁbqﬁ WAl A 2y Allj J

.

o s DB pea 438 (i) i (j=1,2,3)

=1
A=y wy)

j=2
A= (i w)

i=3

Vi V3
A= w)
1 2

vxw=( ()" det(A; ), (1) det(A;, ), () det(A1z ) )

= (1.(VaW3 — VaWy ),-1 . (Viw3 — vawy ), 1.(Viwo — Vowy))
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:JUa
u = (uy,Up, uz) ,v=(12,3),w=(2,-2,1) € R3

s S e Al clikin s w glva Vectorproduct s,

vXw=((-)"" det(Ay; ) , (-)"** det(A, ) , (-)'*° det(A3 ) )
= (1.det( 2, ), -1.det(} 2).1.det( %)

-2 1 2 1 2 -2
—(21-(-23),-1.(11-23),1.(2)-2.2)
- (8,5,-6)

s A ual A 3Y s Vectorproduct s
v,vV,w,WwWeR3, AeR
(1) (V+V)XW=VXW+VXW

VX(W+W)=VXW+VXW

(2) Avxw=A (VXwW) A  VXAW=A (VXW)
(3) wxv=-vxw A vxv=0
(4) vxw=0 o v,w lin-dep ( 4iuly i)

) & i scalerproduct s Vectorproduct 2l 13:10.3 Lad
@ (LU

U = (Uy,Uz, Ug) ,V = (V4,Vo, V3) , W = (Wq,Wp, W) € R3
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u; U Us
(1) <uxv,w>=det| Vi V2 V3
wW; W, Wj3

(2) <uxv,u>=<uxv,v>=0
<@gl (1)
U XV = (Up. V3 — U3z .V, Uj .V3 — U3z.Vq,. Us .Vo — Uo V4)
<UXV,W>=(Up. V3 — U3.Vo) .Wq + (U3.V4 — Uq.V3) .W>
+ (U1 Vo — U2V1) . W3
U Uz Us
=detl vi W2 V3>
W Wy W3
6 el Y Al S g ) o Clise yiga 43 ) g 4%d)
b S Al (1) 2 icsd (2)
u; Uz Us
<uxv,u>=detfvi Vv2 Vv3]=0
u; Uz Us

Lﬁ‘cﬁjtﬁ}WDwéMP cy@()ku)wﬁc})@&;j&&
(S ha il iy 4xa 3 Awdd (Dy) 2

Graxma a4l gl <UXV,Vv>=0 2
by Joo ga¥ 4 8 (S bad 5543 (V,C) 4 :10.9 iy pl
T
s:VxV - C
(V,w) — s(v,w)

sk a5 4 semi-bilinear 2o wsal A s3Y 2 5
A€ECs vV ,WWETV

(i) s(v+v',W) =s(V,W) + S(V,W) A S(1.v,w) = 1.5(V,W)
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(i) s(v,w+w’) = s(v,w) + s(Vv,w’) A s(v, .w) = 1.5(V,W)
s> A2 (zsi=) complex conjugate 4 1 4l
A3 8(V,V) > 0 o 4S ¢ S dis positive definite 48 s
a8 ¢ b a4 hermitian 28 5l g S5 Grao ) VO
&5 S(V,W) = s(w,v)
( C— scalar product ) :10.10 <& 3

58 S il g2 a <, > ASHl ealad 5 )5S0 (V,C)
. s semi-bilinear
<,>:VxV - C
(V,W) — <v,w>
$ hermitian <, >4S¢ ¢S diy €C— scalar product 4 <, >
2lad 5 )5Sy (V,C) . w5 positive definite

. g2b asi 4 unitary vector space 2o~ C — scalar product
(standard scalar product in C™* ) :10.11 <&y

z=a+ib 2z€ C _» (S cuw 4y e} (complex number) hliss 2
o C o> somslsd L 7 =a-ib.grab €R > «s ) ISS
A Slad g 85 R24 )58y o (a,b) 5 o2 Lad (5585
Sine 1Y gub Lad 5,685 (C",C) »n . w2433 z=a+ib € C
(59 (S iy Al
<,>:C"xC"* » C
(X, y) m<XYy>=X1. Y1 +Xo. Yo+ e + X . Yy,
S X = (X1, X2peeneey Xn) 5 Y = (Y1, Y2, ceeny Yo ) 4
XX,y,yeEC*, 1eC
e o s glas Sl 4

(1) <x+X,y> = <xy>+ <X,y> A <AXYy> =1 .<xy>
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(i) <XY+Y > = <X,Y> + <XY'> A <X, Ay>=1 .<x,y>
.Y semi-bilinear s <, > o
<KY>=X1 .Y +X2.Vy + ... +Xn . Vn

=V1 X4 +Yy . Xo+ ... + Y, - Xn

=y1.x1 +y2.x2 +...+yn.xn

= Vi.X1 + Vo. X3+ .. Vp. X,
=<y,x>
= <, > hermitian
<KX>=Xy.X; +Xo. Xy +..+XnX, =0
= <, > positive definite
R4 <, > ki (C",C) s scalar product s <, > o
. g2 unitary space
4y A6 S C" 4 standard scalar product 2 <, >
. sls 2 Canonical scalar product
= (€?,C) 4 standard scalar product S Jbe 343 5 & 1 Jba
5 S s
X, y,WE C? , 1 €C
X = (X1,X2) = (a1+ib1, @x+ib2) , Yy = (Y1,Y2) = (C1+idy, Co+idy)
W = (Wy,Wp) = (hy+iQs, ho+igp)
<X+Y,W> = < (X1+ Y1, Xo+ Y2 ), (Wy,Wo)>
= (X1+ Y1) Wy + (Xt y2). W3
= <( as+iby+ Ccy+idy, ax+ibo+ Co+idy),( hi+iQq,ho+ige)>
= (a;+iby+ci+idq).( hy-iqq) + (Ax+iba+ Co+idy).( h2-iq2)
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= X1. Wy + V1. Wy + Xo. Wy + Yo. Wy

= <X,W> + <Yy,W>

X, y,We C?, 1€ C
X = (X1,X2) = (@1+iby, @2+ib2) , ¥ = (y1,y2) = (C1+id1, Co+idp)
W = (W1,W2) = (h1+iQy, ha+igp)
<X+Y,W> = < (X1+ Yy , Xo+ Y2 ), (Wq,W2)>
= (X1+ Y1). Wi + (Xot Y2). Wy
= Xy. W1 + Y1. W1 + Xo. Wy + Yo. W3
= <X,W> + <Y,W>
SS XL YHWS = <X Y> <X WS (o 90S Gipl ob (VS ASG laea

< Ax,W> = < (AXq, AX2), (W1,W2) > = AX1. Wy + AXo. W,
= A(X1. Wy + Xo. W, ) = 1 .<X,W>

<X, AW> = <(X1,X2), (A Wy, A Wo) > = Xq. AWy + Xo. AW,

= X1. 4. Wy + Xo. 4. Wy = A.( Xy. Wy + X2. W, )
= 1.<X,W>

g2 semi-bilinear s <, > (sd O
Gob (S Alls e 4 50 gal 3 hermitian ) positive definite »
% (C%,C) s standard scalar product s <, > S4siia J S
. g2 unitary space
(S8 Bua Slad g4 (CC) 2 <2,2>=>0 4K A Gy
9 S pi 4k e s Y 58 Y S
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I II:C > RY
z—o Izl i =< 2,z >

z= 3+i4 ds 4 b

Izl :=v<zz>=Vzz =/(3+i4).(3—i4)
= 33+i43—3.i4—(i.i).44 =33 +44
=25 =5

2y Gara o> 03 Lad 5 ¢Sy euclidian e (V,R) :10.10 s

B = (V4,Va,....,Vn ) s bilinearform » s4S. s ( dimension)
Sl ¥ 4 B ki 8yl ks e 5 3L 55 (Basis) sacl 4xan

A
s(vy,v1)  s(vy,vy) e S(V1,vp)
Ay (s) = 5(”2;”1) s( Vz;;’z) 5( 1752;Un)
s(vp,v1)  s(v,v) 0 e s(vp,vy)

, (590w dmy (paa 3 Liad (5 ) ¢ (UNitary ) soimen (V,C) o 4S
(Basis) cxcliarxs 3 B = (Vy,Vy,....,V, ) s semi-bilinear » s
S8l p e 4 sE Y S B oS dhg w565

2 Slad )5S ( R3, R) 4 ) Jhegray dda
lay 43 gaeld B = (vy, Vg, V3) bl 8 5ie 4w« scaler product
BB

vi= (1,0,0) , vo= (1,1,0) , va= (1,1,1)

<V, > <, > <,z 1 1 1
AB:<<v2,v1> < vy, v, > <v2,v3>>=<1 2 2)

<V v > <V, > < VUi vz > 1 2 3
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Juad and gy
Jlaiua) (g o282 g) Ad ¢l 93 gauSa yia

111 @y
AeM(nxnIK), Asysmmetric,
XER", [ <« Ssiu)siSsx ]
psi 4 (pus® e bl a st 43 03 4w sd) quadratic Form 2 &l gula

o 50 e A s
da : R — R
X1 X1
x=| . |—=xX.A.x=(XXo,... %) . A.
xn xn

ga(x) =x" A x = 2 ( D=1 QXX )

3 o> b s s s S dis positive semidefinite 45 ga(x) (a)
s Ss53xa ga(x) =0 oW x ER®

23 byd sy s S dis positive definite 45 ga(x) (b)
S 53 ga(x) >0 oo 0#x€eR”

A3 o b d sy S dis negative semidefinite i ga(x) (c)
s Ss53xa ga(Xx) <0 WX ER®

3~ bd sy S dis negative definite <5 ga(x) (d)
S S53%a ga(X) <0 oW 0#x ER"

X € R™ nalnaS bl sy «sS dosindefinite 4 ga(x) (e)
s XER? i sl ga(X) <0 > $s23me
= ga(x) =0
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A=(% i) € M2x2,R)

2 (Lhlie ) sysmmetric sl oSaie 2 A
ga : RZ — R

X = <2>|—>xt_A.x=(x1,xg) A(il)
ot =rAx=bun) A ) <000 G )5

=(X1+2X2 2X1+X2 < >

= (X-|) +2X1X2+2X1X2+ +4X1X2 + (X2)
SA L;.J e‘)ﬁ su)a indefinite s qA( )

1 1 1 1 1
ga(x) = 1z+f?;1+2—11;>0
C]A(Y)—Z-‘l- Py +Z=-;<O
2 (quadratic Form) s, 4s )0 40 mdeﬂmte;an(x

) o
1.2 Jba

2 -1 0
A=<—1 2 —1) EM@BX3,R)
0O -1 2

X1
x=|%2 |—x.A.x
X3
2 -1 0 X1
ga(X) = X.A.X = (X1,X2,X3) < 1 2 —1> <x2>
0O -1 2 X3
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le - xz
= (X1,X2,X3). <—x1 + 2% —x3>

—X5 +  2x5
= X1( 2X1 — X2 ) + Xo( -Xq1 + 2Xo — X3 ) + X3( -Xo + 2X3 )
=2 X% — X1Xp — X1X2 + 2X5 —XoX3—XoX3 + 2X3
=2 X% —2X1Xp + 2X5 —2XoX3 + 2X3
=x2 + (X1 =% )2+ (Xo— X3 )2 +%x2>0 [s 0#x 4]
= qa(X) positive definite = A positive definite

. (LBl ) sysmmetric AcAE M(nxn,R ) :11.2 iy ns

A2 S4 sy Assubmatrix = (k=1,2,...,n) Ax

3 A skl G pa 43X (rows) 3 S ) (colmns) stiv n-k

N4 & 95 43X 5 9 Al K (s 4S «s03b 2 5 4 Principal submatrix
.$03b a8 43 principal minor 2 Ag sl 2 det(Ax) . i

leading principal submatrix 2 Principal submatrix s

(anr o) maie g A SA S 2 bodgadcgapbesia
»5 4 leading principal minor 2> Ag dsla 2 det(Ax) . s Jabi

Sl
ai1  * dAqn
A =(al]) = . ‘. .
dpn1 ' dnpn

ay1 Qg Qg3
ai1 Qg2
Ai=ay, A= , Az = Q21 Q22 dz3 |, A=A

21 22 asz1 Qaz; dass
Jlia
1 2 4 1
(2 1 0 2 (1 2
A=14 0 1 3 j’A1=“A2‘(2 1)’
1 2 3 1

216



Linear Algebra sl >

1 2 4
A3=<2 1 0>’A4=A=

4 0 3

=R N
N O RN
W oA
W N R

A=A Az <Ay <Ay «lleading principal submatrix

S ¢ s leading principal submatrix > Ay 428 3l u e 1l
i)

ga(x) « (Lbli ) sysmmetric AcA e M(n xn, R ) :11.1 4usd
a2l (S 11.3 4 Ag ¢ pos® om0 L 4a 0 4 90) quadratic Form s
o siad dadla A D A, Ay, Ay, ) A9 i s 9

(1)
(a) ga(x) positive definite < A positive definite
(b) det(Ak)>0(1 < k<n)
( s« leading principal minor Js a)
< A positive definite
(c) ;>0 (1< i<n) (gsuieaisiedaaiicdsd )
< A positive definite

(2)
(a) ga(x) nigative definite < A nigative definite
(b) (-1)*.det(A) >0 (1 < k <n) < A nigative definite
() ;<0 (1< i<n)(gsindisioddaiiodd Jn)
< A nigative definite
(

3)
(a) qga(x) positive semidefinite < A positive semidefinite
(b) det(A) >0(1< k<n-—1) A det(A,) =0

= A positive semidefinite
) 4,20 (1<i<n) < Apositive semidefinite

Cc

)

a) qA(x) nigative semidefinite & A negative semidefinite
b) (-1)det(A) =0 (1< k<n-—1) A det(A,)=0

= A negative semidefinite

(c) ;=0 (1< i<n & Anegative semidefinite
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()
(a) A not positive definite
A A not nigative idefinite A det(A,) # 0
= A indefinite
(b) det(Ax) <0 (keven (<)) = A indefinite
(c)3i,je{12,..,n}(ijnoneven (3%);
(det(A) <0 A det(A)>0)
= A indefinite
(d) 3 aj, gj€ A;a;<0 A a; > 0 = A indefinite
23Sk (B a (ug) 43R s S

:11.3 Jhia
2 -1 0
A= (—1 2 —1)
O -1 2

(a)
Ar=2 ,det(A)=2>0

2 -1
-1 2

As=A det(As) =2.(22—1)—(-1)(2-0)=6-2 =4 >0

A2=( ) det(A) =4—-1=3>0

okl 43 1 (D) 2 8 s 2 oy
= det(A«) >0 (k=1,2,3) = A positive definite

:J e 4 JBea g2 positive definite 45550 5 2aly (b))

1 0 0
E; = <O 1 O)
0 0 1

1 0
0 1

A;=A ,det(Ag))=1.(1.1=0)=1>0

Ai=1,det(A) =150 Ay = ) . det(Az) = 150
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= E;3 positive definite

(c)

Az((é)L 01)
A-tE; = (451: 10—t)
p(t) = det(A-tE;) = ‘40_t 10_t‘

=(4-1).(1-1)

plt)= (4-19).(1-t)=0
=>t=4,,=1
(1) (C 28 HHm A b O .52 Cuie J 5 A glad aliaidl) 2 a8 A
)
2 99 e 4 Y Shsl L5 Sy positive definite » (bl 4
L9 S
A =4 ,det(A;) =4

AZ =A= (g 01) "det(Az) =41-0=4

= A positive definite [ <4 (1) (b) 2 =8 S ]
s A a8 o e Ll

qAZRZ — R

X1 X4
X = <x2>l—>xt.A.X=(X1,X2) .A.<x2>
o == ) A () 3 )-(3)

X1 2 2
= (4xq Xg).<x2>=4(X1) +(X2)°>0 [ 0#x 5]

= ga(x) positive definite
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= A positive definite [ Sedd (1)(Q) 2 =8 s ]

111.4 Jha
(a)

-3 0
A=( 9
A=A, det(A)=-9-0=-9<0

$5S Bua 5.(b) o sy 2454 1 Alindefinite

L
a1 =-3<0 A a2=3>0
= Aindefinite [ <4 (5) (d) 2 o=d How ]
(b)
A=(_12 —12)
Ar=-2 ,(-1) det(A) =(-1).(-2)=2>0
As=A ,(-1)° det(Ay) = 1.(4-1 )=3>0
= A negative definite [ A4 (2) (b) 2 =8 s ]
:11.5 Jua
-2 -3 0
A= <—3 3 z)
0o 2 1
: A indefinite

_(—2 -3 e
Az—(_3 3) , det(Az) = -6-9 =-15< 0
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= Aindefinite [ Gz (5)(b) s oa8 5,0 ]

a1 =-2<0 A a»=3>0
= Aindefinite [ <4 (5) (d) =8 s ]

1 4 6
A=<4 2 1
6 1 6

) . det(Az)=2-16=-14 <0

111.6 Jia

1 4

A2=(4 2

= Aindefinite [ 4 (5) (b) =8 s ]

‘L . positive definite s A=(a;) € M(n x n, R ) :11.1 Lad
A€ G,L(n, R) 22 .5 ) oS rie pusSaa A (1)
(i=1,2,...,n) a;>0 (ii)
r g (i)
A positive definite
= det(An) >0 [ =4 (1) (b) 2 =8 s ]
= det(A,) =det(A)>0
= Ae G,L(n, R)
sl 4y 4335 038 ol 3 0l s g (i)
A positive definite

-
1

eg. Ae = (1,0,0, ,O)A <) =ay;1>0 [e1 #+ 0 "\5\3]
0
0

e;l-A.en=(0,0,o, ...,1).A-<5>=ann>o [enio 45‘3]
1

¢ (Lhlie) sysmmetric A < A€ M(2 X 2,R ) 111.2 4pd
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0 # w=(x,y) € R?

_(a b
A= (b c)
s galil Wlaly 0 4 fad dadiia A A, sl Qa(W) = WLAW
:95'3 L;JL&A oy
(a) det(A)>0 A a>0
(b)) Qa(w) positive definite
(c) Lu>0
r oo
b x (b) = (a)
ot _ d
Qa(w) = W. AW = (X,Y) . (b C)x (y)
=(ax+ by bx+cy). (y)
= ax® + bxy + bxy + cy?
= ax® + 2bxy + cy?
=a(x+2y) + (=2 )y
det(A)>0 A a>0 = a(x+2yf+ (22 )y? >0

= Qa(w) >0 = Qa(w) positive definite

@ =@
:M.'“E * W AJ
t—a b
At = (0 7L
t —a b
pu(t) = det(A—t.E;) = | | t_c‘

=(t-a).(t-c)-b*=t—t.(a+c)-b?
a+c n J(@+c)% —4(ac—hb?)

{ =
2 2

det(A) >0 Aa>0= ac-bz2>0 A a>0
= ac>b2>20 = c=>0 [ a>0 5]
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(a+c)2>(@+c)® —4(ac—b?) [-4(ac—b?) <0 54]

= a+c > J(a+tc)? —4(ac—b?)
= (@+c)-/(@a+c)? —4(ac—hb%)>0

J(@+c)2 —4(ac-b2?) >0

p- a+c n
2 2
= e J@+o?alac=b?) _
2 2
@ p >0 50 A >0 4siad Aaiiie o gb Gl
(jacobian matrix) :11.3 <y s
f:-R—S RM

(X1,X2,---,Xn) — ( f1’ f2 5""fm )

jacobian matrix oSasie gu¥ha by gy Qi and J5i faS
a€E R .spbasi 4 (280 S yine )

. of a(fl;fz ,---;fm)
Jf (a)'_ 0x a _O(Xl,Xz,---;Xn) (a)

of, of, of;
7, (@) on, (a) ox. (a)
of 'afm 0fm
7, (a) 7%, (a) 7. (a)

o5 81 ¢ s e el J 55 o B Y 111.7 Jha

f:R3 > R?

(x,y,z) — ( X*+y*+z.sinx, z°+z.siny )
. f2 B) f1 il

fi:= X2+y?+z.sinx |, foi= Z%+z.siny
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of, of,

P —=(x,y,z) = 2x + z.cosx g(x,y,z) =0
Boy,2) =2 22 v,2) =
6y X,V'Z - V ’ 6y lelz - Z'Cosy

of,

P —2(x,y,z) =2z + siny

,Z) = sin ,
—(x,y,z) = sinx P

A IKh Y o (=58t Sk ) jacobian matrix

of of
Heyn ey Geyo

Ji (x,y,2) =
29 af of
Ty 2y Gy
B ( 2X + z.cosx 2y sinx )
—\0 Z.cosy 2z + siny

susd J SN ¢ g Dliia and J5 o Al Y 111.8 JUa
f:R*x[0,1] > R?
(r,a) > (r.cosa,r.sina)
fiz= rcosa , fu=r.sina

of of
1(1‘ a) = cosa a—:(r, Q) = sina

of of
1(r a) = -r.sina ,6—2(r, @) = r.cosa
a
A IS eVl o ((e8h 5ok ) jacobian matrix
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ol s

vy - (OO R @O
r\La) = % q) %2, q)
ar (O e (I

B (cosa —r.sina)
sina r.cosa

58w ey Jy (1,a) 2 5008 o0l

det(Js (r,@) =r. (cosa)? + r. (sina)?

=r.((cosa)? + (sina)?)=r.l=r

O (el Sl o g (S e sut) Hessian Matrix :111.4 <y g

Grusiasia (1811 —1874) Hesse
Dc R* ,aeD

C3(D,R™): =

{f:D - R™|f 2times dif ferentiable and continue }
f(X1,...,Xn) € C*(D, R™)

o3 4l i He(a) 4 42a i o ( Hessian Matrix) oS ie g

a%f a%f a%f
/ 0x4 0%x4 (a) 0%, 0%x4 (a) 0xp 0x4 (a) \
Hi(a) = 2 P 25
o-f o-f o0-f
0x4 0Xp (a) 0%, 0Xp (a) 0xp, 0Xp (a)

62 S akiiagg a4 f i 8 e pus Hy(a)

: 02f 02f :
slita ¥ K = a3 HA
(LBLW) symmetric usSa fie pud G L o omow TS

82
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f(x,y,z)e C3(D,R3) , f(x,y,2)=X°+ y-z
of of of

—=2X, —=1% — =
ox T 9y ' 0z y
o%f o%f o%f
=2 . -0, -0
dx 0x dy 0x 0z 0x
o%f o%f 0%f
=0, =0, =1
dx dy dy dy dz dy
0%f 0%f 0*f
—_— 0 y —_— y _— —_— 0
0x 0z dy 0z 0z 0z
2 00
Hi(x,y,z2)={0 0 1
0 1 0

f(x,y)e C3(D,R?) , f(x,y)=2exy—y3

of

— X 9 _ X _ 2
™ =2ey , % 2e” - 3y
92f y 92f .
ox0x ey , dyox 2e
0 _ o o2t
ox 0y ’ dyady

2e*. 2e*
Hf(X’y) = <Zex Y _ 6y )

ol s

:11.9 Jhia

:11.10 Ju

5 Y S adaud sy Hessian Matrix) oS ie w3 1agl

local minimum ! (ebe! i b alae) o2a )local maximum

i S Gl (goral (i b (g jaal G sa)

cillaail (5 5 40 (€igenvalues) 48 siad 4adiic J i oS yle pura4aS -
s adaily (S & sean 55 ( positive definite im ) Cuie (S adas
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5d LS_)M\
Gl (5 50 43 (€igenvalues) 4 siad 4adiae J5i oS i pupd 4S -
e 4halily O ) a (53 43 .5 ( Negative definite im ) (Aie S 4k
5d L;‘)a.\a\
) (htio (S adali Callanil (5 53 4 43 sl duadlic R (S5 e a2 4S -
abili 4xa O a0 4y s (Indefinite i) e 4 5ied 4aiie a2
o3 (4hais ) ) Saddle point 4L o3 5 jral a4 ) alac) o 45
11.11 Qe
f(x,y)e C*(D, R?), f(xy ) = -x* + 2x2 - y?

( s ynol ) local minimum of ( oolael ) local maximum s
(o b dal e a6l ol Slags sl
: (B8 <laail) critical points
£=-4X3+4X , g—;=-2y
AX+4x= 4x(-x*+1)=0 = x=0 V x=1 V x=-1
-2y =0 = y= 0

of

GL‘S" allaxs) o g
critical points: (0,0) , (1,0), (-1,0)

:( Hessian Matrix) o5 _ie (us

92f 5 92f
0x 0x =-12x" +4 dyox
0%f o%f
= 0 y =3 -
dx dy dy dy

162 Js9 1Y 4 ( Hessian Matrix) o5 e s f 2

Hi(x,y) = (—12x02 + 4 _02)

(S skt 4y Cilland) 0 (185 yla Gan
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4 0 -8 0
w00 =(; %), wiror=(5° 9)
-8 0
H(-1,0) = ( . _2) - Hy(1,0)
328 [eading principal minor ssSa e (s 528 ) 50 5 ) 6& gl
o M (=8 0 _
A=H(1,00= (" _,)=H(1.0

A;=-8 = (-1)".det(A;) = (-1).(-8) =8 >0

-8 0

A2=A=(0 -2

) = (-1)2.det(A;) =1.16 = 16 > 0

= Hi(-1,0) , Hi(1,0) negative definite [ o304l (o811.1 5]

2 ki (local maximum ) kel s f2(-1,0) 5 (1,0) o

A:= H((0,0) =( 4 0 )

0 -2
A1=4 ﬁdet(A1)=4>0

A2=A=((;L _02) — det(Ay) = -16 >0

A:= H(0,0) indefinite [ cae 4l omi11.1 2]
s> ( Saddle point ) akii Y o5 S f43(0,0) ox
11,12 Ju
f(x,y)e C2(D,R?), f(x, y) =4y -6xy* +3X° J2 -6xy

(G ral ) local minimum sl ( elie) i) local maximum 2
ro b dal e a1 3l o U sl Slaps gl
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: (B <ilasil) critical points

of _ .~ 2 2 of 2 2,
Pl 6y +6xy —6y, oy 12y -12xy + 6x°y — 6X
0=-6y* +6yx—6y = -6y(y—x+1) ()

0=12y*-12xy + 6x’y —6x = 2y’ =2xy +xX’y—x =0 (**)
1S AS SS Jhia d g 4z alalas (%) 0
y=0V y-x+1=0 =>y=0V y=L

x—1
Y=0 = 20-2x0+x’0-x =0 = x=0
y=

1 1,2 1 2, 1
E = Z(E) —2X(;) +X(E) -x=0
s5va S (x41)7 4 e s
2-2x (x-1)+xX3(x—=1)=x(x=1)*=0
=2-2X+2X+X-X-X+2¢ +x=0
= 2-X¥+x=0 = X*-x -2=(x-2).(x+1)=0
= X=2V X=-1
;i Cillaxd) o
e . . 1 _ _ L__ _l
critical points: (0,0) , (2,;)_(2,1) , ( 1,x_1)_( 1, 2)

(S skl 4y Cilland) 0 (185 yia Gan

a%f a2f

2
~= = oY ' ayon s -12y + 12xy -6
02f 0%f 2
axay = -12y +12xy -6 , oy 3y = 24y — 12x + 6X

(e A S Y S yie g 0
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ol s

6y? — 12y + 12xy— 6
Hf(X’y) = 2
— 12y +12xy - 6 24y — 12x+ 6%
538 s (S S sle 4y G 0 (Ghalis Gldass) 3 g
(0,0)

H:= H{(0,0) = ( 0_ ¢ _06 )

Pi(t) =det(H-t.E;)=det ( 0__6t 0 :t6 )
=t2—36= (t+6)(t_6)

(t+6).t—6)=0 = t=6,t=-6
= H;(0,0) indefinite

i 43 (0,0) o 52 -6 516 MMM&%@:(O'O)J@&J&
o3 (ahais 4 )) Saddle point s 4K | o3 ki (5 yraalis 435l (alac)

(2,1)

wenn= (65 )

Pt) = det(H-tE;)=det ( © 70 ©  )=t-30t+144-36
= t*-30t + 108

(60 Ofie (Al WY 43X Ja oy Jalae (B 900 o 4 slal Aead lia b 52 4xa

53 adall (5 yral i b sl 2ia ) local minimum s (2,1) o
J}\J@YM&J}}&J@\M@A111 JJJ}A‘\S

A= Hd{2,1) = (66 22 )

A;=6 ,det(A))=6>0
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6 6
A2=(6 24) , det(Ay) = 144 - 36 = 108 > 0

= H¢(2,1) positive definite
(53 e (2 455 Anmdie 5 Ol 43 o8 11,1 2 0

(1,-3)
3
H=< 2 © >
—6 6
it -6
Pi(t) = det(H - t.E2 ) = det < 2 )
—6 6—t
=(C-1.(6-)-36 =t2-75t-27
-7,5t-27=0=t12=3,75 +/(3,75)% + 27

03 (ahadi ) Saddle point

(1776 —1853) wronski : Wronskian Matrix :11.5 < s

~{f | 6R- &)
{f( )EV (i=1,2,..,n) | 25 Sy n-1 &Ufi(x) }

¢ g oy W(fq,fo,. . ) (X) 4 428 pise . Wronskian Matrix S 2

Lﬁ)&d&»gmy
W(f1,fa,...,F) (X)
L) L . L i)
| A R @
\fJ”‘i)(x) HODG) L 'fn<""1>(x)/

231



Linear Algebra sl >

oacld 5ig) gy sliad sa il g ol SV S adaul 5y U yie wronski 2
D9sS ealdiul AR ual gaiVa o il Cam (23 5 Sl (basis)
3 DA S bl o g 4y Cuiline i (S sie WIONSKI 2 o 4S 1 11,3 Al

(S . (lin-indep) it (et aol 55 ada o 0 4 Ly (55 sha

Ix0E R ; det(W(xo)) # 0 = f1(X), fa(X), ... , f2(x) lin-indep
(6 opS ol 43X 1S5 i wronski 2 ool a3 g¥alae Lialdiy 485l
11.13 Jha

V ={f: R > R | f(x)=a+bx+cx*+dx® (a,b,c,d€ R )}
Lﬁ)&d&»&.\.}‘}! 02c 8 5 5 (V, R))}:SJL;LABJ
V = <<1,%,X2,x% >>
SA
fi(x): =1, f(X): =X, f3(X): =X, f4(x): = X°
(s IR Y S i (Wronski) (Sewis s

AP0 A BE A
A £® F© A
A £o 5@ £ )

W(fy,f2,f3f4)(X) = k
i ® fi @ fi @ fi @

1 x x* x3
_ [0 1 2x 3x?

0O 0 2 6x

0O 0 O 6

det (W(f1,£2,£3,f4)(x)) = 1.126=12%#0 ( VxER)
=1, %, x5, X lin-indep ( Jiive Jad ) [ dedd oo 5500 ]
(i s Span 2 1,X,XE X% &l 5 (oa opeslae 438 (o @3 al V o
V=<1, x,x°x° >
S A4y
V=<<1x,x°,x°>> A dimV =4
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« A€ M(nK) :(Cayley-Hamilton theorem) :11.4 4uzd
amlg By adhaidl pa(A) = EY W .2 €K «pa(d) =det(AE,, — A)
(83 S S s B 5 055 s
pSoB G pasl i o apal g o Gipldan 4S5 8 1
S Tl (o Jie Y 4 Gl (s e
AeM(2,R):11.14 J
a b
A= (c d)

A—a —b
—C A—d

=(A—-a).(A—-d)-cb=2*-(a+ d)t+ad-bc

pa(d) =det(AE, — A) = ‘

pa(A) =A% - (a+d)A + (ad-bc)E

- D€ Q)@ )+ caa-bol(p )

_ <a2 +bc ab+ bd) (—a2 —da —ab-— bd)
cat+cd cb+d? —ca—cd —ad—d?

+(ad—bc 0 )

0 ad — bc
=<az+bc—az—da+ad—bc ab+bd —ab —bd )
ca+cd—ca—cd cb+d? —ad —d?+ad —bc
_ (0 0y _
_(0 o)_E"

S5 (3ua 4unid Cayley-Hamilton 3 (S asgis 4

1 -1 4
A= (3 2 —1)
2 1 -1

233
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:@JM@M\J\JEM}#M A2
pa() = 23— 2025146

pa(A) = A3 — 2A% — 5A + 6E;
1 -1 4 1 -1 4
=((3 2 —1) )3-2(<3 2 —=1])2
2 1 -1 2 1 -1

1 -1 4 1 0 0
-5(3 2 —1>+6<0 1 0)
2 1 -1 0 0 1

11 -3 22 6 1 1 1 -1 4
= <29 4 17) -2 <7 0 11) -5({3 2 —1)
16 3 5 3 -1 8 2 1 -1

11 -3 22 -12 -2 =2
= (29 4 17|+ |-14 0 =22

16 3 5 -6 2 =16
-5 5 =20 6 0 0
+<—15 -10 5 >+(0 6 0)
—-10 =5 5 0 0 6

0 0 O
={0 0 O
0 0 O

4 (characteristic polynomial ) ¢ sl o 4adic A € M(n,K) 2 1osd
ZL;)S JS\&L;-\SY d)é‘;A)AG

P =A"4a,_; A1 + . +a,1 +a,

234



Linear Algebra sl >

ALl ass Saglae s VS Al Jal)ay=(-1)" det (A) -
(s L DS S e
a0 #0 = (—1)" det (4) # 0 = detA # 0 = Ainvertible

oo Jad shlia gind 3 (S SG38) (ol ) 43 4xad Cayley-Hamilton »
L;).J\.A,..w\
1SS 8 e (S 3 adaul 5 4y ozl G siles (LS 0 Jse 4y JBe o
Cayley- 2.2 35250 AT Gy 52y DA @p 43 558 U ise
L O Ae Al edy Hamilton
PA(A) =A"+a, ; A" + .. +a;A +ayE, =EQ

aoEn = _(An + an_l An_l + ... + CllA)

=(—A"1q,_; A" ?%-..-2al)A
agE, At =(—A"1a,_; A"?%- .. -a)AA1
=(—A"1.q, ; A"2- . —a))En
—
agAt=—A"1q, | A%~ .. —aE,
= Al= aio (—A™—q,_, A"2- . —aE,)

:11.16 Jus

1 JSd AV a il gy dadiiia A D
pa(N) = —A> —6A°> —11A + 6
(S Aol (T 4y

(e 4 (ol g sihass S o

aH=-6,a =-11 ,a0=6

pa(A) = —A% — 6A? — 11A + 6E; = E9
S S A e oS e S Ad el g =67 0 s A
At=— (—(=A%1) —az_; A%?) —aiEs)

Qo
= (-4 -a; 4 -aE)
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=1(42+64
6

. 5 7
=g( 0 4
2 8

. [(15 23
4

Nl

—4
&
-8

236
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2 /5 7 -5
+6l0 4 -1
2 8 -3

—-17 5
-1 |—6{0
-9 2

13
5)
20

Il
T
WIdh Wk wlN

7 -5
4 —1
8 -3
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6
5

6
13

3

)

13
6
5
6
10
3

1

0
0

o

)

0
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dmé ea.d\gd
45 gy pali gl Ad gliliia
[ Examples and Exercises]

J sl b A s 4 s sai gl 40 sl ol sile guda e 53an S (a0 (S Jua
12,1 Jba
L:R? —- R?
(X1,X2 ) > (-2X1+2X2,-X1+X2)
dim(Im(L)) s'dem(Ker(L) ) .2 Sime (b o L e S Qs
LSl
: Lin-Map
X=(X1,X2 ), Y= (y1,y2) € Rz , NER
L(x +y) = L((x1,x2) + (y1,¥2 )
L(X1 + Y1, Xo + Y2 )
(-2(X1 + Y1) + 2(X2 + Y2), -(X1 + Y1 )+X2 + ¥2)
(-2X1 -2 Y1+ 2X2 + 2YQ, X1 -Y1 + )+X2 + y2)
(-2X1 + 2X5 -2 Y1+ 2YQ, X1 +X2 - Y1 + Y4 )
(-2X1 + 2Xo , -Xq1 +Xo ) + ( -2 Y1+ 2YQ, -Yi1+ Y14 )
L(x1,x2 ) + L(y1,y2 ) = L(x) + L(y)
L( )\X) = L()\ (X1,X2 )) = L()\ X4, A Xo )
= (—2 A X1+ 2\ X3, -\ X1+ A Xz)
= A ((—2x3+ 2%y, X1 +X3) = A L(x)

: Ker(L)
Ker(l) = {x R |L(x) = 0}
—{ (%) ER | L((x1,%2)) = (0,0) }
—{ (X1 ) ER” | (-2x42%, %14%) = (0,0) }

(X% ) ER| x=x }=R(L1) C R’
3 S i Ghd s Ker(L) 2 osSs» 45a e ui=(1,1) exclBo s Ker(L) »
mﬁg_dquﬁﬂag&sw‘dqpqudjjﬁjuq@&}_dqu

s
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Ker(L) = <<u>> = dim(Ker(L)) = 1
: Im(L)

Im(L): = L(R") = {L(x)|x€R )
2
= (LD |xe)eRY
= { ('2X1+2X2,'X1+X2) | (X1,X2 ) eER }
= { (x+0)(21) | X1, % ER } = R(2,1) C R’
VoS i el g Im(L) 2 UsiSsn 488 savi=(2,1) sxxli o Im(L) 2
Aadii 4y (g2 ab Jiue a2 jhia 3 DA HIK v a2 KSR (6

S

Im(L)= <<v>> = dim(Im(L)) = 1

. . 3 .
SV B = (Vq,V2,V3) elogn Slad 58, (R, R )4:12.2 Jua
. 3 . .
sl Sl R 25258 J S dss s3Y 44 B = (Wq,W2,Wa)
= s o G = (€4,62,63) 4 (Canonical Basis )
3
Vi = (21010) y Vo = (11210) y V3 = (01111) € R
3
W1 = (1)1;0) , Wy = (01013) , W3 = (11012) € R
3
el = (11010) ’ eZ = (0)110) ’ e3 = (Ololl) € R
L:R° — R
(X1,X2,X3) — (X3, 2 X1 , X2 )
(1)
3 (lin-map) Sipe ba » L (a)
ol ) B AF(L) 55 sia 4hay e Sige bt L3 505 (b)
},25‘%‘:3 445 Lﬁqclé
cslo a8 Y50 (S (D) s oSyt A (L) 2 s)lse adb ()
sShw LSipe i 4o g
| (2)
seld B 5 B ki AP (L) oSaic 4o g ye Sine ok Lo 55058 ()
PBSTES
€314 0¥ se (S (i) e oSaie AR (L) 2 salse 4l (i)
s L S bl adag s
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(1)d
_}qﬁﬁﬁgﬁpjaﬁib (a)
(basis) el s 53 e3,5,e1 31 L(v3) L(v2),L(v)) ER? 24 A:(b)
155 B Gy ce2
3laq1,a21, asy, a12,a22,a32,a13,223,a33€ R ;
L(vi) = aiie1+ aziez + azies
L(v1) = a11(1,0,0) + a21(0, 1,0) + a31(0, 0,1) = (a11, az1, a31)
L(v1) =L((2,0,0)) =(0,40) = (ai1,az, az1) = (0,4,0)

L(v2) = arze1+ azzez + azzes
L(v2) = a12(1,0,0) + a22(0, 1,0) + a32(0, 0,1) = (a2, az, as2)
L(v2) =L((1,2,0)) = (0,2,2) = (a2, az, asz2) =(0,2,2)

L(v3) = aize1+ azzez + azzes
L(vs) = a13(1,0,0) + a23(0, 1,0) + a33(0, 0,1) = (a13, az3, as3)
L(V3) = L((Oa1 ’1)) = (1 50’1) = (a13 3 a23’ a33) = (1 50’1)

105 sie ada s e (S Al 4y
0 0 1
ABC(L):=<4 2 0)

0 2 1

0 0 1
AB(L): = <4 2 0)
0 2 1
X = (X1,X5,%3) € R 3
= Jla,aa3 €E R ;x=avi+avy+asvs [ eoclBvs, vy, vy 53]
= (X1,X2,X3) =a4(2,0,0) +a,(1,2,0)+a3(0,1,1)
=(2a; +a,, 2a; + a3, a3)

sl oSy gaY i (c)

ds = X3
X2—QaA X2—X
2ata3=X; = Ay = 22 2 = 22 >
-2 +
xX1—az 1~ X1—X2+Xx3
2a,+a,=x; = aq = S = 22 = "
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L(x) = L(ayvq + @V, + a3v3) = a;l(vq) + a5 L(v, ) +asL(vs)
s S G g L(ve) ,L(v2), L(vs) ER3P (2 4S8

3! a+1,821, a1, A12,A22, Az, A13,A23, Az3€E R ;
L(vi) = ai1€1 + @182 + asi€3
L(v{) = a;1(1,0,0) + a»1(0,1,0) + a31(0,0,1)
= (a11,a21, a31) = (0,4,0)
L(vo) = @12€1 + @202 + a30€3
L(V2) = a12(1 5050) + a22(051 50) + a32(05051)
= (a12,a22, a32) = (0,2,2)
L(vs) = ai3€1 + @222 + a33€3
L(V3) = a13(1 5050) + a23(051 50) + a33(05051)
= (a13,a23, a33) = (1,0,1)

L(X) = L( (X1,X2,X3) ) = aiL(v4) + azL(v2 ) + asL(vs)

= 22255 (0,4,0) + Z£2((0,2,2) ) + X3 (1,0,1)

= (0, 2x; — x5 + x3,0) +(0, x5 — x3, x5, — x3) +(X3,0, X3)
=(X3, le_xZ +x3+ xz—x3,x2—x3+X3)
=(X3,2X1, X2)

L:R — R
(X1,Xx2,x3) V— (X3,2X1 , X2 )

a(2)
iow Gl L (vs) L(vo),L(vi) € R3 s (i)
3! a 11,821, as1, A12,822, 32, A13,A23, A33€ R
L(v1) = @11W1+ @21W2 + az1Ws
L(V2) = @1oW1+ @2Wa + 830W3
L(Vs) = @13W1+ @23Wa + a3zW3

L(v4) = a41(1,1,0) + a21(0, 0,3) + az1(1, 0,2)
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= (a1, a11,0) + (0, 0, 3az1) + (as1, 0, 2a31)
= (@41 + a1, @11, 38+ 2331)
L(v4) = L((2,0,0)) = (0,4,0) = (a1 + as1, @11, 3821+ 2a31)

a11=4
aj1+ay=0 =az;=-a;1=-4
3321+ 2331=0 $3321= '2331= -2 ('4)=8:321=§

8
(@11, @21, @31) = (4, g,'4)

L(V2) = @12W1+ @2Wp + 83Ws
L(v2) = a12(1,1,0) + a2,(0, 0,3) + a3,(1, 0,2)
= (a1, a12,0) + (0, 0, 3ay,) + (a3, 0, 2a37)
= (a12 + a3y, a1y, 33+ 2a3,)
L(v2) = L((1,2,0)) = (0,2,2) = (a1, + a3z, @12, 330+ 2a3,)
a;p =2
apt+taxp =0 =a3=0-a,=-2
3a,+2a3=2 =33, =2-2a3=2-2(-2)=6=a,,=2
(212, @2, a32)=(2,2,-2)

L(v3) = @13W1+ @o3Wo + azsWs
L(v3) = a13(1,1,0) + a,3(0, 0,3) + as3(1, O, 2)
= (a3, @13,0) + (0, 0, 3ay3) + (a3, 0, 2a33)
= (ag3 + @33, a13, 33,3+ 2a3;3)
L(vs) = L((0,1,1)) = (1,0,1) = (213 + as3, @13, 3,3+ 2a33)
di3 = 0
a13+a33=1 $a33=1-313=1—0= 1
3az3+ 2333= 1 = 3az3= 1'2333 =1-2=-1 = dr3 = —§

(a1 , a3, ass) = (0, —é 1)

oS ada gy pe
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| 4 2 0
AZ:=(2 2 —
—4 -2 1
el 1 b S ie (i) da
| 4 2 0
AFQ:=( 2 2 -2
—4 -2 1

X = (X,X2,X3) € R 3
= Itag,aas €E R ;x=avy+ava +asvs [eaclivs, vy, vy 1y ]
= (X1,X2,X3) =a1(2,0,0) +a,(1,2,0)+a3(0,1,1)
=(2a; + @y, 23, + 33, @)

ds = X3
X2—Aa X2—X
282+33=X2$a2= 23— 2273
2 2
x xz—x3 2 "
X1—a 1~ X1—X X
2a;+a,=x; = a; = 122= 22 = 142 3

L(x) = L(a1vy + @V, + @3v3) = aiL(vy) + @, L(v, ) + @, L(v, )
o Sl L(vy) , L(v2 ), L(vs ) € R3 us
3! a 1,821, ast1, A12,822, 832, 13,823, A33€ R ;
L(V1) = @11W1+ @21W2 + az1Ws
= a11(1 51 50) + a21(05 053) + a31(1! 0!2)
(a1, a11,0) + (0, 0, 3az1) + (as1, 0, 2as+)
= (a11 + dszq, Ai1, 3as+ 2831) = (4-4, 4, 3. g +2(-4))
=(0,4,0)
L(V2) = @1oW1+ @ooWo + a3W3
= 312(1,1,0) + aZZ(Or Or3) + a32(1l 0,2)
= (212, a12,0) + (0, 0, 3a;3) + (a3y, 0, 2a3,)
= (a1 + a3y, a1z, 3ax+ 2a3y) = (2-2,2,3.2 +2(-2))
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=(0,2,2)
L(Va) = @13W1+ @23Wa + a33Ws3
=a13(1,1,0) + a,5(0, 0,3) + a33(1, O, 2)
= (a3, @13,0) + (0, O, 3a3) + (a3, 0, 2a33)
= (ay3 + as3, a3, 3a,3+ 2a33) = (0+1,0, 3.(- §)+2.1)
=(1,0,1)

X =a{Vqy + doVo + AzVs

L(x) = L(aivy + azv, + azvs) =asL(vq) + a2 L(v2 ) + aslL(va)
L((X15X25X3)) = %+w (Oa 450) + %(O ’ 25 2) + X3 (1 50 51)

=(0,2x; — x5, +x3,0) + (0, x; —x3 , X5 — X3 )
+ (x3,0, X3)

= (X3,2X%; — X3 + X3+ Xy — X3, X3 — X3+ X3) )

=(X3,2X1, X2)

L:R — R
(X1,X2,x3) V> (X3,2X1,X2 )

. ) ) 3 .
B = (Vi,Vo,V3) xliosn Slad 5,585 (R, R )4 12,1 Guua

< 3 * . £
seld culud R 2usd S dss Y 4 B = (Wq,Wp,W3)
= o G = (€4,62,€3) 4 (Canonical Basis )

Vi = (1r2) y V2 = (Or3) € Rz ) B:=(V1,V2)
W, = (11511) y Wo = (019r1) y W3 = (3I_3I1) € Rg ’ ?= (W1’W2’W3)

L:R° — R
(X1,X2) — (X1, 2X1, X2 )
(1)
w3 0xclion 558, cbad (RT R ) 2B oa G S <sd (a)
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3 A 3 > :
ada&ﬁcﬁ);ﬁjgu(ﬂg ,]R) JB@LSJS“L’}’:’ (b)

(2)
52 (lin-map) Sige ba 2 L 2 s S osf(a)
s RlwaiB 5l B i AP(L) osoyie adasi e Sine i [y (b))
ceosoa oY S(b) e oS AF(L) 2 (c)
G Sy L S a4k s

o2 .
st (S abay S5 slad (R7, R ) 2 ise 12,2 Gna

Vi =(2,0,0), Vo= (1,2,0), vs = (0,1,1) ER’

3 3
L:R — R
(X1,X2,X3) — (X3, 2 X1 , X2 )

2 R el o 4555 Vg,V Vg 2 o 58 s (1)

2 Isomorphism s L W (2)

2w Im(L) s ker(L)\w «ss lin-map ssL4s (3)
bﬁ(.\h‘uj‘)}rlsj L(VS), L(Vg), L(V1) Jgﬁ&JSQ}“ Sk R4 (4)
0d ]R3 Jdoxcld

(s JSI) 4 )58 g (Slad 5 )5S (]R3, R ) 4 :12.3 ¢

vi=(1,0,0), Vo= (2,0,1), Vs = (0,2,1) E R’ , Bi= (Vy,Vz,V5)
wi = (1,1,0), Wo = (0,0,2) , Wy = (0,1,2) E R’ , B:= (wy,wa,ws)
L:R — R
(X1,X2,X3) = (X3, 2 Xy, X2 )

3 , .
¢ R 2 (basis) gxclEB 5 B o> S D
Nl seld B ool B ki 15 yieada g e Kdue i | o

(
(
- (
s S AF (L) <ilis i (a

¢ S rank oS sie AB (L) 2 (b)
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@ J5E 4k asSas AT (L) 2 ()

S aly (S e gay Guli awal 7.1 3, s adb 1123 Jha
D ssh S (Sl 05 (R?, R) 44350585 g2 050
Wq= (2,3),W2= (1 ,2) € R?

Jsacld 6 53 Vo= (—1,2) 5\ v = (1,1)@&_\_&}}‘\‘;(_)& 5.1 473(1 )

35 0 B 4 ise 4ia 03 (R?,R)
S o geal A aiVaad Bl | K bl 5l (@)

LR — R ,Lv)=w (i=1,2)
s S a Boki AD (L) oSasieabn e L2 s (b)
s Sl 4 Bk Sipe Jhd abin e AP (L) 2501 ()
15250 oy gaal A (G20 AT (gac 8 uliad phat | Sine (ad o992 (2)
RS — R ,Le)=w (i=12)
Ja (1)
(a)
R? =K vy, v, >
X=(X;,X;) ERZ = I, A, ER ;x=Avi+A,Vv,
D dulgge (S JUa dra 4
X2+2x1
3

X2—Xq
3

A = A, =

L(X) =AWy + A,W>

= "2;2"1 W4 2y, 2 22EE o gy Kot (g o

_ (2.(x2+2x1) 3.(xp+2x1) ) + (XZ—Xl

2.(X2—Xq) )
3 ! 3 3

’ 3

(2x2+4x1+ X2 —X1 3x2+6x1+ 2xp —2xq1 )
3 ’ 3
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_3(x2+x1) 5x2+4x1)
-3 7 3

4x1+5x2 )

=(x1+x21 3

1 ) JSS Y L (S Aaii 4y

L:R° — R
(X1, X2 ) — (%1 + x5, )
.2 (L- Map) e b w L S Dl 58 el
R=(ryr2),s=(s1s2) € ]RZ ANER

4X1+5xZ

4-(T1+ S1 )+5(T2+SZ )

L(r+s) = L(ri+s1, r2+s2) = (ri+s1 + rz+sz, )
= (r1+rz, 4r1+5r2 )) + (s1+ s2 4Sl+552 )) — L r) +1L(s)
L(Ar) = L(Ary, Ar2) = (/11‘1 + Arz, M)
= (A(r1+rz2), M) = A((r1 + 12), 4T1+5r2)
= AL(r)

3 (L-Map ) Saipe cha oL (Saaiia
$S Bxal(vy) =wo sl L(Vi) = Wy o3 o5 sl A Gul

4+5

L(vi) =L((1,1)) =1+ 1,— )=(23)=
L(vz) = L((-1,2) = (1 +2, & )=(1,2)=
s o L S 308 ()
o 02 Rz Joxe 86 o Vs,V EIRTE L(v,),L(v)) € Rz = a5 A
3l a,a,a,an€ R
L(vy) =a;vi+ ay vz, L(vy) = appvi+ anv,
L(vi) = au(1,1) + a21(-1,2) = (a1, a11) + (-az1, 2az1)
= (a11-az1, ann+ 2az)
(e sl A Sipe ha [ o)A Al
L(vi)=wy =(2,3)
O
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L(v1) = (2,3) == = (a11-az, ann+ 2az)
=an-az1=2 A an+2ax1=3

= -3a21=2-3 =-1= ax = §
= an=2+axn=2 +§= %
= (aiy, az1) = (g, g)
L(v2) = a1zvi+ azvz
= a12(1,1) + a22(-1,2) = (a2, a12) + (-a22,2az22)
= (aiz - azz2, aiz+ 2az)
(e A pal A Sie e | 2 1sa LA

L(va)=w2 =(1,2)
NS

L(v2) = (1, 2) = (a12 - az2, a1+ 2a2)
S ap-as=1 A app+2ayn= 2
= -3a»n. 1-2=-1 = agg=§

4
= app=T+ax=1+ =3

Wk

1

4
= (@12, A22) = (5, 5)

JSd Y G eacE B Hhai (1S yie ada gy pe Siipe Lo Saaig
A

e
W
—

—
N—

Il
Wi ws

5510 40y L Sine Jad abag e S 5 AF (L) 24 ida(€)
R? =K vy, v, >
X=(X1,X2)€R2 = 3)\1,)\2 ER ;X=)\1V1+)\2V2

= L(X) = L(X) = L(A Vi +A,V2) =A,L(vy) + AL (Vo)
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_(a11 a12)
dz1  Qz2

e
W
—

—
N—

Il
Wik wla

oo R 30Bos va,vy ol G L(va)L(v) € R o3 45554

3! a,a,a12,82€ R ;
L(vi) = ajvi+ ayva, L(v2) = apvi+ anv,
L(vi) = a11(1,1) + a21(-1,2) = (a1, a11) + (-az1, 2a21)

= (a11-az1, ann+ 2az1) = (g — §,§+ 2) =(2,3) =w1
L(v2) = a2(1,1) + a22(-1,2) = (a1z, a12) + (-az2, 2a22)

= (a1z-azz, anz+ 2axn) = (g - §,§+ g) =(1,2) =w

> dulse S (a) 4

X2—Xq1
3

_ x2+2x1 _

L(x) =24 1L(v1) + A ;L(v5)
= 22 (2,3)+ 222 (1,2)

2x2+4x1 3x2+6x1) n (XZ X1 2Xp— 2x1)

= 3 3 7 3

_ 2x2+4x1 X,—X1 3Xx2+6xq 2Xp—2X1y _ 3(X2+X3) 4X1+5X;

- ( + ) + ) - ( ’

3 5; 3 3 3 3
4X1+ X2
= (Xl + X2, )
(S Al 4
2 2

L:R — R

4x,+5x
(X1,X2 ) — (%1 + x3, 13 %)

@aY oacld i) (S Ld (5 ) 585 (R?, R) 43 (o> s 525 10> (2)
HED JB-N

€= (1 ,0) , 0= (0,1)

R? = <<e;,e,>>

X=(X1,X2)ER2 :3)\1,)\2 e R ;X=)\1€1+)\262
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(x1,Xz) = (44,0) +(0,1;) = (44,1;)
e xl = Al N xz = Az
L(X) = AWy + AW = X1 Wy + X2 .Wao = X1(2,3) + Xo(1,2)
=(2X1,3X1)+(X2,2X2)
= (2 X1+ Xo 3 X1 +2 X2)
I L
L(e4)
L(e2)

L((1,0))
L((0,1))

(2+0, 3 +0) = (2,3) = w;4
(0+1,0+2)=(1,2) =w»

é}&&deﬁamGGﬂu\)ﬁLMé&w

2 2
L:R — R
(X1,X2) ¥ (2 X4+ X2, 3 X1 +2 X2)

o (SR 4 585 sl (R?, R) 248 fise 1124 Gaal
wy =(2,3,1), w,=(1,2,1) ,ws=(1,1,1) € R3
vi= (2,0,0),v>= (3,0,1), v5= (0,2,1) € R3
(1)
(592> R3 5 (basis) eosls ogy aig,5:5s V3 5l Vo, Vg 2 (o> S s (@)
R3 = << vy,vy,v3>>
G334 B = (vy,vp,v3) oL Shane hd s Aedd (k8715 (b)
1 Sl e e sl A
LR — R ,Lw)=w (i=1,2,3)
G Swa Bk AB (L) oSusieabsinla (C)
5800 o s gaaal g3 523V 43 (208 i yhai | Siige s (2)

LR — R ,Le)=w (i=1,2,3)

s (R*, R) 2 isomorphism s S Jbe g2 435 ))& 112.4 Jla

S8 e 55885 sbad M(2X2, R )
T3 sy pise 1A

4
R = << €1,6s, €3, 8,>> N\ M(2x2, R)=<< E{ ,E,E}, E(>>
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163 A sa o pugeal 2 (XYW | Sine A s Aedl md 701 0

L:R° — M2x2R),L(e) =E (i=1,2,3,4)
X = (Xq1,X2,X3,X4) € R*

= 3)\1,)\2,)\3,)\4 ER ;X=)\1€1 +)\2e2+)\3es++)\4e4

— x1=/11/\ x2=/12/\ x3=/13/\ x4=/14
L(X) = L()\ 1e1 + )\ 262 + )\ 363 + + )\ 464)
= )\ 1L(e1) + )\ ZL(eg) + )\ 3L(e3) + + )\4L(e4)

(L0 e (8 DY (0 9wk (09
(a1 w)

dddj.}cﬁd}y‘\ﬁL&;\:\A#w

L:R" —  M(2x2,R)
B X1 X3
X=(X1,X2,X3, X4) > ( X3 X4 )

:L injective
X= (X1;X2:X3;X4);YX= (3}’(1;3’2:}’3;3’;) eyR4
1 2\ _ 1 2
L) =Lly) = (Xs X4) B (Y3 Y4)
= Xx=Yy = L injective

:L surjective
DIm(R") = 4 = dim(M(2x2, R)
L injective = L surjective [ <4 =8 7.3 3]

L)

A= ( : 3) € M(2x2,R) , x:=( x1,X2,X3, X4) = (a,b,c,d)
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L(9) = L(@b,ed) = (2 3) — L surjective

.Y isomorphism s L S4aaia

439585 W5 , Wy, W3, Wp, Wy o> odbad 5,585 (W, R ) 112.5 (ol

C 5 .
(2 Sina ha surjective 2 L: R — W 5l sy oxclion o
.82 a8 injective o L (o> S ©i

bl DB (0 jeabasi e LA 5l L€ End(R? ) 45 :12.5 J&a
‘g5 Js XY 4 4 (standard Basis) =\
5 -8

A= (—1 3)
S 45 S e A Sl L S Slas (1)
¢ oS (eigenvalues) 4 sied aadia L 2 (12)
I (eigenvectors ) 45,5585 daddn 4has je siad dadia (3)

GS (2 Ualalgl s S

2 (s 528 s kE 2 ) diagonalizable S sie A 3 2 s S ©si(4)

> (1)

X=(X1,X2) ER?
L(x) = L(x;,X2) = Ax = ( ; _8) ' <x1>

_1 3 x2
_ ( 5x1 - 8x2 )
- —x1 + 3x2

= (5x1 — 8%y, -X1+ 3x, )
d&ﬁg&‘ﬁ«jamlﬁwu\)ﬁgﬁﬁauhs&ﬁf&&uhAaémﬁg
DA
L:R? - R?
(X1,X2)'—>(5X1—8X2, 'X1+3X2 )

1 (2)
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A-tE, = (5_‘1t S‘Et)

pL(t) = det(A-t.Ez) =‘ -t -8 ‘

~1  3-—¢
=(5-1).3-t)-8

pt)= t?=8t+7 =(t—-7)".(t-1)'=0
=>t=7,t=1
(S igiad Aaddia L 27 5
‘= .2 1 (‘algebraic multiplicity ) @ dals ol ty, sl g; 2
p(PL7) = u(P,1) =1

‘;JJLM 1Y o )Ll 6l sShay (eigenvectors ) s, 58 5 4adia Ja (3)
S da
(A—1E)(x) =0

(A= (P25 2. =())
ty =7

(a-7E0= ("7 2.0 =)

= -2X1—8X2 =0 A -X1—4X2=0 = X1=-4X2

Xog=mM (MER ) 45 .55 d> 5wl Valaa B )5y (o3 44
eigenspace b syl (53585 4eadiin gy Vi= (-4mM,m) L ¢S g
A IS Y (o

Eig(L,7) = {(-<4mm) | mME R } = {(m(-4,1) | m€E R}
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O5Ssdadde nsl S Xy =4 WlipasXo=-1 S dien
G U= (4,-1) 4 Qi dhadiic fy= 7 Gl
Aol v 5 daddio gl A Gl diadin s A dd Ciy el 1l
S5 3xa L(V) = Av

L(v{) = L(-4m,m) = (5(-4m) — 8m, 4m + 3m ) = (-28m, 7m)

=7.(-4m,m) = t;.v;
2 dim(Eig(L,7)) = 1 Uy .02 5iSs sbmd Big(L,7) 2exclogn (-4,1)
3 1 sAadd (el (i duala owaia) geometric multiplicity o
tz2 =1

(-1 = (750 7)) = (o)
- (5 2DG)=6)
= (% 20)=0)

= 4x;-8x, =0 A -x1+2x,=0 = x;=2x,

Xo=m (MER ) 48 sl da sinl  gValaa i) g (2 44
2 eigenspace 4b s sl 53585 aadia g Vo= (2M,m) L ¢ g
@jd&igd&y

Eig(L,1)={2mm) [ mE R } = {(m(2,1) | mE R}
OFSyaadin agl g S X =2 WelipagXy =148 Jeaadian
V= (2,1) 4 G dadidia to= 1 Qo
:Ja(4)
Ll 5.3 2 Gy o0 Jiise b (SR 4 4is,5585 Vol U oie 4l Lad 9.2 5

2
R =<<U,v>> 158 S Aadl
(s xS ki 3) diagonalizable e« Ae M(n xn,K) s
2STAS 26595252 S EGLIN, K) oS s @ 4S (2
= U5 yie diagonal
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4adia Vo5l U 2 (column) it o (o5 cpad Jga o 0sSe e S 2 aS
D s A0S
s=(* %) .dets)=41-(21)=6

_ 6D

=(0 81)

A e Al Gy i G 60 0Sosie JU R 5 STALS S J

.2 Diagonalizable S s«

gl JSS Y J3 (esee @i aadiaty ol ty 2 duly pise
Vi=(-4mm) , Vo= (2m,m) (m€ R)

¢85 Vv=(-2,-1) su=(4,-1) kA pasm=-14

S=(_41 :21) . det(S)=-6
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542 _8_¢
_| s 6 6 6 (4 —2)
_h4r 81211 -1
6 6 6 6
7 14
_ 6 6 4 =2
[ "(—1 —1)
6 6

(o 1)

o pabic ok o) 60 S e S s a W STAS o S Jul
s> Diagonalizable oScyie A Gy .0 4isiad 4adia
(s i JS) ) 089 e YN 12,6 (el
1 2 0
A= ( 0 3 0)
2 —4 2

S Sl 4ol ula) Hlai S had | dbhpn w pSa e A (1)
g2 oS (eigenvalues) 4siad dadide WSO A (12)

¢S o (algebraic multiplicity) s duals 5 2l (13)

¢ a5 (eigenvectors) 4is) 58y aadde 1S i A2 (4)

s Sl o eigenspace +hn x (5)

¢S o (geometric multiplicity) « s Jala owdia (6)

A2 4'.1,5_))35\7!} il bia V3 ,Vo ,Vq }\ “-’J:‘A-é dnd lia t3 ,tg ,t1 48 ( 7 )
1658 Ba adal ) iV o 6 S Qs (g5 S e

A.Vi =1.v ( i= 1,2,3 )
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Jufs 5 STAS s det(S) #0 s Sw s ie S 5 (8)
43X (eigenvalues) 4 siad aasia A 2 3L Hhi D 2 55D s i
S 6 JSs

:12.6 Jba
vi=(1,1,0),v2=(2,2,3)€ (R, II)
W:= span(vi,vz )
saWaexelion vp, Vi o5 Gt b . W=<<v,ve>> (1)
xS edliiul 43X & )l A gram-schmidt 2o )W d= (b) 5 (@) (2)
5 oladel Al o) (5 ) JSG 4X orthogonalbasis 4k« vz cvi 2 (@)
52510 43 Y orthonormalbasis ks x vy c vi 2 (b)
PR Sl da (1)
J= (2)
2 orthonormalbasis ' orthogonalbasis 2> gram-schmidt
123 J g9 Y 49 4l yh ol Slay
(a)
ui:=vi = (1,1,0)
Uz: = V3 = Projy (V2) = Vs - SR
<(1,1,0),(2,2,3)>
=(2,2,3)- <(1,1,0) (1,1,0) > (1,1,0)

=(2,2,3) - 22249 (1,1,0) = (2,2,3) - g (1,1,0)

1.1+1.1

=(2,2,3)+ (—-2,-2,0)= (0,0,3)
<u;,u,>=<(1,1,0),(0,0,3)>=1.0+1.0+3.0=0
= uq, U, orthogonal

03 WaexlBonu, sl up (o o5 Sg 2l ()
X=(x1,%X2,x3) EW= span(vy,v2)
=>EI)\1,)\2 eER ;x=)\1v1 + A yVo
= (X1,X2,X3) = )\1(1 ,1,0) + A ,(2,2,3)
=(\,A,0) + (2)\2,2 A, 3)\2)

1°°1°
= ()\1 + 2)\2,)\1 + 2)\2, 3)\2)
= X4 =X2=)\1+2)\2 ,X3=3)\2

a, € R; X =aquq + asus
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(x1,x2,x3) = a¢(11,0) + a»(0,0,3) = (a4, a;,0) + (0,0,3a,)
= ((a1, a1, 3ap)

ai = X4 =X2=()\1+2)\2),ag=3)\2

= W = span(u,uz ) = < uguz>

ASA (50 pb JEa Ay o) ug
Mi,M2 ER Uy +p,U2=0
= p,(1,1,0) + 1,(0,0,3) = (0,0,0) = (u, , H,,3u,) = (0,0,0)

= IJl = “2 =0
. ¢ (orthogonalbasis) o US55 W au, 5l uy S 4l
(b)
Wi _
W= (1_12)
Y g ||(110) i 57
_ Uz __
W2 Iqu II ||(003) I (0,0,3) .(0,0,3)

= 5. (0,0,3)=(0,0,1)

<Wjp,Wp> = <(\/_ \/_,0) (0,01))>0+0+0=0

.2 orthogonal s« Jisa 45,585 w, 3 Wi o> S Jul
4SA g2 a4 orthonormal 45,5585 w, 5 wy

lwill =1l (5,7, 0) ||—\/(é)2 + (%)2+ 0 =Vi=1

Iw2ll=10001)II=vl =1

WZJ‘Wlu‘:’:."JW3°3°G)£WZJ‘W1@55L5\¥SQJQSD)&@L»\A€
s> orthonormalbasis s 45,5
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12.7 s
vi=(1,2,1),v2=(113),v3=(2,1,1)€ (R3, 1 II)
Qoo V3, V2, V1 @S Qo G, W=<<vy,v,v3>> (1)
0 W
Sy ealiiul 44X 4 Hha 4l gram-schmidt 2o s (b) 5l (@) (2)
Al s A IS5 42 orthogonalbasis b w « v, vz, vi2(a)
gi Oladial
$9) 45 Y orthonormalbasis ks »« vs, v2 < vi2(b)
:12.7 Jua
V={f:R - R | f(x)=a+ bextce?* (ab,c€ R)}
sl gy 2 {1,8°,6% ) 4a ol 558505 (V, R) ode Al JEa 4.1 2
4\5\; -
(oL Sals s s i Jha {105 @) 258 Y S fev » sl

V=<ie",e2>
@ Jiiue Jha {1,8° 0%} 4358 @sd g A Wronski 25 s s

fi(X): =1, fo(X): = €, f5(x): = e
i) dSb 1Y Sa yie (Wronski) (Seuis g 2

f1(x) fz(x) fs(x)
Wi =| £ £ £ @
fi @) f2 &) fz )

1 ex e2X
= (0 eX 2e2x>
0 eX 4e*¥

det(W(f1,£2,3)(x)) = 1.(e*.4e* — e*.2e*
= 4e3X —2e3¥ =2e3X 20 ( Vx€ER)
= {1,e*, e} lin-indep (Jiius i) [ Aedl i 11.3]

[ Al 4
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V=<<1,ee*>> A dmV=3
112.8 (Al
V={fiR - R | f(x)=a+bx+cx2+dx3+ex* (ab,cd,e€ R)}

.ooLb.éLS)j.’;f5o% (V,R) ‘*ALE‘,QSU—’}‘-’ (1)
51 (V) R) 202eboy (2)
sy dimV (3)

:12.9 G
V={f:R - R | f(x)= aem™+be™ (a,b€ R,mn € N)}

st (S oy Ll (5,555 (V, R)) 2 e

f(x)=e™ | f(x)=€" eV (MneN)
f1(X) sl siad sas€ N s) M 2 as g S asba Ae Al S0 jie wronski 2
.2 (lin-indep) Jituw s fo(X)

mx
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(Symbols) 458! gpram

NO = NU {0} Cew golael b o N
Z*:=17 \ {0} N G TS/
Q = Q\ {0} G gl BLy Q
R =R\ {0} Cus sdlael Gida s R

by i 3 G galae) s Cufie 3 RY
aypqqu\m\égé;&q R(_)

*

C:= C\ {0} G galae) Lalide gl w0y C
(Field) 4abs K
S A A:
é\)ﬁwyodu\b.l&&.)u\a K] aﬁb
SHad Y a4aipaglbh4sl il go a &b
G G Ja A A=0Q
GY Cun B s A A+Q
el (S A4 a2l L A G 3 paic ga acA
o el (S Ada byl paic Adg agA
Gy dald (S Cuwday Ad aella e Va€E A
(conjuction) and A

sl b 2l o8l g2 aA b Js4aJdia
(disjunction) or \%

sl b 2L saldl g 2 aVv b iJ e 4 Jlen
(union) a3l g giuw 3 U
(intersection) abl& ¢ g o N
<2 B 2 (subset) Cuww = B A AcCB
6 B sl gl B2 (subset) S e B A ACB
{acA | a¢B } A\ B
G390 (S Cuw A paic by dbeA
AU I (S AL paic b Ab e A

G250 (S CuwaAdb s (Al dadd J1beA
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sb=ios ( Span Ly system generating) ¥ <., >
0585
U585 slad 3 (Basis) exl <<, ...,>>
¢ (colmns) & n ¢ (rows) S m osSayw tAeM(n xm,K)
éq@quq@ﬁu}\

¢ (colmns) s n ¢ (rows) Sdn oS sie o« A€ M(n, K)
G A A K 2 o palic )

S 5els BB B St abye Sipe kil A
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&) jlualal
(linear combination) <S5 i lin-comb
(linearly dependent ) 4iw 15 ha lin-dep
(linearly independent ) Jeiwe s lin-indep
(linear mapping ) S ha lin-map
Kine ha L2 (image) g Im(L)
Sine b Lo (kernel)  4iua Ker(L)
geometric multiplicity geom — mult
algebraic multiplicity algeb — mult
S e (o2 e N EQ
S ie s 2 e N En
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Greek Letters

(o s )

Uppercase lowercase
(<~ s (<o isS)

epsilon e epsilon variant
zeta
eta
theta
iota
kappsa
lambda
mu
nu
Xi
onmicron
pi
rho
sigma
tau
upsilon
phi
chi
psi
omega

9 theta variant

o rho vaiant
¢ sigma variant

¢ phi variant

DEXGRAMTOONZZE> R "I NTD 1w >
EERT e AT NE o A m = A
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NG . iy A J) gsla
3

3 e Al dgiliege 0 e () S 4 silaiege o (sl s El 2 4s
Caanlaall a3 a9l Jald (S A e Adia 4y baw ald S ddlig )5 sae 8
3 A0 g il 3 QIS 036l 53 020y (S pdd (0 Al GA Al g )5 (oo g B2
et DSy S8 ale 4y (S il 4y (oaly ) 3 4l iy )5 00
dcdga JAa glall o ) Ads g el 3 G5 g JiS 0 (S Gl g A 4
252 30 Cual g8 7ie 5 Rheinischen Friedrich Wilhelms Univesity
3 S AR 4y okl a0 sl sd JS)) e se Adle Gl (52eh 4y o

SRS (oo i )5 sl sl (5 el (e aila o Y g 45 lall o )L 5 S0 5554

2 sh) A (S5 g (T4 e Bonn o (S AR 4 ol 0

3 e Sl ) (S a4y il 2 e 0w 2014 52009 -
23S S pall yealaa 5l el ad
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Inhomogen Linear Equations 27
Invariant 135

Kernel of linear Mapping 118
Linearly dependent 74

Linear Independent 75

Linear combination 73

Mapping

automorphism 111

bijective Mapping 8

definition of a Mapping ( or Function )
combination of Mapping 10
endomorphism 111

epimorphism 111

homomorphism 111

image of a Mapping 7

injective Mapping 8

inverse function 11

isomorphism 111

linear Mapping 111

linear transformation 111
mappings combination 10
mappings composition 10
monomorphism 111

range of a Mapping 7
surjective Mapping 8
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adjiont matrix 151
adjugate matrix 57
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cofactor of Matrix 57
complex conjugate Matrix
defination of Matrix 34
determinant of Matrix 52
diagonal Matrix 167
diagonalizable Matrix 167
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hermitian Matrix 151
inverse Matrix 39
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invertible Matrix 39

jacobian matrix 152

minor of Matrix 57

negative definite Matrix 150
negative semidefinite Matrix 150
nonsingular Matrix 39

positive definite Matrix 150
positive semidefinite Matrix 150
row echelon form of Matrix 45

self adjiont matrix 152
singular Matrix 39
similar Matrix 167
symmetric Matrix 50
transpose matrix 49
unity Matrix 38
Norm 171
Orthogonal 173
Orthonormal 173
Orthonormalsystem 173
Orthogonalsystem 173
Parameterize Solution 24
Rank
rank for linear Mapping 126
rank for Matrix 93
Relation
definition of Relation 19
equivalence Relation 19
Ring
definition of Ring 18
commutative Ring 19
unity of Ring 19
scalar product 169
Semi-bilinear
definition of Semi-bilinear 177
hermitian Semi-bilinear 177
positive definite Semi-bilinear 177
Set
definition of Sets 2
cardinality of a Set 2
domain Set 7
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codomain Set 7
complement of Sets 5
direct product of Sets 15
cartesian product 15
elements of a Set 2
finite set 3

infinite Set 3
intersection of Sets 4
power set 6

proper Subset 3

relative Complement of Sets 5
subset 2

union of sets 4

Solution of linear equations 24
Sum of Subspaces 101

System of Linear Equations 21
Vectorproduct 174

Vector space

basis of a Vector space 82

canonical or standard Basis 83
definition of Vector space 67
dimension of a Vector space 87
euclidean space 170

generating system in a Vector space 82
invariant subspace of a Vector space
metric space 172

normed vector space 172

span ( or generating ) of a Vector space 73
subspace of a Vector space 69

unitary vector space 177

Wronskian Matrix 231
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Publishing Textbooks

Honorable lecturers and dear students!

The lack of quality textbooks in the universities of Afghanistan is a
serious issue, which is repeatedly challenging students and teachers
alike. To tackle this issue, we have initiated the process of providing
textbooks to the students of medicine. For this reason, we have
published 200 different medical and non-medical textbooks of
Engineering, Science, Economics and Agriculture (96 medical books
funded by German Academic Exchange Service, 80 medical with 20
non-medical books funded by German Aid for Afghan Children and 4
non-medical books funded by German-Afghan University Society)
from Nangarhar, Khost, Kandahar, Herat, Balkh, Kapisa, Kabul and
Kabul Medical universities. It should be mentioned that all these
books have been distributed among the medical and non-medical
colleges of the country for free. All the published textbooks can be
downloaded from www.ecampus-afghanistan.org.

The Afghan National Higher Education Strategy (2010-2014) states:
“Funds will be made available to encourage the writing and publication of
textbooks in Dari and Pashto. Especially in priority areas, to improve the quality
of teaching and learning and give students access to state—of-the—art
information. In the meantime, translation of English language textbooks and
Jjournals into Dari and Pashto is a major challenge for curriculum reform.
Without this facility it would not be possible for university students and faculty to
access modern developments as knowledge in all disciplines accumulates at a
rapid and exponential pace, in particular this is a huge obstacle for establishing a
research culture. The Ministry of Higher Education together with the universities
will examine strategies to overcome this deficit.”

The book you are holding in your hands is a sample of a printed
textbook. We would like to continue this project and to end the
method of manual notes and papers. Based on the request of higher
education institutions, there is the need to publish about 100 different
textbooks each year.



I would like to ask all the lecturers to write new textbooks,
translate or revise their lecture notes or written books and share
them with us to be published. We will ensure quality
composition, printing and distribution to the Afghan universities
free of charge. I would like the students to encourage and assist
their lecturers in this regard. We welcome any recommendations
and suggestions for improvement.

It is worth mentioning that the authors and publishers tried to prepare
the books according to the international standards, but if there is any
problem in the book, we kindly request the readers to send their
comments to us or the authors in order to be corrected for future
revised editions.

We are very thankful to German-Afghan University Society (DAUG)
that has provided fund for four books including this one.

I am especially grateful to GIZ (German Society for International
Cooperation) and CIM (Centre for International Migration &
Development) for providing working opportunities for me during the
past five years in Afghanistan.

In our ministry, I would like to cordially thank Minister of Higher
Education Prof Dr Farida Momand, Academic Deputy Minister Prof M
Osman Babury and Deputy Minister for Administrative & Financial
Affairs Prof Dr Gul Hassan Walizai, and lecturers for their continuous
cooperation and support for this project.

I'am also thankful to all those lecturers who encouraged us and gave
us all these books to be published and distributed all over
Afghanistan. Finally I would like to express my appreciation for the
efforts of my colleagues Hekmatullah Aziz, Ahmad Fahim Habibi and
Fazel Rahim in the office for publishing books.

Dr Yahya Wardak

CIM-Expert & Advisor at the Ministry of Higher Education
Kabul/Afghanistan, January, 2016

Office: 0756014640

Email: textbooks@afghanic.org



Message from the Ministry of Higher Education

In history, books have played a very important role
in gaining, keeping and spreading knowledge and
science, and they are the fundamental units of
educational curriculum which can also play an
effective role in improving the quality of higher education.
Therefore, keeping in mind the needs of the society and today’s
requirements and based on educational standards, new learning
materials and textbooks should be provided and published for the
students.

I appreciate the efforts of the lecturers and authors, and I am very
thankful to those who have worked for many years and have
written or translated textbooks in their fields. They have offered
their national duty, and they have motivated the motor of
improvement.

I also warmly welcome more lecturers to prepare and publish
textbooks in their respective fields; so that, after publication, they
should be distributed among the students to take full advantage of
them. This will be a good step in the improvement of the quality of
higher education and educational process.

The Ministry of Higher Education has the responsibility to make
available new and standard learning materials in different fields in
order to better educate our students.

Finally I am very grateful to the German-Afghan University Society
(DAUG) and our colleague Dr. Yahya Wardak that have provided
opportunities for publishing textbooks of our lecturers and
authors.

I am hopeful that this project should be continued and increased
in order to have at least one standard textbook for each subject, in
the near future.

Sincerely,
Prof. Dr. Farida Momand
Minister of Higher Education
Kabul, 2016

Aghalibrary.com
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